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1 EQUATIONS AND GRAPHS

1.1 THE COORDINATE PLANE

1. The point that is 2 units to the left of the y-axis and 4 units above the x-axis has coordinates (—2, 4).

2. If x is positive and y is negative, then the point (x, y) is in Quadrant V.

3. The distance between the points (a, b) and (c, d) is \/(c —a)? + (d — b)2. So the distance between (1, 2) and (7, 10) is
JT =124+ (10-2?2 = /67 + 82 = 36+ 64 = /100 = 10.

a+c b+d

4. The point midway between (a, b) and (c, d) is ( B,

1+7 2+10 8 12
(52.259) - (2) o

5 A(5,1),B(1,2),C(-2,6), D(-6,2), E(—4,-1), F(-2,0),G (—1,-3), H (2, —2)

). So the point midway between (1, 2) and (7, 10) is

6. Points A and B lie in Quadrant 1 and points E and G lie in Quadrant 3.

7. (0,5), (=1, 0), (=1, —2), and (% %) 8. (=5,0), (2,0), (2.6, —1.3), and (2.5, —3.5)
y
(0, 5)
1,0 H¢(1/2,2/3)
* 1 X
(-1,-2)
9. {(x,y) I x = 2} 10.{(x,y) 1y =2}
y y
5 5
“““ o [~ s x S o T sy

57



58 CHAPTER 1 Equations and Graphs

11. {(x,y) | x = —4} 12.{(x,y) |y <3}

13 {(x,y) | -3 <x <3} 14.{(x,y)|0<y <2}

I | |

(=)
W
=

15. {(x,y) | xy < 0}

={(X,y)|x <0andy >0o0rx >0andy < 0}
¥

16.{(x,y) [ xy > 0}
={(X,y)|x <0andy <Oorx >0andy > 0}
¥

17. {(x,y) | x > 1land y < 3} 18.{(x,y) | x <2andy > 1}
y

l

=




SECTION 1.1 The Coordinate Plane

19. {(x,y)|-1l<x<land —2 <y <2}

y y

—
L

20.{(x,y) | -3<x<3and —1<y<1}

]
[T ]

21. The two points are (0, 2) and (3, 0).
(8 d=/B—02+0—(-2)2=V¥+22 = /§F+4=v3

o (3+0 04+2) 3
(b) midpoint: (T T) = (?, 1)

22. The two points are (—2, —1) and (2, 2).
(@ d=/(—2-22+(-1-2) = /(-2 + (-3)2 = VI6F 9 = V55 =5

oo (=242 142 1
(b) midpoint: ( , —) = (0, 7)

2 2
23. The two points are (-3, 3) and (5, —3).
(8) d=/(-3-52 + 3= (~3))2 = /(-8)2 + 62 = /BT 36 = +/100 = 10

(b) midpoint: (_3; 5, 3F 5_3)) =(1,0)

24. The two points are (—2, —3) and (4, —1).
(@) d = /(2= 4% + (=3 — (~1))% = /(=6)2 + (~2)2 = V36 F & = /50 = 2/10

(b) midpoint: (_2+4 3+ (_1)) —(1,-2)

2 2
25. (a) y 26. (a) y
(—2,5)e
(6,16)@
1 (10, 0)
(0, 8) x
2
1 X
(b) d =/(0—6)2 + (8 — 16)2 (b) d = /(-2 - 1012 + (5 — 02
(=6)2 + (—8)2 = V100 = 10 =./(-12)2 + (5)2 = V169 = 13
oo (0+6 8+16) oo (=2410 540 5
(c) Midpoint: (T T) =(3,12) (c) Midpoint: ( T (4, 2)

59



60 CHAPTER 1 Equations and Graphs
27. (a) ¥y

.
(=4.5)

(372

(b) d = /(3= (—4)% + (—2 —5)2

=72+ (-7? = /A9 +49 =B =72

(c) Midpoint: (_4+3, E) - (_% )

Nl

2 2

29. (a) y

6,-2),

(b) d = /(6 — (=6))2 + (—2 — 2)2 = /122 4 (—4)?
_ JTTT6 = V160 = 4410

(c) Midpoint: (% —2+ 2) =(0,0)

2

28. (a) y

®(-6,-3)

(b) d = /(-1 — (=6))2 + (1 — (=3))?

=52+ 42 = /41
oo (=61 =3+1\ 4
(© Mldpomt.( 7T )_( 55 1)
30. (a) y
1 (5,0)
1 * X
0.=6)¢

() d =/(0—57 + (=6 — 0)2
52 + (—6)2 = /25 + 36 = /61

oo (045 =640) 5
(c) Midpoint: (T > )_(ﬁ, 3)




SECTION 1.1 The Coordinate Plane 61

31. d(A,B) = \/(1 - 5)2 +@B-32= \/(—4)2 =4. 32. The area of a parallelogram is its base times its height.
Since two sides are parallel to the x-axis, we use the length
of one of these as the base. Thus, the base is
d(A,B)=vV(1-52+2—-22=+/(—4)2=4.The
height is the change in the y coordinates, thus, the height
is 6 — 2 = 4. So the area of the parallelogram is

A B base - height =4 -4 = 16.

d(A,C)=/A-12+ @ = (=3))2 = /(6)> =6. So
the areais 4 - 6 = 24.

y

33. From the graph, the quadrilateral ABC D has a pair of 34. The point S must be located at (0, —4). To find the area,

parallel sides, so ABC D is a trapezoid. The area is we find the length of one side and square it. This gives
(@) h. From the graph we see that d(Q,R) = \/(_5 —02+(1-6)2
bl:d(A,B):\/(1—5)2+(O—O)2:\/4_:4; =\/(—5)2T5)2

by =d (C, D) = /(4—2)2 + 3—3)2 = vZZ = 2; and _ JBTE -5

h is the difference in y-coordinates is |3 — 0] = 3. Thus 2
So the area is («/@) = 50.

442
the area of the trapezoid is (—; ) 3=09.
y

y

iI
S
=

35'd(°°A)=J(6—°>2+(7—O)Z=JW:m:\/@_

d(0,B) = /(-5—0)2 + (8= 0)2 = /(~5)? + 82 = 25+ 64 = V9.
Thus point A (6, 7) is closer to the origin.
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36.

37.

38.

39.

40.

41.

42.

CHAPTER 1 Equations and Graphs

d(E,C) = /(=6 — (—2)2 + 3= 1% = /(—42 + 22 = VI6 T 4 = V20
d(E,D) = /3= (-2)2+ (0 —12 = /52 + (-1)2 = BT 1= v/26.

Thus point C is closer to point E.

d(P,R) = /(-1 =32 + (1= 1)2 = \/(—4)2 + (~2)? = VI6 T4 = V20 = 2/5.
d(Q, R) = /(=1 — (1)) + (—1 — 3)% = /0 + (=42 = +/16 = 4. Thus point Q (~1, 3) is closer to point R.

(a) The distance from (7, 3) to the origin is \/(7 —0)2 4+ (3—-0)2 = /72 4+ 32 = /49 + 9 = +/58. The distance from

(3, 7) to the origin is \/(3 —0)2 4+ (7-0)2 = /32 + 72 = \/9+ 49 = /58. So the points are the same distance from
the origin.

(b) The distance from (a, b) to the origin is \/(a —0)2 + (b — 0)2 = v/a2 + b2. The distance from (b, a) to the origin is

\/(b —0)2+ (a—0)2 =/b? +a2 = /a2 + b2. So the points are the same distance from the origin.

Since we do not know which pair are isosceles, we find the length of all three sides.

d(AB) = /(3= 02+ (—1-2)2 = \/(-3)? + (-3)2 = VI F 9 = 1B = 3v2.

d(C.B) = /(-3 — (=4)2 + (-1 —3)2 = /12 4+ (~4)? = JTT 16 = VIT.

d(A,C) = \/(O — (42 +(2-32= \/42 + (=1)2 = /16 + 1 = V/17. So sides AC and C B have the same length.

Since the side AB is parallel to the x-axis, we use this as the base in the formula area = % (base - height). The height is the

change in the y-coordinates. Thus, the base is |—2 — 4| = 6 and the height is |4 — 1| = 3. So the area is % (6-3)=09.

(a) Here we have A =(2,2), B = (3,—-1),andC = (-3, —3). So
d(AB) =/B-22+(—1-22 =,/12 1 (-3) = yTF 9 = VIO,
d(C,B)= \/(3 —(=3))2 + (=1 — (=3))2 = /62 + 22 = /36 + 4 = /40 = 2/10;
d(A,C) = /(-3=22 + (—3—-2) = \/(-5)? + (=5)2 = V5T 25 = +/50 = 5,/2.
Since [d (A, B)]? +[d (C, B)]? = [d (A, C)]%, we conclude that the triangle is a right triangle.
(b) The area of the triangle is 5 - d (C, B) - d (A, B) = 5 - +/10 - 2/10 = 10.

\/(11—6)2+(—3—(—7))2 = V52442 = /25416 = /41,
d(AC) = J@-67+(2—(-)? = \J(-42+5 = VI6525 = VAL

d(B,C) = /(2= 11)% + (—2— (=3))2 = /(<92 + 12 = VBT T1 = VB2.
Since [d (A, B)]2 + [d (A, C)]2 = [d (B, C)]%, we conclude that the triangle is a right triangle. The area is
3 (v va) =4

d (A, B)




43.

45.

46.

47.
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We show that all sides are the same length (its a rhombus) and then show that the diagonals are equal. Here we have
A=(-2,9),B=(4,6),C =(10),and D = (=5, 3). So

d(AB) = /(4= (—2))2 + (692 = /62 + (-3 = 36 +9 = V45,

d(B.C)= /(142 +0—62 = /(-3 + (=62 = VI 36 = /35,

d(C.D) = /(=5 - 12+ @~02 = /(=62 + (-3 = /36 1§ = V/35;

d(D, A) = /(—2 = (=5))% + (9 — 3)2 = /32 + 62 = /9 36 = /25. So the points form a
thombus. Also d (A, C) = /(1 — (=2))2 + (0 — 9)% = /32 + (—9) = VI F BT = /30 = 310,

andd (B, D) = \/(—5 —424+(3-6)2= \/(—9)2 + (—=3)2 = /BT + 9 = +/90 = 3+/10. Since the diagonals are equal,
the rhombus is a square.

.d(A,B) = \/(3—(—1))2+(11—3)2 = V4248 = JI6+64 = 80 = 45

\/(5—3)2+(15—11)2 = V22442 = J4¥16 = J20 = 2.5
d(A,C):\/(5—(—1))2+(15—3)2=\/62+12 = /36 + 144 = /180 = 6+/5. Sod (A, B) +d (B,C) =d (A, C),

and the points are collinear.

d (B, C)

Let P = (0, y) be such a point. Setting the distances equal we get

Jo-52 4y - (52 =J0-1?+y-12
V254+y2 +10y +25=/1+y2 -2y + 1= y2 410y + 50 = y2 — 2y + 2 < 12y = —48 &< y = —4. Thus, the point
is P = (0, —4). Check:

JO—52 4 (-4— (=5) = /(52 + 12 = yBF1 = VT,
JO-12+(-4-12 = [(-12+ (-57 = VBT 1= VE

1+3 0+6

The midpoint of AB is C’ = ( TR ) = (2,3). So the length of the median CC’ is d (C,C’) =

\/(2 —8)2 + (3 — 2)2 = \/37. The midpoint of AC is B/ = (1%8, 0—:2) = (%, 1). So the length of the median BB’
isd (B, B’) = \/(% - 3)2 +(1-6)2= @ The midpoint of BC is A’ = (? %) = (% 4). So the length
of the median AA"isd (A, A’) = \/(% - )2 +(@4—-0)2% = @

As indicated by Example 3, we must find a point S (x1, y1) such that the midpoints y

of PR and of QS are the same. Thus

(4 +2(_1), 2 +§_4)) = (X1; 1, yl; l). Setting the x-coordinates equal, R

Y
o4 —-1=x1 + 1 xq = 2.Setting the ! 1//.
X
2 2 P'/

44(-1) x+1

we get
g 2 2

y-coordinates equal, we get 2+ 4 _nt ! S2-4=y1+1losy =-3.

Thus S = (2, —3).




64

48.

49.

50.

51.

52.

53.

55.
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. 24X . . L 2+ X o
We solve the equation 6 = % to find the x coordinate of B. This gives 6 = % <12 =2+ x < x = 10. Likewise,

8=V 16-3+yoy=13 Thus, B = (10,13).
@ s . (b) The midpoint of AC is (_2; ’ _12+ 7) = (3.3), the midpoint
(441 244 5
D ISR I )
OfBDIS( 7 ) (2,3).
/ B (c) Since the they have the same midpoint, we conclude that the
I % diagonals bisect each other.
A
We have M = (aT-i_O, #) = (%, g) Thus,
b 2 2 p2 /a2 1 b2
d(C,M)= (3—0) +(2-0) = /2 L &t
2 2 4 4 2
aam=(E-a) +(2- ‘_ (-2)+ b)?_ [a? b? _ Vaib?
VN2 2 N 2 2] Va4 4 2 '

d(B,M)=\/(3—o)2+(9—b)2=\/(3)2+(—9)2= a0 Ya?tb?

2 2 2 2 4 4 2

(a) The point (5, 3) is shiftedto (5 + 3,3+ 2) = (8,5).

(b) The point (a, b) is shifted to (a + 3, b + 2).

(c) Let (x,y) be the point that is shifted to (3, 4). Then (x + 3,y + 2) = (3, 4). Setting the x-coordinates equal, we get
X +3 =3 x = 0. Setting the y-coordinates equal, we get y + 2 = 4 < y = 2.So the point is (0, 2).

(d) A=(-5,-1),s0 A’ =(-5+3,-1+2)=(-2,1); B=(-3,2),50B' = (-3+3,2+2) = (0,4);and C = (2, 1),
s0C'=(@2+3,1+2)=(5,3).

(a) The point (3, 7) is reflected to the point (=3, 7).

(b) The point (a, b) is reflected to the point (—a, b).

(c) Since the point (—a, b) is the reflection of (a, b), the point (—4, —1) is the reflection of (4, —1).

(d) A=(3,3),50 A’ =(-3,3); B=(6,1),s0 B’ = (—6,1);and C = (1, —4),s0 C’ = (-1, —4).

(@ d (A, B)=+32+42=,25=5,
(b) We want the distances from C = (4, 2) to D = (11, 26). The walking distance is
|4 — 11| + |2 — 26] = 7 + 24 = 31 blocks. Straight-line distance is

J@ =112 + 2 - 262 = /72 1 247 = \/625 = 25 blocks.

(c) The two points are on the same avenue or the same street.

3+27 7+17
2 0 2
(b) They each must walk |15 — 3| + |12 — 7| = 12 + 5 = 17 blocks.

. (a) The midpoint is at (— —) = (15, 12), which is at the intersection of 15th Street and 12th Avenue.

The midpoint of the line segment is (66, 45). The pressure experienced by an ocean diver at a depth of 66 feet is 45 Ib/in?.



57. We need to find a point S (x1, y1) such that PQRS is a parallelogram. As y

SECTION 1.2 Graphs of Equations in Two Variables: Circles 65

2+ X

. 24X . . Lo
56. We solve the equation 6 = % to find the x coordinate of B: 6 = <12 =2+ x & x = 10. Likewise, for the y

. 3
coordinate of B, we have 8 = % <16 =3+y < y=13. Thus B = (10, 13).

indicated by Example 3, this will be the case if the diagonals PR and QS bisect
each other. So the midpoints of PR and QS are the same. Thus

0+5 —-3+3 X1+ 2 2 . .
(% 2+ ) = (% %) Setting the x-coordinates equal, we get Q//.
1
1

0+5 x 2 x

%z 1;’ ©0+5=x +2&x =3. / '
. . —-3+3 2 P

Setting the y-coordinates equal, we get 2+ = y12+ -3+3=y1+2<

y1 = —2. Thus S = (3, —2).

1.2 GRAPHS OF EQUATIONS IN TWO VARIABLES: CIRCLES

1. If the point (2, 3) is on the graph of an equation in x and y, then the equation is satisfied when we replace x by 2 and y by 3.

We check whether 2 (3) 2 2416 2 3. This is false, so the point (2, 3) is not on the graph of the equation 2y = x + 1.
To complete the table, we express y intermsof x: 2y =x + l oy = % x+1= %x + %

x |y (X, Y) ’
—2 [ -1 (—2,—%) 1:/
1| ol (~1,0 nrel
o| 3] (@3) PalRRE
1] @y 1
2| 3 (2,%)

. To find the x-intercept(s) of the graph of an equation we set y equal to 0 in the equation and solve forx: 2(0) = x + 1 &
x = —1, so the x-intercept of 2y = x + 1is —1.

. To find the y-intercept(s) of the graph of an equation we set x equal to 0 in the equation and solve fory: 2y =0+ 1 <
= 1, so the y-intercept of 2y = x + 1 is 3.
. The graph of the equation (x — 1)2 +(y— 2)2 = 9 is a circle with center (1, 2) and radius +/9 = 3.

. (a) Ifagraph is symmetric with respect to the x-axis and (a, b) is on the graph, then (a, —b) is also on the graph.
(b) Ifagraph is symmetric with respect to the y-axis and (a, b) is on the graph, then (—a, b) is also on the graph.
(c) If agraph is symmetric about the origin and (a, b) is on the graph, then (—a, —b) is also on the graph.

. (a) The x-intercepts are —3 and 3 and the y-intercepts are —1 and 2.

(b) The graph is symmetric about the y-axis.

. Yes, this is true. If for every point (x, y) on the graph, (—x, y) and (x, —y) are also on the graph, then (—x, —y) must be on
the graph as well, and so it is symmetric about the origin.

. No, this is not necessarily the case. For example, the graph of y = x is symmetric about the origin, but not about either axis.
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9. y = 3 — 4x. For the point (0, 3): 3 = 3 — 4(0) & 3 = 3. Yes. For (4,0): 0 = 3 — 4 (4) < 0 = —13. No. For (1, —1):
1234112 1. Yes.
So the points (0, 3) and (1, —1) are on the graph of this equation.
10. y = VI =X. Forthe point (2,1): 1 = VI—=2 & 1 = /=1. No. For (=3, 2): 2 = /T=(=3) & 2 = /4. Yes. For (0, 1):
12 JT=0. Yes.
So the points (—3, 2) and (0, 1) are on the graph of this equation.
11. x — 2y — 1 = 0. For the point (0, 0): 0—2(0)—120@—1;0. No. For (1, 0): 1—2(0)—120@—1+1;0. Yes.
For (=1, —1): (=1) —=2(=1) =120 —1+2—120. Yes.
So the points (1, 0) and (—1, —1) are on the graph of this equation.
12,y (x2 n 1) — 1. For the point (1, 1): (1) [(1)2 n 1] 21o1@) 21 No. For (1, %): (%) [(1)2 n 1] lielell
Yes. For (—1, %): ( )[( 1)2+1] Ziel@ L ves
So the points (1 ) and ( s %) are on the graph of this equation.
R ? ? ”
13. x2 + 2xy + y2 = 1. For the point (0, 1): 02 4+2(0) (1) +12 = 1< 1 =1. Yes. For (2, —=1): 22 +2(2) (1) + (-1)2 =1
©4—4+1211=1 Yes For (=2,3): (=22 +2(-2)(3)+ 32 214-12+92 1121, Yes.
So the points (0, 1), (2, —1), and (—2, 3) are on the graph of this equation.
C (2 2 ? ?
14. (0,1): (0)*+ (1) —-1=0<0+1—-1=0. Yes.
2 2 2 ?
A1) (L S R 1,1 412
(&%) (%) +(3%) -120=3+5-120.ves.
V3 1) (). (1 2024112
(£.3) (£) +() -1 20014120
So the points (0, 1), (% \/l_) and (\/T_ %) are on the graph of this equation.
15. y = 3x 16.y = —2x
X y X y
-3 -9 -3 6
-2 | -6 -2 4
-1 -3 -1 2
0 0 0 0
1 3 1] -2
2 6 2| -4
3 9 3] -6
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17. y=2—-x 18.y=2x+3
X y X y
—4 6 —4 1 -5
_2 4 -2 1| -1
0 2 0 3
0
4| =2 41 11
19. Solvefory:2x —y=6<y =2x —6. 20. Solve for x: x —4y =8 & x =4y + 8.
X y X y
-2 | -10 —4 1 -3
5
0 —6 -2 | -3
2 -2 0| -2
3
4 2| -3
6 41 -1
1
61 -2
8 0
1
10 5
21 y=1-x2 22.y=x242
y y
X y X y
3| -8 -3 |1
-2 -3 -2 6
o 1 . of| 2 ! '
1 0 1 3
2| -3 2 6
3| -8 3111




CHAPTER 1 Equations and Graphs

68

24y =—x2+4

23. y=x2-2

= —x2,

26. 4y

25. 9y = x2. To make a table, we rewrite the equation as

—o

2
X

28.xy=26y

27. x +y2 = 4.

< N IS IS N N <
| | | |
A__. ™ ?_._ 1__ O +H N M <
o M T M O W
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29. y = JX. 30.y =2+ JX.
y Yy
X y X y
o o o| 2
1 1
i| 3 1] 3
1] 1 1/////////— 2 | 2442
2 | V2 i ¥ 4| 4
4| 2 9| s !
9| 3
1 X
16| 4

31. y = —/9 — x2. Since the radicand (the expression inside  32.y = /9 — x2.

the square root) cannot be negative, we must have Since the radicand (the expression inside the square root)
9-x2>0ox2<9e (x| <3 cannot be negative, we must have 9 — x2 > 0 < x2 < 9
S x| < 3.
X y
-3 0 X y
-2 =5 3] 0
-1| -2v2 2| 5
0| -3 -1 2v2
1| -2v2 0 3
2| -5 1] 242
3| o 2| B
3 0
33. y=—x|. 34. x = |y|. In the table below, we insert values of y and find
y the corresponding value of x.
X y
6| -6 x|y g
—4 | -4 3| -3
-2 | -2 : 2| -2
0 0 1 ' 1| -1 1
2| -2 0 0 1 x
41 -4 1 1
6| —6 2 2
3 3
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35. y=4—x|. 36.y =14 —x|.
y
X y X y
-6 | -2 —6 | 10
-4 o -4 8
2| 2 1 2| 6
o| 4 ! : 0| 4
2 2 2| 2
4 0 41 0
6| -2 6 2
8| 4
10 6
37. x = y3. Since x = y3 is solved for x in terms of y, we 38.y=x3-1
insert values for y and find the corresponding values of x
in the table below. X y
-3 | —28
x |y g 2| -9
—27 | -3 -1 -2
8| =2 0 -1
11 -1 1 1 1
of o ! . 2 7
1 1 3 26
8 2
27 3
39. y = x4, 40.y = 16 — x4
y
X y X y
-3 |81 -3 | —65
-2 | 16 -2 0
-1 1 3 -1 15
o o ! ' o| 16
1 1 1 15
2116 2 0
3|81 3| —65
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41. y = 0.01x3 — x2 + 5; [~100, 150] by [—2000, 2000] 42.y = 0.03x2 + 1.7x — 3; [—100, 50] by [~50, 100]

2000 T 100 T
1000 T
+ 50 -
-100 50 0 150 , , , , ,
-100 S A 50
-50 —
43. y = J/12x — 17; [—1, 10] by [—1, 20] 44.y = /256 — x2; [-20, 20] by [~2, 6]
20T 6T
10 T
. : ——t : 20
0 2 4 6 8 10
X
45. y = ——: [-50, 50] by [-0.2,0.2 46.y = x* — 4x3; [—4, 6] by [-50, 100
Y= [ ] by [ ] y [—4,6] by [ ]
0.2 100 T
0.1 50 -
) 20 40 | _ o —
4 2 i \2\_/1 6
-50 —

47.

48.

49.

51.

y = X + 6. To find x-intercepts, set y = 0. This gives 0 = x 4+ 6 < x = —6, so the x-intercept is —6.

To find y-intercepts, set x = 0. This givesy = 0+ 6 < y = 6, so the y-intercept is 6.

2x — By = 40. To find x-intercepts, set y = 0. This gives 2x — 5 (0) = 40 < 2x = 40 < x = 20, and the x-intercept is 20.
To find y-intercepts, set x = 0. This gives 2 (0) — 5y = 40 & y = —8, so the y-intercept is —8.

y = x2 — 5. To find x-intercepts, set y = 0. This gives 0 = x2 — 5 < x2 = 5 = x = £+/5, s0 the x-intercepts are +£+/5.
To find y-intercepts, set x = 0. This gives y = 02 — 5 = —5, so the y-intercept is —5.

y2 =9 — x2. To find x-intercepts, set y = 0. This gives 02 = 9 — x2 & x2 = 9 = x = +3, so the x-intercepts are +3.
To find y-intercepts, set x = 0. This gives y2 =9 — 02 = 9 & y = +3, s0 the y-intercepts are +3.

1
y — 2xy + 2x = 1. To find x-intercepts, sety = 0. Thisgives0 —2x (0) +2x =1l 2x =1 x = 7 S0 the x-intercept
is 3.
To find y-intercepts, set x = 0. Thisgivesy —2(0)y + 2 (0) = 1 & y = 1, so the y-intercept is 1.
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52.

53.

55.

56.

57.

58.

59.

61.
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x2 —xy +y = 1. To find x-intercepts, set y = 0. This gives x2 —x (0) + (0) = 1 < x% = 1 = x = +1, so the x-intercepts
are —1and 1.
To find y-intercepts, set x = 0. This gives y = (0)2 — (0)y + y = 1 <y = 1, s0 the y-intercept is 1.

y = +/Xx + 1. To find x-intercepts, sety = 0. Thisgives0 = v/X + 1 &0 =x + 1 < x = —1, so the x-intercept is —1.
To find y-intercepts, set x = 0. This gives y = /0 + 1 < y = 1, so the y-intercept is 1.

. Xy = 5. To find x-intercepts, set y = 0. This gives x (0) = 5 < 0 = 5, which is impossible, so there is no x-intercept.

To find y-intercepts, set x = 0. This gives (0) y = 5 < 0 = 5, which is again impossible, so there is no y-intercept.

4x2 4 25y2 = 100. To find x-intercepts, set y = 0. This gives 4x2 + 25 (0)2 = 100 < x2 = 25 < x = 45, s0 the
x-intercepts are —5 and 5.
To find y-intercepts, set x = 0. This gives 4 (0)2 + 25y2 = 100 < y2 = 4 < y = +2, so the y-intercepts are —2 and 2.

25x2 — y2 = 100. To find x-intercepts, set y = 0. This gives 25x2 — 0% = 100 < x2 = 4 < x = +£2, s0 the x-intercepts
are —2 and 2.

To find y-intercepts, set x = 0. This gives 25 (O)2 - y2 =100 & y2 = —100, which has no solution, so there is no
y-intercept.

y =4x — x2. To find X-intercepts, set y = 0. This gives 0 = 4x — X2 0=x(4- X) & 0 = Xx or X = 4, so the
x-intercepts are 0 and 4.
To find y-intercepts, set x = 0. This gives y = 4 (0) — 02 < y = 0, s0 the y-intercept is 0.

2 2 2 02 2

% + yT = 1. To find x-intercepts, set y = 0. This gives % + il le % =lox2 =9 x = 43, s0the
X-intercepts are —3 and 3.

_ _ 02 2 y2 ) _
To find y-intercepts, set x = 0. This gives ) + 7= le 7= 1o yc =4 x =22, so the y-intercepts are —2 and 2.

x* 4+ y2 — xy = 16. To find x-intercepts, set y = 0. This gives x* + 02 — x (0) = 16 & x* = 16 & x = +2. So the
X-intercepts are —2 and 2.
To find y-intercepts, set x = 0. This gives 0% + y2 — (0) y = 16 < y2 = 16 < y = +4. So the y-intercepts are —4 and 4.

. x2 +y3 — x2y2 — 64. To find x-intercepts, set y = 0. This gives x2 + 0% — x2 (0)2 = 64 < x2 = 64 < x = +8. So the

X-intercepts are —8 and 8.
To find y-intercepts, set x = 0. This gives 02 + y3 — (0)2 y2 = 64 < y3 = 64 < y = 4. So the y-intercept is 4.

(@ y=x3—x%;[-2,2] by [-1,1] (b) From the graph, it appears that the x-intercepts are 0
and 1 and the y-intercept is 0.
10T
T (c) To find x-intercepts, set y = 0. This gives
0'5____ 0=x3—x2=x2(x—1)=0<x=00rl So
| , , | the x-intercepts are 0 and 1.
-2 -1 1 1 2 To find y-intercepts, set x = 0. This gives
05 1 y = 03 — 02 = 0. So the y-intercept is 0.
-1.0 —




62. (a) y =x*—2x3;[=2,3] by [-3, 3]

63. (a) y=—

X241

+ [-5.5] by [-3,1]

X
64. () y:X2—+1;

[_Sa 5] by [_2a 2]

65. (a) y = I [-5

.51 by [-2,2]

2

1
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(b) From the graph, it appears that the x-intercepts are 0
and 2 and the y-intercept is 0.

(c) To find x-intercepts, set y = 0. This gives
0=x*-23=x3(x—2)=0ox=0o0r2.So
the x-intercepts are 0 and 2.

To find y-intercepts, set x = 0. This gives

y = 0% —2(0)3 = 0. So the y-intercept is 0.

(b) From the graph, it appears that there is no x-intercept
and the y-intercept is —2.

(c) To find x-intercepts, set y = 0. This gives

0=-— 2 , Which has no solution. So there is no
X2 +1

X-intercept.
To find y-intercepts, set x = 0. This gives
2

=@

= —2. So the y-intercept is —2.

(b) From the graph, it appears that the x- and
y-intercepts are 0.

(c) To find x-intercepts, set y = 0. This gives

X . .
= < x = 0. So the x-intercept is 0.
x2+1

To find y-intercepts, set x = 0. This gives
0
02+1

y= = 0. So the y-intercept is 0.

(b) From the graph, it appears that and the x- and
y-intercepts are 0.

(c) To find x-intercepts, set y = 0. This gives 0 = /X
< x = 0. So the x-intercept is 0.
To find y-intercepts, set x = 0. This gives

y = &0 = 0. So the y-intercept is 0.
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66. (@) y = /1 — x2; [-5, 5] by [-5, 3]

2+

67. x2 4+ y2 = 9 has center (0, 0) and radius 3.

y

R
N

69. (x — 3)2 + y2 = 16 has center (3, 0) and radius 4.

y

(b) From the graph, it appears that the x-intercepts are
—1 and 1 and the y-intercept is 1.

(c) To find x-intercepts, set y = 0. This gives

0=1-x2=1-x2

=0& x = +1. Sothe

X-intercepts are —1 and 1.

To find y-intercepts, set x = 0. This gives

y = /1 — 02 = 1. So the y-intercept is 1.

68. x2 + y2 = 5 has center (0, 0) and radius /5.

y

/]
nm

\
-y x

70. x2 + (y — 2)2 = 4 has center (0, 2) and radius 2.

y

71 (X + 3)2 +(y— 4)2 = 25 has center (-3, 4) and radius 5.  72. (x + 1)2 +y+ 2)2 = 36 has center (—1, —2) and

v

radius 6.

y

jagEEes

iy




73.
74.
75.

76.

7.

78.

79.

80.

81.

82.

85.

86.

87.

88.

. Completing the square gives x2 4+ y2 — 2x +4y +1 = 0 & x2 — 2x + (7)2 +y2 +4y + (%)2 =-1+ (‘72)2 + (7)2
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Usingh = -3,k =2,andr =5, we get (x — (—3))2 + (y —2)2 =52 < (x 4+ 3)2 + (y — 2)2 = 25.

Usingh = —1,k = —3,andr =3, we get (x — (=1))2 + (y — (=3))2 =32 & (x + 1)2 + (y + 3)2 = 0.

The equation of a circle centered at the origin is x2 + y2 = r2. Using the point (4, 7) we solve for r2. This gives
(4)2 + (7)2 =12 & 16 + 49 = 65 = r2. Thus, the equation of the circle is x2 + y2 = 65.

Usingh = —1and k = 5, we get (x — (=1))2 + (y =5)2 = r2 & (x + 1)2 + (y — 5)2 = r2. Next, using the point
(=4, —6), we solve for r2. This gives (=4 + 1)? + (=6 — 5)2 = r2 < 130 = r2. Thus, an equation of the circle is
(X +1)2 + (y — 5)% = 130.

—1+45 149
The center is at the midpoint of the line segment, which is ( 2+ s %) = (2,5). The radius is one half the diameter,

sor = %\/(—1 — 52+ (1—9)? = $,/36+ 64 = 1/100 = 5. Thus, an equation of the circle is (x — 2)?+(y — 5)? = 5
& (X —2)2 + (y —5)2 = 25.

_ o ) .. (-147 34+-5
The center is at the midpoint of the line segment, which IS( 2+ > +2

) = (3, —1). The radius is one half the

diameter, sor = %\/(—1 —7)2 4+ (3 — (=5))2 = 44/2. Thus, an equation of the circle is (x — 3)2 + (y + 1)2 = 32.

Since the circle is tangent to the x-axis, it must contain the point (7, 0), so the radius is the change in the y-coordinates.
Thatis, r = |—3 — 0| = 3. So the equation of the circle is (x — 7)2 + (y — (—3))2 = 32, which is (x — 7)2 4+ (y +3)2 = 9.
Since the circle with r = 5 lies in the first quadrant and is tangent to both the x-axis and the y-axis, the center of the circle
is at (5, 5). Therefore, the equation of the circle is (x — 5)2 + (y — 5)2 = 25.

From the figure, the center of the circle is at (—2, 2). The radius is the change in the y-coordinates, sor = |2 — 0| = 2.
Thus the equation of the circle is (x — (=2))2 4 (y — 2)? = 22, which is (x +2)? + (y — 2)° = 4.

From the figure, the center of the circle is at (—1, 1). The radius is the distance from the center to the point (2, 0). Thus

r= \/(—1 —2)2 4+ (1-0)2 =9 + 1 = /10, and the equation of the circle is (x + 1)2 + (y — 1)2 = 10.

-2 4

SX2—2X+1+y?2 +4y +4=-1+1+4 6 (x —1)? + (y + 2)2 = 4 Thus, the center is (1, —2), and the radius is 2.

. Completing the square gives x% + y2 — 2x — 2y = 2 &> x% — 2x + (_72)2 +y2 -2y + (‘72)2 =2+ (‘72)2 + (_72)2

ox2—2x+1+y2—2y+1=2+1+1o (x —1)2 + (y — 1)2 = 4. Thus, the center is (1, 1), and the radius is 2.

Completing the square gives x2 4 y2 —4x 410y +13 = 0 & x? —4x + (—‘24)2+y2+10y+ (129)2 = —13+(%)2+ (129)2

SX2—aX +4+y2 410y +25=—13+4+25 (x —2)2 + (y + 5)% = 16.
Thus, the center is (2, —5), and the radius is 4.

2 2
Completing the square gives x2 + y2 + 6y +2 = 0 < x% + y2 + 6y + (g) =2+ (%) ox24+y246y+9=-2+49
< x2 4 (y + 3)2 = 7. Thus, the circle has center (0, —3) and radius +/7.

2 2
Completing the square gives X2 + y2 + x =0<:>x2+x+(%) +y2 = (%) exX?+x+i+y’=1e

1\, 21 - 1 .
(x + §) + Y4 = 7. Thus, the circle has center (—ﬁ, 0) and radius 5.

2 2 2
Completingthesquaregivesxz+y2+2x+y+1=0<:>x2+2x+(%) +y2+y+(% =—l+l+(%) &

2
X2 +1+y2+y+i =1 X+1)2+ (y + %) = . Thus, the circle has center (—1, —%) and radius 3.
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90.

91.

93.

95.

96.

CHAPTER 1 Equations and Graphs

_1/27\2 2 12 2

Completingthesquaregivesx2+y2—%x+%y:%@xz—%x+(—¥—2) +y2+%y+(%3) =%+(—12/—2) +(%3)
2 2

(:)xz—%x+T16+y2+%y+Tls:%+T16+T16:%:%@(x—%) +(y+% = %. Thus, the circle has center

(%, —%) and radius 1.

Completing the square gives X% +y2 + 3x +2y + 45 = 0 & X2+ 1x+ (1—£2)2+y2+2y+ (%)2 =i+ (¥)z+ (%)2
YN (x + %)2 + (y + 1)2 = 1. Thus, the circle has center (—%, —1) and radius 1.

Completing the square gives x2 + y2 +4x — 10y = 21 & 92. First divide by 4, then complete the square. This gives

2 4+ dx 4+ (%)2+y2_10y+(_T10)2 :21+<%)2+ 24 ay? +2x =0 X2 +y2 + Ix =0 x% + 1x+
(_Tm)z<:>(x+2)2+(y—5)2 —21+4+25=50, P =0exit gt (¥)2+y2 = (¥)2‘:’
Thus, the circle has center (—2, 5) and radius v/50 = 5+/2. (X + %)2 +Yy? = {5 Thus, the circle has center (—%, 0)

Y and radius .

8
—_

Completing the square gives x2 + y2 +6x — 12y +45=0 94.x2 4 y2 — 16x + 12y + 200 = 0 <

& (X+3)2+(y—6)2 = —45+9+ 36 = 0. Thus, the x2 — 16x + (—_16)2 Ty 412y + (1_2)2
center is (—3, 6), and the radius is 0. This is a degenerate 2 2
circle whose graph consists only of the point (-3, 6). — —200 + (—T16)2 + (%)2 PN

Y

(X —8)2 4 (y + 6)2 = —200 + 64 + 36 = —100. Since

completing the square gives r2 = —100, this is not the
equation of a circle. There is no graph.

x-axis symmetry: (—y) = x* + x2 & y=—x%— x2, which is not the same as y=x%+ x2, s0 the graph is not symmetric
with respect to the x-axis.

y-axis symmetry: y = (—=x)* + (—x)2 =x* 4+ x2, so the graph is symmetric with respect to the y-axis.

Origin symmetry: (—y) = (=X)* + (=x)2 < —y = x* + x2, which is not the same as y = x* + x2, so the graph is not
symmetric with respect to the origin.

x-axis symmetry: x = (—y)* — (=y)2 = y* — y2, so the graph is symmetric with respect to the x-axis.

y-axis symmetry: (—x) = y# — y2, which is not the same as x = y* — y2, so the graph is not symmetric with respect to the
y-axis.

Origin symmetry: (—x) = (—=y)* — (=y)? & —x = y* — y2, which is not the same as x = y* — y2, so the graph is not
symmetric with respect to the origin.



97.

98.

99.
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X-axis symmetry: (—y) = x3 +10x & y = —x3 — 10x, which is not the same as y = x3 + 10x, so the graph is not
symmetric with respect to the x-axis.

y-axis symmetry: y = (=x)3 + 10 (=x) < y = —x3 — 10x, which is not the same as y = x3 + 10x, so the graph is not
symmetric with respect to the y-axis.

Origin symmetry: (—y) = (—=x)3 + 10 (—=x) & —y = —x3 — 10x < y = x3 + 10x, s0 the graph is symmetric with respect
to the origin.

x-axis symmetry: (—y) = x2 + |x| & y = —x2 — |x|, which is not the same as y = x2 + |x|, s the graph is not symmetric
with respect to the x-axis.

y-axis symmetry: y = (—=x)2 + |—x| & y = x2 + |x], 50 the graph is symmetric with respect to the y-axis. Note that
[—X| = [x].

Origin symmetry: (—y) = (=x)% + |=x| & —y = x2 + |x| & y = —x2 — |x|, which is not the same as y = x2 + |x|, s0
the graph is not symmetric with respect to the origin.

x-axis symmetry: x* (—=y)* + x2 (—=y)2 = 1 & x4y* + x2y2 = 1, s0 the graph is symmetric with respect to the x-axis.
y-axis symmetry: (—x)* y4 + (—x)2 y2 =1 < x4y*+ x2y2 = 1, so the graph is symmetric with respect to the y-axis.
Origin symmetry: (—x)* (=y)* + (=x)2 (=y)? = 1 & x*y* + x2y2 = 1, so the graph is symmetric with respect to the
origin.

100. x-axis symmetry: x2 (—y)Z + x (—=y) = 1 < x2y2 — xy = 1, which is not the same as x2y2 + xy = 1, so the graph is not

symmetric with respect to the x-axis.
y-axis symmetry: (—x)2 y2 4+ (—x)y = 1 < x2y2 — xy = 1, which is not the same as x2y? + xy = 1, so the graph is not
symmetric with respect to the y-axis.
Origin symmetry: (—x)2 (—y)2 +(—xX)(-y)=1e x2y2 + Xy = 1, so the graph is symmetric with respect to the origin.

101. Symmetric with respect to the y-axis. 102. Symmetric with respect to the x-axis.
y y
0 X
0 X
103. Symmetric with respect to the origin. 104. Symmetric with respect to the origin.
y y

0 X
0 X
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105. {(x, V) [ X2 +y2 < 1}. This is the set of points inside

(and on) the circle x2 + y2 = 1.

106. {(x, Y) [ X2 4+y2 > 4}. This is the set of points outside

the circle x2 + y2 = 4,

107. Completing the square gives x2 4+ y2 —4y —12 =0

109.

110. (a) Symmetric about the x-axis.

y y

108. This is the top quarter of the circle of radius 3. Thus, the
—4 2 —4 2 is 1 97) = 9_7"
= X2+y2—4y+(T) :12+(7) (=g area|54( 7T) 4

y

x2 + (y—- 2)2 = 16. Thus, the center is (0, 2), and the | N il
radius is 4. So the circle x2 + y2 = 4, with center (0, 0) N 1 i
and radius 2, sits completely inside the larger circle. Thus, RV E N
the area is w42 — 722 — 167 — 4rr — 127 {' )
X
\ /

(a) The point (5, 3) is shiftedto (5+ 3,3+ 2) = (8, 5).

(b) The point (a, b) is shifted to (a + 3, b + 2).

(c) Let (x,y) be the point that is shifted to (3, 4). Then (x 4+ 3,y + 2) = (3, 4). Setting the x-coordinates equal, we get
X 4+ 3 =3 & x = 0. Setting the y-coordinates equal, we gety + 2 = 4 & y = 2.So the point is (0, 2).

(d) A=(=5,-1),s0 A" =(-5+3,-1+2) =(-2,1); B=(-3,2),s0B’ = (-=3+3,2+2) = (0,4);and C = (2, 1),
s0C'=@2+3,1+2)=(5,3).

(b) Symmetric about the y-axis. (c) Symmetric about the origin.

111. (a) In 1980 inflation was 14%; in 1990, it was 6%; in 1999, it was 2%.

(b) Inflation exceeded 6% from 1975 to 1976 and from 1978 to 1982.

(c) Between 1980 and 1985 the inflation rate generally decreased. Between 1987 and 1992 the inflation rate generally
increased.

(d) The highest rate was about 14% in 1980. The lowest was about 1% in 2002.

112. (a) Closest: 2 Mm. Farthest: 8 Mm.
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x=32 28 .,  (x=387 (x—3)°

-3
25 16 25 25 4
rootofbothsideswegetx—s:i,/% ::t%gc)x :3i57‘/§. Sox :3—%— ~ —1.33 0rx :3+5—*2/§ ~ 7.33.

=le

Bl

(b) When y = 2 we have +

& (x — 3)2 = 2. Taking the square
3

The distance from (—1.33, 2) to the center (0, 0) isd = \/ (=1.33 = 0)2 + (2 — 0)2 = 4/5.7689 ~ 2.40. The distance

from (7.33, 2) to the center (0, 0) is d = \/ (7.33 = 0)2 + (2 — 0)2 = +/57.7307 ~ 7.60.

2 2 2 2
113. Completing the square gives x2 + y2 +ax + by +¢ = 0 < x2 +ax + (%) +y2+by+ (g) =—c+ (%) + (g)

a\2 b\? a2 +b2 _ _ . a2 4 b2
= (x + E) +ly+ 5) = —C + R This equation represents a circle only when —c +

2, p2 2, p2
ac+b . . ac+b
+ =0, and this equation represents the empty set when —c + I

> 0. This

< 0.

equation represents a point when —c +

. _ _ a b o aZ + b?
When the equation represents a circle, the center is (_5’ _5)’ and the radius is ,/ —C + : = %\/ a2 4+ b? — 4ac.

114. (@) (i) (x —2)2 4+ (y —1)2 = 9, the center is at (2,1), and the radius is 3. (x — 6)% +

(y — 4)2 = 16, the center is at (6, 4), and the radius is 4. The distance between centers is
\/(2 —6)2+(1—42= \/(—4)2 +(=3)2 = /16 + 9 = /25 = 5. Since 5 < 3 + 4, these circles intersect.

(i) x2 + (y —2)%2 = 4, the center is at (0, 2), and the radius is 2. (x —5)% + (y — 14)2 = 9,
the center is at (5, 14), and the radius is 3. The distance between centers is
\/(o— 5)2 4 (2-14)2 = \/(—5)2 +(—12)2 = /251 144 = /169 = 13. Since 13 > 2 + 3,
these circles do not intersect.

(iii) (x — 3)2+(y + 1)2 = 1, the center is at (3, —1), and the radius is 1. (x — 2)2+(y — 2)2 = 25, the center is at (2, 2),
and the radius is 5. The distance between centers is \/(3 —224(-1-22= \/12 + (=32 = J1+9 =410
Since +/10 < 1 + 5, these circles intersect.

(b) If the distance d between the centers of the circles is greater than the sum rq + rp of their radii, then the circles do

not intersect, as shown in the first diagram. If d = rq + ro, then the circles intersect at a single point, as shown in the
second diagram. If d < rq + ry, then the circles intersect at two points, as shown in the third diagram.

ok &)

Casel d>ry1+rp Cae2 d=r1+n Case3 d <ryi+1n

1.3 LINES

1. We find the “steepness” or slope of a line passing through two points by dividing the difference in the y-coordinates of these

points by the difference in the x-coordinates. So the line passing through the points (0, 1) and (2, 5) has slope 50" 2.

2. (@) The line with equation y = 3x + 2 has slope 3.
(b) Any line parallel to this line has slope 3.
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(c) Any line perpendicular to this line has slope —%.

. The point-slope form of the equation of the line with slope 3 passing through the point (1,2) isy —2 = 3(x — 1).
. For the linear equation 2x + 3y — 12 = 0, the x-intercept is 6 and the y-intercept is 4. The equation in slope-intercept form

isy = —%x + 4. The slope of the graph of this equation is —%.

. The slope of a horizontal line is 0. The equation of the horizontal line passing through (2, 3) is y = 3.
. The slope of a vertical line is undefined. The equation of the vertical line passing through (2, 3) is x = 2.

7. (a) Yes, the graph of y = —3 is a horizontal line 3 units below the x-axis.

(b) Yes, the graph of x = —3 is a vertical line 3 units to the left of the y-axis.
(c) No, a line perpendicular to a horizontal line is vertical and has undefined slope.
(d) Yes, a line perpendicular to a vertical line is horizontal and has slope 0.

8. ¥ Yes, the graphs of y = —3 and x = —3 are perpendicular lines.
5
x=-3
o 5 x
y=-3
Y2 — V1 0-2 -2 Yo—y1 -1-0 -1 1
9. m= = =—==-2 10.m = = - ==
M= —x 0-(D 1 M= —x 3-0 3 3
11_mZYZ—Y1=—1—(—2)=1 lomoY2=Y1 _ —2-1 =3 _ 3
X2 — X1 7-2 5 X2 —X1 3—(-H 8 8
_Y2-v1_4-4_ _Y2-yn1_-1-3 -4 4
13'm_x2—x1_0—5_0 14'm_x2—x1_ 1-4 -3 3
y2—=y1 _ -5-(=2) -3 3 Yo=y1 _ —2-(=2)
15 m= = =— == 16.m = = =0
M= —x  6-10 -4 4 M= —x  6-3
— 2-0
17. For ¢4, we find two points, (—1, 2) and (0, 0) that lie on the line. Thus the slope of £1 ism = % =—1-0" —2.
2—X1  —1=
. . . - 3-2 . .
For ¢, we find two points (0, 2) and (2, 3). Thus, the slope of £7 ism = % =50" % For ¢3 we find the points
2—X1 -
. - 1—(-2 ) .
(2, —2) and (3, 1). Thus, the slope of £3 ism = 3:2 ){1 =3 ( > ) = 3. For ¢4, we find the points (-2, —1) and
2—X1 -

18.

. - -2—-(-1 -1 1
(2, =2). Thus, the slope of £4 ism = zz — zi =5 ((_2)) =T =7

(@) ¥ m=2 (b) y m=3

m=1

m=0

m=-1



19.

20.

21.

22.

23.
24.
25.
26.

27.

28.

29.

30.

3L

32.

35.
36.
37.
38.
39.

40.

. We are given two points, (1, 0) and (0, —3). Thus, the slope ism =

. We are given two points, (—8, 0) and (0, 6). Thus, the slope ism =
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. ) . . . . 0-4 . . .
First we find two points (0, 4) and (4, 0) that lie on the line. So the slope ism = i —1. Since the y-intercept is 4,

the equation of the lineisy =mx + b= —-1x +4. Soy = —x + 4, orx+y—4:0.O

We find two points on the graph, (0, 4) and (—2, 0). So the slope ism = _2__40 = 2. Since the y-intercept is 4, the
equation of the lineisy =mx +b=2x+4,s0y=2x+4<2x —y+4=0.

We choose the two intercepts as points, (0, —3) and (2, 0). So the slopeism = % = % Since the y-intercept is —3,
the equation of the lineisy =mx +b = %x —3,0r3x —2y —6=0.

We choose the two intercepts, (0, —4) and (-3, 0). So the slope ism = % = —%. Since the y-intercept is —4, the

equation of the line isy:mx+b=—%x —4s4x+3y+12=0.

Usingy =mx + b, wehavey =3x + (—=2)or3x —y —2=0.
Usingy:mx+b,wehavey=%x+4<:>2x—5y+20=0.

Using the equationy —y; =m (X — Xx1),wegety —3=5(x—-2) = -5x+y=-7<5x—y—-7=0.

Using the equationy —y; =m (X — x1),wegety —4=—-1x—-(-2)oy—4=—-x—-2x+y—-2=0.

Using the equation y —y; = m (X —Xx1), wegety — 7 = %(x—l)®3y—21:2x—2<:>—2x+3y =19

2x =3y +19=0.

Using the equationy —y; = m (X — X1), we gety — (=5) = —%(x —(3)eo2y+10=-7x-21=7x+2y+31=0.

First we find the slope, whichism = a—un _ E = i = —5. Substituting into y — y; = m (x — X1), we get
X2 — X1 1-2 -1
y—-6=-5x-1)oy—-6=-5%+55%+y—-11=0.
. . S - 3—-(-2 Lo
First we find the slope, which ism = Y2~ N _ (=2) = % = 1. Substituting into y — y; = m (x — Xq), we get
X2—X1  4-(-1)

y—-3=1x-4)oy-3=x—-4x—-y—-1=0.

ya—y1__—3-5 -8
X2 —X1 —1—-(-2) 1
intoy —y; =m(Xx —xq1),wegety —5=-8[x —(-2)] &y=—-8x—-11lor8x +y + 11 =0.
ya—y1 _ 7=7
X2 — X1 4—-1
y—y1=m(X-—x1),wegety—7=0(x—-1)oy=70ry—7=0.

ya—y1 _=3-0_ =3

= — = 3. Using the y-intercept
Xp—Xx1 0-1 -1 g fhe y P

We are given two points, (—2, 5) and (—1, —3). Thus, the slope ism =

= —8. Substituting

We are given two points, (1,7) and (4, 7). Thus, the slope ism = = 0. Substituting into

wehavey =3x + (=3)ory=3x —3o0r3x —y—-3=0.
Ya—y1 _ 6-0

= = 2 = . Using the y-intercept
Xo—x; 0—(-8) 8 4 gtney P

we have y = %x+6<:>3x —4y +24=0.

Since the equation of a line with slope 0 passing through (a, b) is y = b, the equation of this line is y = 3.

Since the equation of a line with undefined slope passing through (a, b) is x = a, the equation of this line is x = —1.

Since the equation of a line with undefined slope passing through (a, b) is x = a, the equation of this line is x = 2.

Since the equation of a line with slope 0 passing through (a, b) is y = b, the equation of this line isy = 1.

Any line parallel to y = 3x —5 has slope 3. The desired line passes through (1, 2), so substituting into y —y; = m (X — X1),
wegety —2=3x—-1)oy=3x—-1or3x—-y—-1=0.

. . 1 - o
Any line perpendicularto y = —%x + 7 has slope _T/Z = 2. The desired line passes through (-3, 2), so substituting

intoy —y; =m(X —xq1),wegety —2=2[x — (-3)]©&y=2x+8o0r2x —y+8=0.
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Since the equation of a horizontal line passing through (a, b) is y = b, the equation of the horizontal line passing through
(4,5)isy =5.

Any line parallel to the y-axis has undefined slope and an equation of the form x = a. Since the graph of the line passes
through the point (4, 5), the equation of the line is x = 4.

Sincex+2y=62y=-Xx+6cy= —%x + 3, the slope of this line is —%. Thus, the line we seek is given by

y—(-6)=—3(x-D)e2y+12=-x+1eXx+2y+11=0.

. Since 2x +3y +4 =03y = —2x —4 &y = —4x — %, the slope of this line is m = —%. Substituting m = —% and

b = 6 into the slope-intercept formula, the line we seek is given by y = —%x +6<2x+3y —18=0.
Any line parallel to x = 5 has undefined slope and an equation of the form x = a. Thus, an equation of the line is x = —1.

Any line perpendicular to y = 1 has undefined slope and an equation of the form x = a. Since the graph of the line passes
through the point (2, 6), an equation of the line is x = 2.

First find the slope of 2x + 5y +8 = 0. Thisgives2x + 5y +8 =05y = -2x -8 &y = —%x - %. So the

slope of the line that is perpendicular to 2x +5y +8 = 0ism = 255 = % The equation of the line we seek is

y—(-2)=3(x—(-1) &2y +4=5x+5&5x — 2y + 1 =0.

First find the slope of the line 4x —8y = 1. Thisgives4x —8y = 1< -8y = —4x+ 1oy = %x - %. So the slope of the

line that is perpendicular to 4x —8y = lism = 1 = —2. The equation of the line we seek is y — (—%) =— (x — %)

12
©y+3=-2x+1e6x+3y—-1=0.

1-5 —4
First find the slope of the line passing through (2, 5) and (-2, 1). This givesm = = 1= 1, and so the equation
of the linewe seekisy —7=1(x—-1) < x—-y+6=0.
s . . o -1-1 =2 1
. First find the slope of the line passing through (1, 1) and (5, —1). This givesm = 1 -1 -2 and so the slope
of the line that is perpendicular ism = _T/Z = 2. Thus the equation of the line we seekisy + 11 =2(x +2) &
2x—y—-7=0.
(a) y 52. (a) y

2, 1/

1 X

1
1 x
(4, -1)

(b)y—1:%(x—(—Z))@Zy—2:3(x+2)<:> b)y-(-)=-2x-4Heoy+l=-2x+8<
2y —2=3x+6<=3x -2y +8=0. 2X+y—-7=0.




53.

55.

57.

b=-1 8-
b=— \
b=-6 8
AN ¢
44 b=6
b=3
—8- b=1
thO

y =—-2x+b,b =0, £1, £3, 6. They have the same
slope, so they are parallel.

m=1.5

m=0.75

m=0.25
" T »m=0
2 8 m=—0.25

m=-0.75
m=-1.5

y=m(x —3),m =0, +£0.25, £0.75, £1.5. Each of the

lines contains the point (3, 0) because the point (3, 0)

satisfies each equation y = m (x — 3). Since (3, 0) is on

the x-axis, we could also say that they all have the same

x-intercept.

y =3 —X = —x + 3. So the slope is —1 and the
y-intercept is 3.

56.
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m=1.5

m=0.75

m=0.25
m=0

m=-0.25

m=-0.75

m=-1.5

y =mx — 3, m =0, +0.25, +0.75, +1.5. Each of the
lines contains the point (0, —3) because the point (0, —3)
satisfies each equation y = mx — 3. Since (0, —3) ison
the y-axis, they all have the same y-intercept.

m=-2
y=24+m(x+3),m=0, +0.5, +1, +2, +6. Each of
the lines contains the point (—3, 2) because the point
(=3, 2) satisfies each equation y = 2 4+ m (x + 3).

58.y = 4x — 2. So the slope is § and the y-intercept is —2.

¥
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59. —2x +y =7y =2x 4+ 7. So the slope is 2 and the 60.2x -5y =0 -by=-2x oy = %x. So the slope is

y-intercept is 7. £ and the y-intercept is 0.

y

61. 4x +5y:10<:>5y:—4x+10<:>y:—%x+2. So 62.3x —4dy =12 —4y=-3x+12cy = %x —3. S0
the slope is —2 and the y-intercept is 2. the slope is  and the y-intercept is —3.

y y

63. y = 4 can also be expressed as y = 0x + 4. So the slope is 64. x = —5 cannot be expressed in the formy = mx + b. So
0 and the y-intercept is 4. the slope is undefined, and there is no y-intercept. This is a
y vertical line.




slope is undefined, and there is no y-intercept. This is a
vertical line.

67. 5x + 2y — 10 = 0. To find x-intercepts, we set y = 0 and

solve forx: 5x +2(0) —10=0=5x =10 x = 2,50
the x-intercept is 2.

To find y-intercepts, we set x = 0 and solve for y:
50)+2y—10=0<2y =10y =5, s0the
y-intercept is 5.
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65. x = 3 cannot be expressed in the formy = mx +b. Sothe 66.y = —2 can also be expressed as y = 0x — 2. So the slope

is 0 and the y-intercept is —2.

y

68. 6x — 7y — 42 = 0. To find x-intercepts, we set y = 0 and

solve forx: 6x —7(0) —42=0<6x=42<x =7,%0
the x-intercept is 7.

To find y-intercepts, we set x = 0 and solve for y:
6(0)—7y—42=07y =—-42 <y = —6,s0the
y-intercept is —6.
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%x — %y + 1 =0. To find x-intercepts, we set y = 0 and

solveforx: 4x =2 (0 +1=0e x=-1lex=-2
so the x-intercept is —2.

To find y-intercepts, we set x = 0 and solve for y:

O -3y+1=0oiy=1ey=3sothe

y-intercept is 3.

y = 6x + 4. To find x-intercepts, we set y = 0 and solve
forx:0=6x+46x=—-4ox= —%,sothe
x-intercept is —3.

To find y-intercepts, we set x = 0 and solve for y:

y = 6(0) + 4 = 4, so the y-intercept is 4.

YA

70.

72.

X — £y —2 = 0. To find x-intercepts, we set y = 0 and
solve forx: 4x — £ (0) —2=0e x =2 x =6,50

the x-intercept is 6.
To find y-intercepts, we set x = 0 and solve for y:

10 -ty-2=0oty=-2oy=-10sothe
y-intercept is —10.

y = —4x — 10. To find x-intercepts, we set y = 0 and
solveforx:0=—-4x - 10 4x =-10=x = —g, S0
the x-intercept is —3.

To find y-intercepts, we set x = 0 and solve for y:

y = —4(0) — 10 = —10, so the y-intercept is —10.

YA

N :

To determine if the lines are parallel or perpendicular, we find their slopes. The line with equation y = 2x + 3 has slope 2.

The line with equation2y —4x —5=02y =4x+5oy =2X+ % also has slope 2, and so the lines are parallel.

To determine if the lines are parallel or perpendicular, we find their slopes. The line with equation y = %x + 4 has slope %

The line with equation2x +4y =14y =-2x -1y = —%x — 711 has slope —% #* —712, and so the lines are neither

parallel nor perpendicular.

To determine if the lines are parallel or perpendicular, we find their slopes. The line with equation —3x + 4y = 4 &

4y =3+4ey= %x+1hasslope %.The Iinewithequation4x+3y:54:)3y:—4x+54:>y:—%x+%has

4 _ _L . .
slope —3 = 34 and so the lines are perpendicular.

To determine if the lines are parallel or perpendicular, we find their slopes. The line with equation 2x — 3y = 10 &

3y =2x —10 &y = $x — 20 has slope 4. The line with equation 3y —2x —7 =03y =2x + 7 &y = x + § also

has slope % and so the lines are parallel.
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77. To determine if the lines are parallel or perpendicular, we find their slopes. The line with equation 7x — 3y = 2 &

78.

79.

80.

81.

82.

7_1

3y =7x —2 &y = {x — § hasslope 4. The line with equation 9y +21x = 1< 9y = —21x — 1y = —4 — § has

7 1 ; ; ;
slope —5 # —773 and so the lines are neither parallel nor perpendicular.

To determine if the lines are parallel or perpendicular, we find their slopes. The line with equation 6y — 2x = 5 <

By = 2x +5 &y = $X + 2 has slope 2. The line with equation 2y + 6x = 1< 2y = —6x — 1 &y = —3x — 5 has

slope —3 = —713, and so the lines are perpendicular.

We first plot the points to find the pairs of points that determine each side. Next we

4-1 1
find the slopes of opposite sides. The slope of AB is 1= g = and the

10-7 3 1 . .
= —. Since these slope are equal, these two sides

slope of DC is m =53

o 7-1 6 .
are parallel. The slope of AD is 1= - —3, and the slope of BC is
10-4 6
5—7 =2
Hence ABCD is a parallelogram.

= —3. Since these slope are equal, these two sides are parallel.

We first plot the points to determine the perpendicular sides. Next find the slopes of

3-(-1) 4 2

the sides. The slope of AB is -3 5= 3 and the slope of AC is

8—(-1) 9 3 .
- (3 6 2.Slnce
(slope of AB) x (slope of AC) = (%) (—%) = —1, the sides are perpendicular,

and ABC is a right triangle.

We first plot the points to find the pairs of points that determine each side. Next we

' L . 3-1 2 1
find the slopes of opposite sides. The slope of AB is 1-1-10-5 and the

. 6-8 -2 1 _. .
slope of DC is 0—10-"10=5 Since these slope are equal, these two sides

6-1 5

are parallel. Slope of AD is 1= 1= —5, and the slope of BC is

3-8 -5 . .
1-10-1 - —5. Since these slope are equal, these two sides are parallel.

Since (slope of AB) x (slope of AD) = % x (=5) = —1, the first two sides are

each perpendicular to the second two sides. So the sides form a rectangle.

Dr/ﬂc
i

™

1 x

-1
(8) The slope of the line passing through (1, 1) and (3, 9) is % = § = 4. The slope of the line passing through (1, 1)

5=
21-1 20

and (6, 21) is =5 = 4. Since the slopes are equal, the points are collinear.

6—-1
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. . Y 4 . .
(b) The slope of the line passing through (—1, 3) and (1, 7) is -0 =32~ 2. The slope of the line passing through

-1 2
. 15-3 12 . . .
(—1,3) and (4, 15) is m =z Since the slopes are not equal, the points are not collinear.
N . o (147 4-2
We need the slope and the midpoint of the line AB. The midpoint of AB is (T T) = (4, 1), and the slope of
. -2-4 —6 . . . -1 -1 .
ABism = =1 =% = —1. The slope of the perpendicular bisector will have slope —=3= 1. Using the

point-slope form, the equation of the perpendicular bisectorisy —1=1(x —4)orx —y —3 =0.

. We find the intercepts (the length of the sides). When x = 0, we have 2y +3(0) — 6 =0 < 2y = 6 < y = 3, and when

y =0, we have 2 (0) + 3x — 6 = 0 < 3x = 6 < x = 2. Thus, the area of the triangle is % 3) () =3.

. . . . . b-0 b .
(a) We start with the two points (a, 0) and (0, b). The slope of the line that contains them is 0=a- & So the equation

of the line containing them isy = —gx + b (using the slope-intercept form). Dividing by b (since b # 0) gives

Yy x X .y

Yo XX Y

b a+ <:>a+b
(b)Settinga:6andb:—8,weget%+L8:1<:>4x—3y:24<:>4x—3y—24:0.

(a) The line tangent at (3, —4) will be perpendicular to the line passing through the points (0, 0) and (3, —4). The slope of
_34__00 = —g. Thus, the slope of the tangent line will be — (_:/ 3 = g Then the equation of the tangent
lineisy — (—4) =3 (x —3) ©4(y+4) =3(x —3) & 3x —4y —25=0.

(b) Since diametrically opposite points on the circle have parallel tangent lines, the other point is (—3, 4).

this line is

(a) The slope represents an increase of 0.02° C every year. The T -intercept is the average surface temperature in 1950, or
15° C.
(b) In 2050, t = 2050 — 1950 = 100, so T = 0.02(100) + 15 = 17 degrees Celsius.

(8) The slope is 0.0417D = 0.0417 (200) = 8.34. It represents the increase in dosage for each one-year increase in the
child’s age.
(b) Whena =0,c =8.34(0 + 1) = 8.34 mg.

(a) y (b) The slope, —4, represents the decline in number of spaces sold for
each $1 increase in rent. The y-intercept is the number of spaces at
200 the flea market, 200, and the x-intercept is the cost per space when the
manager rents no spaces, $50.

100

20 40 60 80 100 X
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90. (a) y (b) The slope is the cost per toaster oven, $6. The y-intercept, $3000, is
the monthly fixed cost—the cost that is incurred no matter how many
10,000 toaster ovens are produced.
5000
500 1000] x
91. (a) (b) Substituting a for both F and C, we have
C | —-30° | —20° | —10° | 0° | 10° | 20° | 30°
a=la+Re-ta=Rc
F | —22° | —4° 14° | 32° | 50° | 68° | 86°
a = —40°. Thus both scales agree at
—40°.
th—1t1 80—70 10

5
= —. So the linear

92. (a) Using n in place of x and t in place of y, we find that the slope is =

np—n; 168—120 48 24

equation ist — 80 = 5 (n — 168) <>t — 80 = N — 35 & t = 2N +45.

(b) When n = 150, the temperature is approximately given by t = 2—54 (150) + 45 = 76.25° F ~ 76° F.

93. (&) Using t in place of x and V in place of y, we find the slope of the line  (b)
using the points (0, 4000) and (4, 200). Thus, the slope is
200 — 4000  —3800
T 4-0 T 4
linear equation is V. = —950t + 4000.

= —950. Using the V -intercept, the

(c) The slope represents a decrease of $950 each year in the value of the
computer. The V -intercept represents the cost of the computer.

(d) When t = 3, the value of the computer is given by
V = —950 (3) + 4000 = 1150.

. change in pressure 4.34 .
94. (a) We are given 10 feet change in depth — 10 0.434. Using P for (b)
pressure and d for depth, and using the point P = 15 whend = 0, we

have P —15=10.434(d — 0) & P = 0.434d + 15.

(c) The slope represents the increase in pressure per foot of descent. The
y-intercept represents the pressure at the surface.
(d) When P = 100, then 100 = 0.434d + 15 < 0.434d = 85 &

d = 195.9 ft. Thus the pressure is 100 Ib/in3 at a depth of
approximately 196 ft.

4000

3000

2000

1000

60

50

40

30

20

10 1 20 | 30 | 40 50 | 60 x

95. The temperature is increasing at a constant rate when the slope is positive, decreasing at a constant rate when the slope is

negative, and constant when the slope is 0.
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96. We label the three points A, B, and C. If the slope of the line segment AB is equal to the slope of the line segment BC,
then the points A, B, and C are collinear. Using the distance formula, we find the distance between A and B, between B
and C, and between A and C. If the sum of the two smaller distances equals the largest distance, the points A, B, and C are
collinear.

Another method: Find an equation for the line through A and B. Then check if C satisfies the equation. If so, the points are
collinear.

1.4 SOLVING QUADRATIC EQUATIONS

) —b + Vb2 — 4ac
1. (@) The Quadratic Formula states that x = -
(b) In the equation %xz —Xx—4=0a= % b = —1, and ¢ = —4. So, the solution of the equation is
(= _Nn2_a(i) -
v+ fe2-a() oL,
X = = = -=2o0r4.

1 1
2(3)
2. (a) To solve the equation x2 — 4x — 5 = 0 by factoring, we write X2 — 4x —5 = (x — 5) (X + 1) = 0 and use the
Zero-Product Property to get x =50or x = —1.

2
(b) To solve by completing the square, we add 5 to both sides to get x2 — 4x = 5, and then add (—%) to both sides to get
X2 —4x4+4=5+4(x—-22=9x—-2=43cx=50rx = —1.

(c) To solve using the Quadratic Formula, we substitute a = 1, b = —4, and ¢ = —5, obtaining
— (-4 +/(-42-4Q) (-5
X = 4 (Z(i) W )=4i2\/%=2j:34:)x=50rx=—1.

3. For the quadratic equation ax2 + bx + ¢ = 0 the discriminant is D = b2 — 4ac. If D > 0, the equation has two real
solutions; if D = 0, the equation has one real solution; and if D < 0, the equation has no real solution.

4. There are many possibilities. For example, x2 = 1 has two solutions, x2 = 0 has one solution, and x2 = —1 has no
solution.

.x2—8x+15:0<:>(x—3)(x—5):0(:)X—3:00rx—5:O.Thus,x:30rx:5.

X2 45X +6=0(X+3)(x+2)=0&x+3=00rx+2=0. Thus,x = =3 0rx = —2.

X2 —x=6ox2—-x—-6=0(X+2)(x—-3)=0cx+2=00rx —3=0. Thus, x = —2 or x = 3.

X2 —dx=21ox2—4x-21=0 (X +3)(x—7) =0 x+3=00rx —7=0. Thus, x = =3 0rx = 7.

. 5x2—9x —2=0&Bx+1)(x—2)=0=5x+1=00rx —2 =0. Thus,x:—% orx =2.

10. 6x2 —x —12=0¢ (3x +4)(2x —3) =0 3x +4=00r2x —3=0. Thus, x = —3 or x = 3.

11 282 =55 +3 252 =55 —3 =0 (25 +1) (s —3) =0 2s+1=00rs — 3 =0. Thus,s = —3 ors = 3.

12. 4y2 9y =284y —9y —28 =0 4y +7) (y—4) =04y +7=00ry —4=0.Thus,y = —F or y = 4.
13. 1222—442:45(:)1222—442—45:0(:)(62+5)(22—9):O@Gz+5:Oor22—9:O.Thus,z:—%orz:%.
14. 4w = 4w+ 34w’ —4w-3=0= Qu+1)2w—-3)=0=2w+1=00r2w —3=0. If 2w+ 1 = 0, then

w:—%;iwa—3:0,thenw:%.

© 0N o U

15. X2 =5(x + 100) & x2 = 5x 4 500 < x2 —5x —500 = 0 < (X — 25) (X +20) = 0 < x — 25 = 0 or X + 20 = 0. Thus,
X =250rx = —20.
16. 6x (X —1) =21 —x < 6x2 —6x =21 —x < 6x2 —5x—21 =0 (2x+3)(3x —7) =0=2x+3=00r3x -7 =0.

If 2x +3=0,thenx=—%;if3x—7=0,thenx=%.
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X2 —8x+1=0x2-8x=-1ox2-8x+16=-1+16(x—-4°2=15x-4=+/16x =4+ /15
X246x—2=0x2+6x=2x2+6x+9=24+9= (x+3)°2=1lox+3=4+/I1l o x = -3+ /11
X2 —6x —11=0=x2—6x=11x2-6x+9=1149= (x—3)2=20=>x —3=42/5<x =3+2.5.

2
x2+3x—%:O@x2+3x:%@x2+3x+%=%+%@(x+%) =V _s4sx+d=t2ex=-3+2&

_ 1 _
x=sorx=-%

3 2
x2+x—%:O<:>x2+x—Z<:>x2+x+%:%+%<:>(x+%) :1:x+%:j:1<:>x:—%il.80
_ 1 _4_ 3 141
X=—5—-l=-50x=-5+1=3.

2
x2—5x+1:O<:>x2—5x:—1<:>x2—5x+2745:—1+27?<:)(x—%) :%:x—%:i,/%:i—vzﬂ@
_5 V21
X—E:I:T.

X2+ 2x+21 =0 x2 +22x = -2l & x2 +22x + 112 = —21 4112 = 21 + 121 & (x + 11)2 = 100 =
X+11 =410 x = —-11+10. Thus,x = —=1lorx = —-21.

X2 —18x =19 x2 —18x + (—9)2 =19+ (—9)2 =19+ 81 & (x — 9)2 =100 = x — 9 = £10 &< x = 9 + 10, S0
x =-=1lorx =19.

5x2+10x — 7 =0 x?+2x -~ § =02+ x=feoxl+x+1=f+lox+12=Roxt1=+ /2
<:>x:—1i2—*éE

2% +16x +5=0x2+8x+3 =0x2+8 =-3 X’ +8k+16=-3+16 = (x+4? =2 o
x+4=i\/§@x=—4i#.

2
2x2+7x+4:0<:>x2+%x+2:O@x2+%x:—2@x2+%x+%:—2+%@(x+%) =He
7 /17 7. /1
X+Z=ﬂ: E@X=—z:|:24c

2
2 — 2.5 — 2.5y — 2,.5,,.25_9, 25 5\ _ 153 5_ 4 /153
AX“+5Xx—8=0X"+7Xx-2=0X"+3X =26X +Zx+m_2+6—@(x+g) =5 ©X+g=*/ %

_ _5,3/17
S X = 8:i: g -

X2 —8x+12=0(x—2)(x—6) =0 x =20rx = 6.
x2—3x—18=0& (X+3)(Xx—6) =0 x =—30rx =6.
x24+8x—20=0& (X+10)(x —2) =0 x = —100rx = 2.
10x2+9x—7=0Gx+7)(2x-1) =0 x=—Lorx = 3.
2x2—|—x—3=0<:>(x—1)(2x+3)=0<:>x—1=00r2x+3=0. Ifx —1=0,then x = 1;if 2x + 3 = 0, then

=3
X=—3.

.3x2+7x+4=0(:>(3x+4)(x+1)=0<:>3x+4=00rx+1=0. Thus,x:—% orx =—1.

w2 rex—5=0ox2+2x-3=0ox+x=3oxl+u+1=F+lox+l=ox+1=-x/Fo

x=—1i2—5/6.
2 — 6x + 1 = 0 =
—b+vb2—dac —(-6)£ /(62 —-4)(A) 6+36-4 6+32 6+42

X2 —3x+§=00% —12x+4=03x-2?=0=x=%.
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38.

39.

40.

41.

42.

43.

45.

46.

47.

48.

49.

L 25X2 + 70X +49 =0 (B5Xx+7)2 =05x+7T=05x=—T o X = —

CHAPTER 1 Equations and Graphs

_ —b+vb?-dac -6+ 62-4(4)(-1) —-6++52 3+13
- 2a - 2(4) - 8 - 4
42 4+16x—9=0(2x - 1) (2x +9) =0 2x —1=00r2x +9=0. If2x =1 =0, then x = 3; if 2x +9 =0, then

2X2+3x—3 =0 4x2+6x—1 =0 & X

x=-3.
0 = x2 —4x +1 = 0 =
—b + /b2 — 4ac —(—4)i\/(—4)2—4(1)(1) 4+ ./16—4 4+J12 4423
X = = = = = =24+ .3
2a 2(1) 2 2 2
—(=3)+,/(-32-41)@3 B—10 —
w=3w-1)eow -3w+3=0=>w= =3 (2(1; ()()=3i 29 12=3i;/_3.5incethe

discriminant is less than 0, the equation has no real solution.

—bxVb2—dac -O)E/E*-40)B) 5+/B-12 -5+/B3

2a 2(1) - 2 2

34574722 =0=7=

10y2 — 16y +5=0=

X_—bi\/b2—4ac_—(—16)i\/(—16)2—4(10)(5)_16j:«/256—200_16j:«/§_8i«/ﬁ
B 2a B 2(10) B 20 -2 10

(S BN

242X +2=0=X = . Since the

—btV/b2—dac -@EJ@°-4Q) Q) —2+F-24 —2+720
2a - 2(3) - 6 - 6
discriminant is less than 0, the equation has no real solution.

—bxvhZ—dac -~ (DEJ(N-4B)6) 7+ /100 7+ /51
2a - 2(5) - 10 10
Since the discriminant is less than 0, the equation has no real solution.

x2 —0.011x — 0.064 = 0 =

(o J o0+ \/ (~0.011)? — 4(1) (~0.064) 0,011 + /0.000121 + 0.256 _ 0.011 + 0.506
- 2(1) - 2 - 2 '
0.011 4 0.506 _0.011 - 0.506

Thus, x ~ ———— = 0.259 or X
2 2

X% — 2.450x + 1.500 = 0 =
_ —(=2.450) + \/ (=2.450)? — 4 (1) (1500) 2,450 + \/6.005—6 _ 2.450 +/0.0025  2.450  0.050

5x2 —7X 4+ 5= X =

= —0.248.

. Th
200) 2 2 2 us
2.4 ) 2.450 — 0.
X = M =12500rx = M = 1.200.
2 2
x2 — 2.450x 4 1.501 = 0 =
(o (20 + \/ (—2.450)2 — 4 (1) (L501)  2.450 + /6.0025 —6.004 _ 2.450 + \/—0.0015
- 2(1) - 2 - 2 '
Thus, there is no real solution.
. x2 —1.800x +0.810 =0=
— (—1.800) =+ ,/(—1.800)2 — 4 (1) (0.810 -
‘= ( ) \/( o ) D ( ) _ 1.8001«/2.24 324 1.800;«/6 _ 0,900, Thus the only

solution is x = 0.900.
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h = 30t + oot & 30t + oot —h = 0. Using the Quadratic Formula,
—(vo)ﬂt/(vo)2 —4(39) (=h) —vg £ ,/v2 + 2gh
o ) e
2(39) 0
S = M 25 =nP+neoen?+n-25 = 0. Using the Quadratic Formula,
C-lEJ@O2P-40) (=29 1+ /TF85
200 2 '
A = 2x2 + 4xh < 2x2 + 4xh — A = 0. Using the Quadratic Formula,

2(2)

—(@h) /(@42 —4@ (-A)  —ah+/16h7+8A 4= 442 +2A)  _gh42./a07 5 2A
4 N 4 B 4

4

2 (—2h +/4n7 1 2A) _oh /a2 1 2A
2

A = 2nr?2 + 2nrh o 2712 4+ 2arh — A = 0. Using the Quadratic Formula,

_—@mh) = J@uh —4@m) (<A) _ —axh+ /ax?h 4 BrA _ —h+ \/x2h2 1 2A
B 2 (2m) B 4r B 27 '

! ! —1@c(s+b)+c(s+a):(s+a)(s+b)<:>cs+bc+cs+ac:sz+as+bs+ab<:>

St =
s+a s+b ¢

s2 4+ (a+b—2c)s + (ab — ac — bc) = 0. Using the Quadratic Formula,

—(a+b—2c) % /(@+b—20) — 4(1) (ab — ac — be)
S =

2(1)
—(a+b—2c)++a? + b2+ 4c2 + 2ab — 4ac — 4bc — 4ab + 4ac + 4bc
- 2
—(@a+b—2c)++a2+hb2+4c2 —2ab
B 2
1 2 4 2 1 2 9 4 2 2 2
r+1—r_r2@r 1 r)(r+1_r)_r 1 r)(rz)@r(l N+2rce=4(1—-ryer—rc4+2rc=4—4r
)+ -4M)(-4) —5+25116 -5+4l

<12 4 5r — 4 = 0. Using the Quadratic Formula, r = PXeN) = 5 5

D = b2 — 4ac = (—6)2 — 4 (1) (1) = 32. Since D is positive, this equation has two real solutions.

x2 =6x —9 < x2 —6x +9,50 D = b2 — 4ac = (—6)2 — 4 (1) (9) = 36 — 36 = 0. Since D = 0, this equation has one
real solution.

D = b2 — 4ac = (2.20)2 — 4 (1) (1.21) = 4.84 — 4.84 = 0. Since D = 0, this equation has one real solution.

D =hb?—4ac= (2.21)2 —4(1)(1.21) = 4.8841 — 4.84 = 0.0441. Since D # 0, this equation has two real solutions.
D =b2 —4ac = (5)2 — 4 (4) (%”) = 25— 26 = —1. Since D is negative, this equation has no real solution.

D =b? —4ac = (r)2 —4() (-s) = r2 4 4s. Since D is positive, this equation has two real solutions.

1
.a?x?24+2ax+1=0(ax+1)2 =0 ax+1=0. Soax+1=0thenax = —1lex =—=.

Lax?—(a+1)x+@+1l)=0ofax—(@+1)](x—1)=0cax—(@a+1)=00rx —1=0. Ifax — (a+1) =0,

thenx:aTH;ifx—lzo,thenx:l.
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We want to find the values of k that make the discriminant 0. Thus k2 — 4 (4) 25) =0 k? = 400 < k = £20.
We want to find the values of k that make the discriminant 0. Thus D = 362 — 4 (k) (k) = 0 < 4k? = 362 = 2k = +36 <
k = +18.

Let n be one number. Then the other number must be 55 — n,since n + (55 —n) = 55. Because
the product is 684, we have (n) (55 —n) = 684 <> 55n — n? = 684 < n? —55n 4+ 684 = 0 =

N = —(=55)+\/(-55)?~4(1))(684) _ 554 /30705-2736 _ 554,289 _ 55417 Son = 55417 _ 72 _ 36 or
= 200) = 2 =2z =2 ="z =72 =

% = 19. In either case, the two numbers are 19 and 36.

_ 55-17 _
n=="%"—=

Let n be one even number. Then the next even number is n + 2. Thus we get the equation n2 + (n +2)2 = 1252 <
n2+n24+4n+4=1252<0=2n%+4n —1248:2(n2+2n—624) =2(n—24)(n+26). Son =240rn = —26.
Thus the consecutive even integers are 24 and 26 or —26 and —24.

Let w be the width of the garden in feet. Then the length is w + 10. Thus 875 = w (w 4 10) < w? + 10w — 875 = 0 &
(w4 35) (w — 25) = 0. So w + 35 = 0 in which case w = —35, which is not possible, or w — 25 = 0 and so w = 25.
Thus the width is 25 feet and the length is 35 feet.

Let w be the width of the bedroom. Then its length is w + 7. Since area is length times width, we have
228=(w+TNw=wl+Tw e w?+Tw—-228=0 (w+19) (w—-12) =0 = w +19 =0 or w — 12 = 0. Thus
w = —19 or w = 12. Since the width must be positive, the width is 12 feet.

Let w be the width of the garden in feet. We use the perimeter to express the length | of the garden in terms of width. Since
the perimeter is twice the width plus twice the length, we have 200 = 2w + 2l < 2l =200 — 2w < | = 100 — w. Using
the formula for area, we have 2400 = w (100 — w) = 100w — w? & w? — 100w + 2400 = 0 < (w — 40) (w — 60) = 0.
Sow—-40=0w=40,0rw—60 =0 w = 60. If w =40, then] = 100 — 40 = 60. And if w = 60, then

| =100 — 60 = 40. So the length is 60 feet and the width is 40 feet.

First we write a formula for the area of the figure in terms of x. Region A has x

dimensions 14 in. and x in. and region B has dimensions (13 + x) in. and x in. So win

the area of the figure is (14 - x) + [(13 + x) x] = 14x + 13x + x2 = x2 4 27x. We A i

are given that this is equal to 160 in?, s0 160 = x2 + 27x <> x2 + 27x — 160 = 0 T .

< (X +32) (x = 5) & x = =32 or x = 5. x must be positive, so x =5 in.

The shaded area is the sum of the area of a rectangle and the area of a triangle. So A =y (1) + % OIVE %yz +y. We
are given that the area is 1200 cm?, so 1200 = %y2 +y e y? 42y —2400 =0 o (y +50) (y — 48) = 0. y is positive, so
y =48 cm.

Setting P = 1250 and solving for x, we have 1250 = #;x (300 — x) = 30x — 5x? & %% — 30x + 1250 = 0.

—(-30)+ \/ (302 -4(45) 1250 30, or=BE 30420

Using the Quadratic Formula, x = = = . Thus
2 ( & ) 0.2 0.2
30—-20 30+ 20 .
X = 02 = 50 0r x = O—+2 = 250. Since he must have 0 < x < 200, he should make 50 ovens per week.

Let x be the length of one side of the cardboard, so we start with a piece of cardboard x by x. When 4 inches are
removed from each side, the base of the box is x — 8 by x — 8. Since the volume is 100 in3, we get 4 (x — 8)2 = 100 <
X2 — 16X +64 =25 x2 —16x +39 =0 (X — 3) (x —13) = 0. So x = 3 or x = 13. But x = 3 is not possible, since
then the length of the base would be 3 — 8 = —5, and all lengths must be positive. Thus x = 13, and the piece of cardboard
is 13 inches by 13 inches.
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76. Let r be the radius of the can. Now using the formula V = 7rr2h with V = 407 cm3 and h = 10, we solve for r. Thus
407 = 7r? 10) 4 = rZ=r =42 Sincer represents radius, r > 0. Thus r = 2, and the diameter is 4 cm.

77. Let w be the width of the lot in feet. Then the length is w + 6. Using the Pythagorean Theorem, we have
w2 + (w+6)2 = (174)2 & w? + w? + 12w + 36 = 30,276 © 2w? + 12w — 30240 = 0 < w2 + 6w — 15120 = 0 &
(w + 126) (w — 120) = 0. So either w + 126 = 0 in which case w = —126, which is not possible, or w — 120 = 0 in
which case w = 120. Thus the width is 120 feet and the length is 126 feet.

78. Let h be the height of the flagpole, in feet. Then the length of each guy wire is h + 5. Since the distance
between the points where the wires are fixed to the ground is equal to one guy wire, the triangle is equilateral,
and the flagpole is the perpendicular bisector of the base. Thus from the Pythagorean Theorem, we get

1 2 2 2 2 2 2 2
[§(h+5)] +h2 = (h+5)2 < h? 4 10h + 25 + 4h2 — 4h2 4 40h + 100 <> h2 —30h — 75 = 0 =

—(—30)£,/(~30)2—4(1)(-75 . N
P Gl (2(1)) DTS 30i«/9200+300 _ 30i«2/1200 _ 30%0\@ Since h = 30—%0¢§ < 0, we reject it. Thus

the height is h = 304208 _ 15 10/3 ~ 32.32 ft ~ 32 ft 4 in.

79. Let x be the rate, in mi/h, at which the salesman drove between Ajax and Barrington.

Direction Distance Rate Time
. . 120
Ajax — Barrington 120 X ~
. . 150
Barrington — Collins 150 x + 10
X 410
N distance | _ . . . . .
We have used the equation time = to fill in the “Time” column of the table. Since the second part of the trip
. 1 ) . . 120 1 150
took 6 minutes (or 5 hour) more than the first, we can use the time column to get the equation — + — = —— =
X 10 x+10

120 (10) (X + 10) + X (X + 10) = 150 (10x) > 1200x + 12,000 + x2 + 10x = 1500x < x2 — 290X + 12,000 = 0 &

—(—290),/ (—290)2—4(1)(12,000 /84.100—48,000
y — —20 / ( 2) ax ) _ 290+ 84,]200 48,000 _ 290:I:\2/36,100 — 2904190 _ 145 + 95, Hence, the salesman

drove either 50 mi/h or 240 mi/h between Ajax and Barrington. (The first choice seems more likely!)

80. Let x be the rate, in mi/h, at which Kiran drove from Tortula to Cactus.

Direction Distance Rate Time
250
Tortula — Cactus 250 X ~
Cactus — Dry Junction 360 X+ 10 360
v X + 10
. distance _— . .
We have used time = to fill in the time column of the table. We are given that the sum of
. . . 250 360
the times is 11 hours. Thus we get the equation ~ + X410 11 < 250 (x 4+ 10) + 360x =

11X (X + 10) & 250x + 2500 + 360x = 11x2 + 110x & 11x2 — 500x — 2500 = 0 =

(o 00+ \/ (~500)% — 4 (11) (~2500) 500 + ,/250,000 + 110,000 _ 500 + /360,000 _ 500 = 600
B 2(11) B 22 B 22 S22
Kiran drove either —4.54 mi/h (impossible) or 50 mi/h between Tortula and Cactus.

Hence,
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Let r be the rowing rate in km/h of the crew in still water. Then their rate upstream was r — 3 km/h, and their rate
downstream was r + 3 km/h.

Direction Distance | Rate Time
6

Upstream 6 r-3 | —

P r—3
6

Downstream 6 r+3 | —

r+3

Since the time to row upstream plus the time to row downstream was 2 hours 40 minutes = % hour, we get the equation

%er =2@6(3)(r+3)+6(3)(r—3)=8(r—3)(r+3)4:>18r+54+18r—54=8r2—72<:>

0:8r2—36r—72:4(2r2—9r—18) —4Qr+3)(r—6)2r+3=00rr —6=0. f2r +3=0,thenr = —3,
which is impossible because the rowing rate is positive. If r —6 = 0, then r = 6. So the rate of the rowing crew in still
water is 6 km/h.

Let r be the speed of the southbound boat. Then r 4 3 is the speed of the eastbound boat. In two hours the southbound boat
has traveled 2r miles and the eastbound boat has traveled 2 (r 4+ 3) = 2r + 6 miles. Since they are traveling is directions

with are 90° apart, we can use the Pythagorean Theorem to get (2r)2 + (2r + 6)2 = 302 < 4r2 4 4r2 + 24r + 36 = 900
& 8r2 4 24r — 864 = 0@8(r2+3r—108) =0o8(r+12)(r—9)=0.Sor = —120rr = 9. Since speed is
positive, the speed of the southbound boat is 9 mi/h.

Using hg = 288, we solve 0 = —16t2 + 288, fort > 0. S0 0 = —16t2 + 288 < 16t2 = 288 < t2 = 18 =

t = +4/18 = £3/2. Thus it takes 3+/2 & 4.24 seconds for the ball the hit the ground.

. (a) Using hg = 96, half the distance is 48, so we solve the equation 48 = —16t2 + 96 < —48 = —16t2 = 3 =12 =

t = +4/3. Since t > 0, it takes +/3 &~ 1.732 s.

(b) The ball hits the ground when h = 0, s0 we solve the equation 0 = —16t2 + 96 <> 16t2 = 96 < t2 = 6 = t = +/6.
Sincet > 0, it takes +/6 ~ 2.449 s,

We are given vg = 40 ft/s.

(a) Setting h = 24, we have 24 = —16t2 + 40t < 16t2 — 40t +24 =0 < 8 (2t2 —5t +3) =0=8@2t—-3)(t—-1)=0

ost=1lort = 1%. Therefore, the ball reaches 24 feet in 1 second (ascending) and again after 1% seconds
(descending).
(b) Setting h = 48, we have 48 = —16t2 4+ 40t < 16t2 — 40t + 48 = 0= 2t2 —5t + 6 = 0 &
_ 5+425-48 544/-23
4

4
never reaches a height of 48 feet.

t . However, since the discriminant D < 0, there is no real solution, and hence the ball

(c) The greatest height h is reached only once. So h = —16t2 + 40t <> 16t2 — 40t 4+ h = 0 has only one solution. Thus
D= (—40)2—-4 (16) (h) = 0 < 1600 — 64h = 0 < h = 25. So the greatest height reached by the ball is 25 feet.

(d) Setting h = 25, we have 25 = —16t2 + 40t < 16t% — 40t + 25 = 0 & (4t —5)2 = 0 &> t = 17. Thus the ball
reaches the highest point of its path after 1% seconds.

(e) Setting h = 0 (ground level), we have 0 = —16t2 4+ 40t < 2t2 —5t =0 <t (2t —5) =0<t =0 (start) or t = 2%.
So the ball hits the ground in 25 s.

If the maximum height is 100 feet, then the discriminant of the equation, 16t2 — vot + 100 = 0, must equal zero. So

0 = b? — 4ac = (—00)? — 4 (16) (100) & 2 = 6400 = vo = +80. Since vo = —80 does not make sense, we must have
vo = 80 ft/s.
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(a) The fish population on January 1, 2002 correspondstot = 0, so F = 1000 (30 + 17 (0) — (0)2) = 30, 000. To find
when the population will again reach this value, we set F = 30, 000, giving
30000 = 1000 (30 + 17t — t2) = 30000 + 17000t — 1000t2 <> 0 = 17000t — 1000t2 = 1000t (17 —t) <t = 0 or
t = 17. Thus the fish population will again be the same 17 years later, that is, on January 1, 2019.

(b) Setting F = 0, we have 0 = 1000 (30+17t —t2) St2 -1t -30 = 0 =

t = 17+ 2i9+120 = 17+ 2409 = 17 i220'22. Thust ~ —1.612 ort ~ 18.612. Since
t < 0is inadmissible, it follows that the fish in the lake will have died out 18.612 years after January 1, 2002, that is on

August 12, 2020.

Let y be the circumference of the circle, so 360 — y is the perimeter of the square. Use the circumference to find the
radius, r, interms of y: y = 271 = r = y/ (2m). Thus the area of the circle is 7 [y/ (271')]2 = y2/ (47). Now if the
2
perimeter of the square is 360 — y, the length of each side is % (360 — y), and the area of the square is [% (360 — y)] .
2
Setting these areas equal, we obtain y2/ (4x) = [% (360 — y)] ey/(2ym) = % (360 — y) & 2y = 360/ — /7Yy

& (2+ /m)y =360,/ Therefore, y = 360/7/ (2 + /m) ~ 169.1. Thus one wire is 169.1 in. long and the other is
190.9 in. long.

Let w be the uniform width of the lawn. With w cut off each end, the area of the factory is (240 — 2w) (180 — 2w). Since
the lawn and the factory are equal in size this area, is % - 240 - 180. S0 21,600 = 43,200 — 480w — 360w + 4w?

0 = 4w? — 840w + 21,600 = 4 (w2 — 210w + 5400) =4 (w — 30) (w — 180) = w = 30 or w = 180. Since 180 ft is too
wide, the width of the lawn is 30 ft, and the factory is 120 ft by 180 ft.

2 2
. Let h be the height the ladder reaches (in feet). Using the Pythagorean Theorem we have (7%) +h2 = (19%) =

2 2 2 2
15 2 39 2 39 15 1521 225 _ 1296 __ — ./ —

Let t be the time, in hours it takes Irene to wash all the windows. Then it takes Henry t + % hours to wash all

the windows, and the sum of the fraction of the job per hour they can do individually equals the fraction of the

9 11 1

job they can do together. Since 1 hour 48 minutes = 1 + 2—8 =1+ % = £, we have n + t—3 =5 ©
+35. 2

2
T +m = g = 9(2t +3) +2(9t) = 5t (2t + 3) < 18t + 27 + 18t = 10t2 + 15t < 10t2 — 21t — 27 = 0
‘ —(—21)i\/ (=21 —4(10) (=27) 21+ /AT 1080  21+39 sop_ 2% _ 9
N 2(10) N 20 20 20 10
21+39 . . . . . .
ort = 0 = 3. Since t < 0 is impossible, all the windows are washed by Irene alone in 3 hours and by Henry alone in

3+ % = 4% hours.

Let t be the time, in hours, it takes Kay to deliver all the flyers alone. Then it takes Lynn t + 1 hours to deliver all the flyers

1 1 1 1 1
alone, and it takes the group 0.4t hoursto doittogether. Thus 2+ =4+~ = = < 1 (0.4t)+= (0.4)+—— (0.4t) =1
group g sty e~ oa © 4 A+ 04D+ 04

4t
<:>t+4+t+—l =10ett+D)+4t+D)+4t=100t+1) St2+t4+4t+4+4t=10t+10t?-t—-6=0c
t—3)(t+2)=0.Sot =3o0rt =-2. Sincet = —2 is impossible, it takes Kay 3 hours to deliver all the flyers alone.
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. Let x be the distance from the center of the earth to the dead spot (in thousands of miles). Now setting
K 0.012K K 0.012K
F =0, we have 0 = +— o = — o K(239—-x)2 = 0.012Kx? &

Tx2 T (239-x)2 X2 (239 — x)2
57121 — 478x + x2 = 0.012x2 < 0.988x2 — 478x + 57121 = 0. Using the Quadratic Formula, we obtain

—(~478)=/(~478)° ~40.988) 57121) _ 4784 /7PBAGA—FP5TAZISE _ 478 /OTALE . AT8L52.362 -
X= 2(0.989) = 1.976 = HOES L0 ~ A0ESS02 ~ 241,903 26.499.

So either x & 241.903 4 26.499 ~ 268 or x ~ 241.903 — 26.499 ~ 215. Since 268 is greater than the distance from the
earth to the moon, we reject it; thus x ~ 215,000 miles.
If we have x2 —9x + 20 = (X —4) (x —5) =0, then x =4 or x =5, so the roots are 4 and 5. The product is 4-5 = 20, and
thesumis4+5=9. Ifwehavex2 —2x —8 = (X — 4) (X + 2) =0,thenx =4 or x = —2, so the roots are 4 and —2. The
product is 4- (—2) = —8, and the sum is 4+ (—2) = 2. Lastly, if we have x2+4x +2 = 0, then using the Quadratic Formula,
4+ /82 -4(1)(2) -4+B -4+22
2(1) 2 2
product is (—2 - ﬁ) . (—2 + ﬁ) =4 —2=2,and the sum is (—2 - ﬁ) + (—2 + ﬁ) = —4. Ingeneral, ifx =rq
and x = ry are roots, then x2 +bx +¢ = (X — 1) (X — rp) = X2 — r{X — FoX +r1rp = X2 — (r1 + ) X + r1ro. Equating
the coefficients, we getc =rqrp andb = — (ry +ro).
Let x equal the original length of the reed in cubits. Then x — 1 is the piece that fits 60 times along the length
of the field, that is, the length is 60 (x — 1). The width is 30x. Then converting cubits to ninda, we have
375=60(x—1)-30x.1—§2 =2x(x-1)©30=x>-xex>-x-30=0& (X —6)(x +5)=0.Sox = 6or
x = —5. Since x must be positive, the original length of the reed is 6 cubits.

we have x = = —2++/2. Theroots are —2 — /2 and —2 + +/2. The

1.5 COMPLEX NUMBERS

w

~N O O b

11
13.
15.
17.
19.
21.

2

w

. The imaginary number i has the property that i2 = —1.
. For the complex number 3 + 4i the real part is 3 and the imaginary part is 4.

. (@) The complex conjugate of 3 + 4i is 3+ 4i =3 — 4i.
(b) B+4i)(B+4)=32+4=25

. 1f 3 4+ 4i is a solution of a quadratic equation with real coefficients, then 3 + 4i = 3 — 4i is also a solution of the equation.
. Yes, every real number a is a complex number of the form a + 0i.
. Yes. For any complex number z, z + Z = (a 4 bi) 4 (a + bi) = a 4 bi +a — bi = 2a, which is a real number.
. 5 —7i: real part 5, imaginary part —7. 8. —6 + 4i: real part —6, imaginary part 4.
_23_ o = —% - %i: real part -2 imaginary part —%. 10. 4+T7i= 2+ %i: real part 2, imaginary part %
3: real part 3, imaginary part 0. 12. —%: real part —%, imaginary part 0.
—%i: real part 0, imaginary part —%. 14. i+/3: real part 0, imaginary part +/3.
V34 /=4 = /34 2i: real part /3, imaginary part 2. 16.2 — /=5 = 2 — i+/5: real part 2, imaginary part —/5.
B+4+2i)+5=34+@2+5)i=3+7i 18.3i —(2-3i)=-2+[3—-(-3)]i =—-2+6i

G=3)+(=4—Ti)=(B-4)+(=3-T7)i =1—10i  20. (=3 +4i)—(2 —5i) = (=3 — 2)+[4 — (=5)]i = —5+9i

(—646)+O—i)=(—6+9+6-1)i=3+5 22 (3—2i)+(—5—%i) :(3—5)+(—2—%)i = —2-1i

(7-3)-(5+3i)=-5+(-%-3)i=2-2



24.
25.
26.

27.

29.
30.
3L
32.
33.
. (3-Ti)(B+7i)=32—(7i)2 =58
35.
36.

37.
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(=4+i1)—(2—=5))=—4+i—-2+5i=(—4—-2)+ (L +5)i = —6 + 6i

(=12 48i)— (7T+4i)=—12+8i —7—4i = (=12 —7) + 8 —4)i = —19 + 4i

6i —(4—i)=6i —4+i=(—4)+6+1)i=—4+7i

4(=1+42i)=—4+8i 28. -2 (3 — 4i) = —6 + 8i
(T—i)(4+2i)=28+14i —4i —2i2 = (28+2) + (14 —4)i = 30 + 10i
(5-3i)(1+i)=5+5i —3i —3i°=(5+3)+(5-23)i =8+2i

(6 +5i) (2 — 3i) = 12 — 18i + 10i — 15i2 = (12 + 15) + (—18 + 10) i = 27 — 8i
(=2+1)(3—7i)=—6+14i +3i —7i2=(—6+7)+ (14 +3)i =1+ 17i
(2+5i)(2—5i)=22 - (5i)2=4—-25(-1) =29

(2+50)2 =22+ (5i)2 +2(2) (5i) = 4 — 25 + 20i = —21 + 20i
(3=7i)2 =32+ (71)2 = 2(3) (7i) = —40 — 42i

1_1 i_ i 0 i
i 00 i2 -1
1o 1 1-i_a-i_1-i_1-i g g
1+i 1+4i 1—-i 1-i2 141 2 2 2
2-3i  2-3i 1+2i_2+4i—3i—6i2_(2+6)+(4—3)i_8+ior§+li
1-2i  1-2i 1+2i 1—4j2 N 1+4 T 5 575
5—i  5-—i 3—4i_15—20i—3i+4i2_(15—4)-|—(—20—3)i_11—23i_u_§i
3+4i  3+4i 3-—4i 9 — 16i2 - 9+16 - 2% B B
10 100 1+2i  10i +20i%  —204+10i 5(—4+2i) .
1—-2i  1-2i 142 1-—-4i2 =~ 1+4 5 -

. 1 1 243 243 243 2+3i .
2-3i _1= = . = = — ZA i|
=3 =5 =7-3 243 4-92 4+9 13 BB
4+6i 446 3i_12i+18i2_—18+12i_—18+12i_2 4
3i 3 3 g2 -9 -9 -9 “3
—3+5i —3+5i 15i —45i + 7512 —75—45i 75 N _45i—1~|-1i

151 15 151 ~ 22512  —225 <~ —225 ' 225 3 '>
1 1 1 1-i 1 1+i  1—i  14i _1—i+—1—i_ ,
1+i 1—i 1+i 1—i 1—i 1+i 1-i2 1-i2 2 2
(1+2)3—i) 3—i+6i—2i% 5+5 2—i 10—5i +10i —5i®2 (10+5)+ (—5+10)i

2+i - 2+i 240 2—i 4-j2 N 5

15 + 5i _ .
=—5 =%+%|=3+|
5
i3 =% = —i 48.i10=(i2) —(-1)P=-1
2
(3i)5=35(i2) i — 243 (=1)2i = 243i 50. (2i)* = 2%i4 = 16 (1) = 16
250 250

ilOOO:(i4) —1250 1 52.i1°°2:(i4) i2-1j2=_1
V=49 = JA9/—1 =7Ti 54. /8L = i
VB2 =3 2i/3 =62 = —6 56.,/3v=27 =/ -3iv/3=3i

(3=v78) (1+v=D) = (3-ivB) (W+1) =3+3i —ivE—i?VE = (3+5) + (3= B),

99
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(V3—v=2) (VB - v=8) = (v3-2i) (VB -2iv2) = V18— 2i V6 — 2i/B + 4i2/2
= (3v2 - 42) + (—2v6 - 2vB) i = —v2 - 4i /B

218 24213 2(14iV2)

142 1+iv2  1+iv2

V=36 6 2 V2 2iv2 V2
J2V=8 T iVZsi V2 iv2  a? T -1
X2 4+49=0x2 = —49= x = £7i

3 +1=0:32=-1ox?=-}ox=+Li

—btvb2—dac  —(DEJEDP -4 1+ 77

—iv2

X X+2=0sX 72 20 2 5 £ 500
—2+,/(0?2-4)(@ —2+F—8 —2+J-F —2+472i

2 .

X& 4+ 2Xx + =X ) > 5 5 i
—34+/32-41)(7) —-3+.-19 5.

2 _ _ _ _ 3 19
—(—6) £,/(-6)2 —4(1) (10 — — i

2 — 6 +10 = 0= X = (=6) \/(2(1)) M ( )=6i«/26 40=6i2«/ 4=6i22| a4

- JO? =4O

“14V1-4 148 -1+4iV3 4 5
= = =—1+3

2 _ _
X“+X+1=0=>x= 20 = > 5 5
—(=3)+,/(-32-41) @3 - = i
X430 x = ()Y -4DBG)  3+0-12 3£V 3:3i"/§=%i~/§i
2(1) 2 2 2
—(-2)+ /(22 -4@Q (1) 24+ /F-8 2+ =4 2+2i
2 _ _ _ _ — _ 1,1
2X 2X+1=0=x= 20 = ) = 2 == _24_-2|

3 —(3)£/(3)2-4(1)(3 . ]
t+3+?:0<:>t2+3t+3:0:t: @ (2()1) ()():‘3“29‘12:‘3iﬂ=‘3§'“§=—%i%§l

BX2 + 12X +7=0=

_ —12 /AP ~4O) (D) 124 /TIA-T68 _ —124V2 _ —1242i/6 _ —12 | 216 _ 1 . /B
X = 2(6) = 2 = 2 == =1+ 1+

X+ 3ix+1=0=
2

~@)#/E) o0 efios 3 F gavE
= 2() = 2 = 2 = 2 =-gE
7+w=3—-4i+5+21=3+4i +5—2i =8+2i
Itw=3—-41+5+2=8—2i =8+2i
7.7=B-4i)(3+4i)=32+42=25
Z-W=(3+4i)(5—2i)=15—6i + 20i — 8i2 = 23 + 14i
LHS=Z4+w=(a+bi)+(c+di)y=a—-bi+c—di=@+c)+(-b—-d)i=(@+c)—(b+d)i.
RHS=Z+w=@+bi)+(c+di)=@+c)+(b+d)i=@+c)—(b+d)i.
Since LHS = RHS, this proves the statement.
LHS =7Zw = (a + bi) (c + di) = ac + adi + bci + bdi2 = (ac — bd) + (ad + bc) 1 = (ac — bd) — (ad + bc) .
RHS=7Z-w=a+bhi-c+di =(a—bi)(c—di)=ac—adi —bci +bdi? = (ac — bd) — (ad + bc)i.
Since LHS = RHS, this proves the statement.
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LHS = (2)? = (@ + b1))° = (a — bi)2 = a2 — 2abi + b?i2 = (a2 - b2) — 2abi.

RHS = 22 = (a+bi)? = a2 + 2abi + b%i? = (a — b?) + 2abi = (a2 — b?) — 2abi.
Since LHS = RHS, this proves the statement.

Z=a+bi=a—bi=a+hi =z

z+7Z = (a+bi)+ (a+bi) =a+bi +a — bi = 2a, which is a real number.
z—Z=(@a+bi)—(@+bi)=a+bi —(a—bhi)=a-+bi —a+hi = 2bi, which is a pure imaginary number.
z-7=(a+bi)- @+bi)=(a+bi)-(a—bi)=a?—b2%i2 = a2 + b2, which is a real number.

. Suppose z =Z. Then we have (a + bi) = (a+bi)=a+bi =a—bi = 0= —-2bi = b =0,s0zisreal. Now if z is real,

then z = a + Oi(where a is real). Since Z = a — 0i, we have z = Z.

—b+ b2 — 4ac

Using the Quadratic Formula, the solutions to the equation are x = — Since both solutions are imaginary,
2 2 : —b | Vdac—b? 7.
we have b — 4ac < 0 & 4ac — b~ > 0, so the solutions are x = 22 + o i, where /4ac — b4 is a real number.

Thus the solutions are complex conjugates of each other.
Lid=it i =0, i =i =0 i2=-1i%=i%.i2 = -1,i0 = i8.i2 = —q;

i=ii° =
B=—ii’=i*id=i, il =i8.i8=—i; f=1i8=i*i*=1iP=i®.i*=1
Because i4 = 1, we have i" = i", where r is the remainder when n is divided by 4, that is, n = 4 - k +r, where k is an

integer and 0 < r < 4. Since 4446 = 4 - 1111 + 2, we must have 4446 = j2 = —1.

1.6 SOLVING OTHER TYPES OF EQUATIONS

Note:

JX =X

In cases where both sides of an equation are squared, the implication symbol < is sometimes used loosely. For example,

—-1"” («/Y)2 = (x — 1)2 is valid only for positive x. In these cases, inadmissible solutions are identified later in the

solution.

1

(a) To solve the equation x3 — 4x2 = 0 we factor the left-hand side: x2 (x — 4) = 0, as above.
(b) The solutions of the equation x2 (x — 4)=0arex =0and x = 4.

. (&) Isolating the radical in +/2x 4+ x = 0, we obtain +/2x = —x.

2
(b) Now square both sides: (\/ﬂ) =(—x)2=2x =x2.

(c) Solving the resulting quadratic equation, we find 2x = x2 = x2 — 2x = x (x — 2) = 0, s0 the solutions are x = 0 and
X = 2.

(d) We substitute these possible solutions into the original equation: +/2-0+ 0 = 0, so x = 0 is a solution, but
V2-2+2=4+0,s0x = 2 is not a solution. The only real solution is x = 0.

. The equation (x + 1)2 — 5+ 1) + 6 = 0is of quadratic type. To solve the equation we set W = x + 1. The resulting

quadratic equation is W2 —5W +6=0& (W —3) (W —2) =0 W =20rW =3 x+1=20rx+1=3¢c
x = 1or x = 2. You can verify that these are both solutions to the original equation.

. The equation x® + 7x3 — 8 = 0 is of quadratic type. To solve the equation we set W = x3. The resulting quadratic equation

isW2+7W —8=0.
x2—x:04:>x(x—1):0<:>x:Oorx—1:0. Thus, the two real solutions are 0 and 1.

. 3x3 —6x2 =0=3x2(x —2) =0 x =0o0rx — 2 =0. Thus, the two real solutions are 0 and 2.

3:25x<:>x3—25x:0<:>x(x2—25):O«:)x(x+5)(x—5):O«:)X:OOrx+5:00rx—5:O. The three

real solutions are —5, 0, and 5.
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X0 =53 o x’—5x3=0ax3 (x2—5) =0 x =00rx2 —5=0. The solutions are 0 and /5.

x5 —3x2 =0 x2 (x3—3) =0 x =00rx3 —3=0. The solutions are 0 and /3.

6x° — 24X = 0 © 6X (x4 - 4) =0 < 6X (x2 + 2) (x2 - 2) =0. Thus, x = 0, or x2 + 2 = 0 (which has no solution), or
x2 — 2 = 0. The solutions are 0 and +£+/2.
0 =475 — 1072 = 272 (223 - 5). If2z2 =0,thenz = 0. 1f 223 -5 =0, then 223 =5 <=z = \3/% The solutions are 0

and \3/§

0= 125t10 — 2t7 =17 (12513 — 2). Ift7 = 0, thent = 0. I 125t° —2 = 0, then t = I = 2. The solutions are 0
and %

0=x°+8x2=x2 (x3+8) =x2 (X +2) (x2—2x+4) ox2=0,Xx+2=00rx2—2x+4=0. If x2 = 0, then
X =0:if X +2 =0, then x = —2, and x2 — 2X + 4 = 0 has no real solution. Thus the solutions are x = 0 and x = —2.

0 =x*+64x = x <x3—|—64) o x=00rx3+64=0.1fx3+64=0,then x3 = —64 < x = —4. The solutions are 0
and —4.

0 = x3 — 5x2 + 6x =x(x2—5x+6) =Xx(x—-2)(x—3)=x=0,x—2=0,0rx—3=0. Thusx =0, or x = 2, or
X = 3. The solutionsare x =0, x =2,and x = 3.

0=x#—-x3—-6x2=x2 (x2—x —6) = x2 (X — 3) (X + 2). Thus either x2 = 0, so x = 0,0r x = 3, or x = —2. The
solutions are 0, 3, and —2.

0=x*+4x34+2x2 =x2 (x2 44X + 2). So either x2 = 0 < x = 0, or using the Quadratic Formula on x2 + 4x +2 = 0,

we have x = —*£ 3?1_)4(1)(2) = _4iV216_8 = _‘Hz“/g = _4i22‘/§ = —2 + /2. The solutions are 0, —2 — +/2, and

—2+4/2.
0=y>—8y*+4y3 =3 (y2 -8y + 4). If y3 =0, theny = 0. If y2 — 8y + 4 = 0, then using the Quadratic Formula, we

— (-8 +/(-8*-4() @ 8+.a8
2

2(D)
(3x+5)* — 3x+5)°3 = 0. Lety = 3x + 5. The equation becomes y* — y3 = 0 o
y(y3—1)=y(y—1)(y2+y+l)=0. Ify=0then3x +5=0&x=—3. Ify—1=0then3x +5-1=0

have y = = 4 + 2./3. Thus, the three solutions are 0, 4 — 24/3, and 4 + 2./3.

©x=—4 1fy?2+y+1=0,then (3x +5)2 + (3x +5) + 1 = 0 & 9x? + 33x + 31 = 0. The discriminant is
b2 — 4ac = 332 — 4(9) (31) = —27 < 0, so this case gives no real solution. The solutions are x = —% and x = —%.

(X +5)* —16 (x +5)2 = 0. Let y = x + 5. The equation becomes y* — 16y2 = y2 (y — 4) (y +4) = 0. If y2 = 0, then
X+5=0andx =—-5.Ify—4=0,thenx+5—4=0andx = —-1. Ify+4=0,thenx +5+4 =0and x = —9. Thus,
the solutions are —9, —5, and —1.

0:x3—5x2—2x+10=x2(x—5)—2(x—5):(x—5)(x2—2). Ifx —5 =0, then x = 5. If x2 — 2 = 0, then

X2 = 2 & X = 4+/2. The solutions are 5 and 2-+/2.

0=2x34+x2—18x —9=x2(2x +1) —9(2x + 1) = 2x + 1) (x2—9) = (2x +1) (x — 3) (x + 3). The solutions are
1

—3,3,and =3.

x3—x2+x—1:x2+1<:>0:x3—2x2+x—2:x2(x—2)+(x—2):(x—2)(x2+1).Sincex2+1:0has

no real solution, the only solution comes fromx —2 =0 x = 2.
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3 —x+1=x34+3x2 4+ x0=6x3—3x2—2x +1=3x2(2x - 1) — (2x = 1) = (2x — 1) (3x2 —1) o2x—1=0

or3x2—1=0.1f2x —1 =0, thenx = % If3x2 —1=0,then 3x%2 = 1 & x2 = % oSX = i\/%. Thesolutionsare%
and i\/%.

4 4
Z+Z+123@(Z+1)(Z+_Z+1)=(Z+l)(3)<:>22+z+4=3z+3‘:>22_22+1=0<:>(Z—1)2=0.The

solution is z = 1. We must check the original equation to make sure this value of z does not result in a zero denominator.
—— +15=3mesM+5|——+15)=M+5@Bm) =10+ 15m+75=3m“ +15m < 3m°- -85 =0
m+5 m+5

m=+,/ 8—??. Verifying that neither of these values of m results in a zero denominator in the original equation, we see that

the solutions are —,/ % and ,/£.

1 1 5 1 1 5
m‘}—m = Z <:>4(X—1)(X+2)(m+m) = 4(X—1)(X+2)(Z) =

AX+2)+4(Xx—1) =5(X—1)(X+2) < 4x+8+4x —4 =5x2 +5x —10 = 5x2 —3x — 14 = 0 &
7
BGx+7)(x—-2)=0. If5x+7:0,thenx:—%;ifx—Z:O, then x = 2. The solutions are ~z and 2.

10 12 10 12
7—m+4:0@x(x—3)(7—m+4) =0 (x—3)10—12x + 4x(x —3) = 0 &

10x — 30 — 12x + 4x%2 — 12x = 0 < 4x2 — 14x — 30 = 0. Using the Quadratic Formula, we have

N ﬂ:\/(—14)2 —4@® (=30 14+ /196+480 14+676  14+26
B 2(4) a 8 B 8 -8

. So the solutions are 5 and —%.

x2

X + 100
or x +50 = 0. Thus x = 100 or X = —50. The solutions are 100 and —50.

2X
X2 +1

:5O<:>X2:50(X+1OO):5OX+5000<:>X2—50X—5000:0<:>(X—100)(X+50):0<:>X—1OO:O

=lo2x=x2+1ox2-2x+1=(x—1)2=0,s0x = 1. This is indeed a solution to the original equation.

N 1 _2 1
X+DXx+2)  x+1 x+2
& x2 =2 =0& x = £+/2. We verify that these are both solutions to the original equation.

S+ X+ +1=2X+2)+(X+1) X2 +3x+2+1=2x+4+x+1

X 2 1
_ _ _a) — _ 2_ay _ _ 2 _ 5y _5—0.Usi i
13- x_3 Xz_gﬁx(x H=2x+3)—1e=x“—3x =2x+6—1 < x* —5x —5 = 0. Using the Quadratic

~ (-5 £(-5* -4 (-5 5+3/5
N 2

Formula, x = > . We verify that both are solutions to the original equation.
X 43 = X+ D) @X4T) = X+ 7) (X +3) > X2+ 3x — 2% — 9x — 7 = 262 + 13x + 21
2X+7 Xx+3 B N

324+ 19x+28 =0 (Bx+7)(x+4) =0. Thus either 3x +7 = 0,0 X = —%, or x = —4. The solutions are —%
and —4.

1 2 _ 2 _ 2 —
=1 X2_0<:>x 2x—-1) = 0 & x X +2 = 0
—(=2)£./(=22-41) (2 JEi=8 V=2
X = =2 (2(1; b @ = 2+ 24 8 = 21—2 4. Since the radicand is negative, there is no real solution.



104

35.

36.

37.

38.

39.

40.

41.

42.

45.

CHAPTER 1 Equations and Graphs
X+ 2 x+2) x  x242
r=5¢e ) o= =5Xx & X242 =5X(3X +4) & x2 +2 = 15x2 4+ 20x < 0 = 14x2 + 20X — 2
3+ % 3+3 ) x 3x+4
N GOk V(207 — 414 (-2) _ -0+ /A00+112 _ —20+ 612 _ -20£16v2 _ —5+4v2
- 2(14) N 28 - 28 N 28 - 7
—5+42

solutions are

3+4 3+4 _ :
; X =x@x(2—§)(2 Z):x(Z—é)x<:>3x+1=2x2_4x < 2x2 — 7x — 1 = 0. Using the Quadratic
X X

—(DEYEDP-ADQED 75T 7+ /57
== .

. Both are admissible, so the solutions are
2(2) 4

5=.2x-3o5 = (vax — 3)2 © 25 = 4x — 3 & 4x = 28 & x = 7 is a potential solution. Substituting into the
original equation, we get 5 = /4 (7) — 3 < 5 = /25, which is true, so the solution is x = 7.
Vex—1=3¢< (\/8x — 1)2 =3¥o8x-1=9oXx = %. Substituting into the original equation, we get

x|

Formula, we find x =

8 (%) —1 =3 +/9 =3, which is true, so the solution is x = 3.

VX —1=3 -5 (V2x - 1)2 = (v3x — 5)2 & 2x — 1 =3x — 5 & x = 4. Substituting into the original equation,
we get /Z(@) — 1 = /3(4) — 5 < /7 = +/7, which is true, so the solution is x = 4.

2
V3F =\/x2+1<:>(«/3+x)2=( x2+1) o34x=x24+loxl-x-2=0ox+1)(x-2) =0

x = —1 or x = 2. Substituting into the original equation, we get /3 + (=1) = /(=1)2 + 1 & /2 = /2, which is true,
and +/3+ 2 = +/22 4+ 1, which is also true. So the solutions are x = —1 and x = 2.
\/x+2=x<:>(«/x+2)2 =x2ox+2=x2ox2—-x—-2=(X+1)(x—2) =0 x = —10rx = 2. Substituting

into the original equation, we get /(—1) + 2 = —1 < +/1 = —1, which is false, and +/2 + 2 = 2 < /4 = 2, which is
true. So x = 2 is the only real solution.

VI = 2x & (VA=) = ()2 4 —6x =42 & 22 + 3K —2 = X+2) (X —1) = 0 & X = —2
orx = % Substituting into the original equation, we get /4 — 6 (—2) = 2 (—2) < /16 = —4, which is false, and

4—-6 (%) =2 (%) < +/1 =1, which is true. So x = % is the only real solution.

VX FIt+l=xo VX t+l=x—-1loX+l=K-122X+1=x2-2x+10=x2—4x = x (X — 4).

Potential solutions are x = 0 and x — 4 & x = 4. These are only potential solutions since squaring is not a reversible
operation. We must check each potential solution in the original equation.

Checkingx =0: /2(0) + 1+ 1= (0) @ ~/1+ 1 =0is false.

Checkingx =4: V2@ +1+1=(4) &9+ 1 =43+ 1=4istrue. The only solution is x = 4.

X—=/9-3=0x=/9-3=x2=9-3x=0=x%2+3x—0. Using the Quadratic Formula to find the potential

—3+V3¥-4(1) (-9 -3+45 -3+3.5
2(1) - 2 - 2

original equation, we see that x = _3+T3‘/§ is a solution, but x = _?’_Tm isnot. Thus x = % is the only solution.
X—/X—1=3ex-3=K-Tlex-32= (-1 ex2—6x+I=x—-1cx2-7x+10 =0
(x —2) (x —5) = 0. Potential solutions are x = 2 and x = 5. We must check each potential solution in the original
equation. Checking x = 2: 2 — /2 — 1 = 3, which is false, so X = 2 is not a solution. Checkingx =5:5—-5—-1=3
<5 —2 =3, whichistrue, so x = 5 is the only solution.

solutions, we have x = . Substituting each of these solutions into the
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VB X42=1-xoVB-x=-1-x& (V3=%) = (-1-x23-x =x2+2x+1 e x2 +3x —2 = 0. Using

-3+ -4 (-2) -3+V17
- 2

the Quadratic Formula to find the potential solutions, we have x = 20

. Substituting

each of these solutions into the original equation, we see that x = #ﬁ is a solution, but x = _3+T‘/ﬁ is not. Thus

X — J_T‘/ﬁ is the only solution.

VA FI=24xF1le (VRFD) =2+ X+  oXx+l=4+4/KFl+x+loX—4=4/KF1c

X—2=2/XxF1le (x—-2)2= (2«/x+l)2<:>x2—4x+4=4(x+1)@XZ—BX —0ox(x—8=0sx=0
or x = 8. Substituting each of these solutions into the original equation, we see that x = 0 is not a solution but x = 8 is a
solution. Thus, x = 8 is the only solution.

VIFX4+VI=X =2 (VIHTX4VI=X)2 = 2 & 140 + 1=X) + 2/ITXVI=X = 4 &
242/T+xVI—x =4 /T xJVI—x=1a1+x)1-x)=11-x2 =1 x2 =0,50 x = 0. We verify

that this is a solution to the original equation.

x* —4x2 43 =0. Let y = x2. Then the equation becomes y2 —4y +3 =0 (y—1)(y—3)=0,50y =lory = 3. If
y=1thenx2 =1ox =+1,and if y = 3, then X2 = 3 & x = /3.

x4 —5x2 4+ 6 =0. Lety = x2. Thentheequationbecomesy2 —5y+6=0=(y—-2)(y—3)=0,soy=2o0ry=3.If
y=2thenx?2 =2 x =+v2 andify = 3, then x2 =3 = x = +/3.

2x4 4+ 4x2 + 1 = 0. The LHS is the sum of two nonnegative numbers and a positive number, so 24 +4ax2+1>1 #0.
This equation has no real solution.

0=x8-2x3-3= (x3—3) (x3+1). Ifx3-3=0thenx3 =3 x =3, orifx3=-1ox=-1 Thusx = /3
or x = —1. The solutions are /3 and —1.

0=x6—26x3-27 = (x3 ~27) (x3+1). 1Fx3-27=0x3=27,50x=3.1fx3+1=0x3 = —1,50x = —1.
The solutions are 3 and —1.

x84+ 15x4 =16 =0=x8 + 15x4 — 16 = (x4 + 16) (x4 - 1). If x4 + 16 = 0, then x* = —16 which is impossible (for
real numbers). If x4 —1=0ox%=1,50x ==41. The solutions are 1 and —1.

0=(Xx+52—-3(x+5)—10=[(x+5) —5][(X +5)+2] = x (X +7) & x = 0orx = —7. The solutions are 0 and
—T1.

Xx+1 x +1)\2 X+1 .
Letw:%.ThenO:(%) +4(%) 3becomes 0 = w? + 4w +3 = (w+1) (w +3). Nowif w+1 =0,
X+1 X+1 . X+1 X+1
then%—kl:O@ j(_ =—1<:>x+1=—x<:>x=—%,andlfw+3=0,then%+3=0<:> T3

& X +1=-3x &x =—3. The solutions are —5 and —3.

2
Letw:L.Then ! -2 ! —8=0becomes w? —2w—-8=0=(w—-4) (w+2)=0.S0w—4=0
x+1 Xx+1 Xx+1

1
@w=4,andw+2=04:>w=—2.Whenw=4,wehaveX+1=4(:>1=4x+4<:>—3=4x<:)x=—%.When

1 .
w = —2, we have =-21l=-2X-23=-2XSX= —%. Solutions are —% and —%.
Xx+1

2

X X 4x .

Letw = ——. Then (——) = —— — 4 becomes w? = 4w —4 < 0 = w2 — 4w + 4 = (w — 2)2. Now if
X+2 X+2 X+2

w —2 =0, then

X X
—2=0 —— =2 X =2X +4 & x = —4. The solution is —4.
X+2 X+2
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Letu = x%/3. Then 0 = x*/3 —5x2/3 4+ 6 becomesu? —5u+6 =0 U —-3)(U—-2) =0 u—-3=00ru—2=0.
Ifu—3=0thenx?3 -3=0=x23=3cx=43%2=43/3. Ifu—-2=0,thenx?? —2=0x? =2
X = £23/2 — 2./2. The solutions are +3+/3 and +:2./2.

CLetu = ¥X;then0 = /X =3 X —4=u2-3u—-4=@U—-4U+1).Sou—-4=K-4=0¢hK=4c

Xx=4%=2560ru+1=¥X+1=0e & = —1. However, ¥X is the positive fourth root, so this cannot equal —1.
The only solution is 256.

AX+DY2 —5(x+1)32 + (x+1)52 = 0<:>«/X+1[4—5(X+1)+(X+1)2] — 0o
«/x+l<4—5x—5+x2+2x+1)=O(:)«/x+l(x2—3x)=0(:>«/x+l-x(x—3)=0<:>x=—lorx=Oor
x = 3. The solutions are —1, 0, and 3.

Letu=x—4;then0=2(x —4)"B —(x =3 —(x =13 =273 — 43 —ul3 =ulB Qu+1)(u—-1). So
u=x—4=0(:>x=4,or2u+l=2(x—4)+1=2x—7=0<:>2x=7(:>x=%,oru—1=(x—4)—1=x—5=0
& X = 5. The solutions are 4, %,and 5.

x3/2 —10x1/2 4 25x71/2 = 0 & x~1/2 (x2 —10x +25) =0 x1/2(x —5)2 = 0. Now x~1/2 £ 0, s0 the only

solution is x = 5.

xY2 _x=1/2 _gx—3/2 = 0= x3/2 (x2 —X - 6) =0 X2 (x +2) (x —3) = 0. Now x /2 £ 0, and furthermore

the original equation cannot have a negative solution. Thus, the only solution is x = 3.

Letu = x%/6. (We choose the exponent ¢ because the LCD of 2, 3, and 6 is 6.) Then x/2 — 3x1/3 = 3x%/6 — 9
x3/6 _3x2/6 —3x1/6 _9 518 302 =3u— 9 0=u3—3u2—3u+9=u2(U—3)—3(U—23) = (u—23) (u2 —3).
Sou—3=00ru?—3=0.1fu—-3=0thenx/6 -3 =0 x/6 =3 x =30 =729. Ifu? —3 =0, then
x1/3 -3 =0 x1/3 =3 x =33 = 27. The solutions are 729 and 27.

Letu = /X. Then 0 = x —5./X + 6 becomes u2 —5u +6 = (U—3) (U—2) =0. Ifu—3=0,then /X —3=0&
JX=3x=9.1fu-2=0,then /x —2=0¢« /X =2 < x = 4. The solutions are 9 and 4.
1 4 4

Sty =0 1+4x+4x°> =0 (1+2x)? =06 1+2x =06 2x = —1 & x = —3. The solution is — 3.
o4
0 = 4x~* — 16x 2 + 4. Multiplying by - Weget,0=1 — 4x2 + x4, Substituting u = x2, we get 0 = 1 — 4u + u?, and

SO OO _ g Tod 45T 428 51 3 Substituting

using the Quadratic Formula, we get u = LGN

&

back, we have x2 = 2 & /3, and since 2 + +/3 and 2 — /3 are both positive we have x = +v/2 + /3 0r x = £v/2 —
Thus the solutions are —v/2 — /3, v2 — +/3, =2 + +/3, and v/2 + /3.

VA/X 4+ 5+ x = 5. Squaring both sides, we get +/x +5+ x = 25 & +/x + 5 = 25 — x. Squaring both sides again, we
getx +5 = (25 —x)2 & x +5 = 625 — 50x + X% < 0 = x2 — 51x 4 620 = (x — 20) (x — 31). Potential solutions are
x = 20 and x = 31. We must check each potential solution in the original equation.

Checking x = 20: v/+/20+5+20 = 5 < v/+/25+20 = 5 < /5 + 20 = 5, which is true, and hence x = 20 is a

solution.

Checking x = 31: /\/BIL) +5+31 = 5 < v/+/36 + 31 = 5 < /37 = 5, which is false, and hence x = 31 is not a

solution. The only real solution is x = 20.

34x2—4x:x<:>4x2—4x:x3<:>0:x3—4x2+4x:x(x2—4x+4) =x(x—2)%2 Sox =0o0rx =2. The

solutions are 0 and 2.
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XX +3=(x+3)320=x2/X+3— (x+3)32 =0 =X +3[(x2)—(x+3)]<:>0=~/x +3(x2—x—3).
If (x+3)1/2 =0,thenx +3 =0 x = —3. If x2 — x — 3 = 0, then using the Quadratic Formula x = “ET‘/ﬁ The

solutions are —3 and 113,

—_ o . 2 2
Let u = +/11 — x2. By definition of u we require it to be nonnegative. Now /11 = x2 - — =1 u — o= 1.

V11 —x2
Multiplying both sides by u we obtain W-2=ue0=ul-u-2=@Uu- 2)(u+1). Sou=2oru=—1. Butsinceu
must be nonnegative, we only have u = 2 < /11 — XR=2ol1ll-x2=doxl=Tox= ++/7. The solutions are
+/7.
VX + /X + 2 = 2. Squaring both sides, we get X + v/X + 2 = 4 < /X + 2 = 4 — x. Squaring both sides again, we get
X4+2=(@4-x)2=16-8x+x2=0=x2-9X+140=X—-7)(x—2). fx =7=0,thenx =7. Ifx =2 =0,
then x = 2. So x = 2 is a solution but x = 7 is not, since it does not satisfy the original equation.

\/1+\/x+\/2x+1 = 5+ /X. We square both sides to get 1 + VX ++/2Xx +1 = 5 + /X &
X+/2x+1= (44 ﬁ)z =16+ 8/X + x & /2x +1 = 16 + 8,/X. Again, squaring both sides, we obtain
2x+1=(16+ 8\/Y)2 = 256 + 256./X + 64x & —62x — 255 = 256./X. We could continue squaring both sides until

we found possible solutions; however, consider the last equation. Since we are working with real numbers, for /X to be
defined, we must have x > 0. Then —62x — 255 < 0 while 256,/X > 0, so there is no solution.

0=x*—5ax2 +4a2 = (a - x2) (4a - xz). Since a is positive, a — x2 = 0 < x2 = a & x = ,/a. Again, since a is

positive, 4a — x2 = 0 < x2 = 4a < x = +2,/a. Thus the four solutions are +./a and +2./a.

0 = a3 +b% = (ax+b)(a2x2—abx+b2). Soax +b = 0o ax = —b o x = —g or
—(—ab) £ \/(—ab)z —4(@2) (%)  ap+./—3a2p2 o _ o b
X = = , but this gives no real solution. Thus, the solution is x = ——.
2 (a?) 2a2 a
JX+a+ /x —a =2+ 6. Squaring both sides, we have

x+a+2(Vx+a)(Vx—a)+x—a=2(x+6) =2x+2(vx+a) (VX —a) =2x+12e2 (/X +a) (VX —a) =12
& (VX +a) (vVx—a) = 6. Squaring both sides again we have (x +a) (x —a) = 36 & x> — a2 = 36 & x? = a2 + 36

oSX = i\/m. Checking these answers, we see that x = —\/m is not a solution (for example, try substituting

a=28),butx = m is a solution.

Let w = x1/6. Then x1/3 = w2 and x1/2 = w3, and so

0=w?—aw?+bw—ab=w?(w-a)+bw—a)= (w2+b)(w—a)= (¥X+b)(¥x—a). S0 ¥x—a=0e

a = ¥X < x = ab is one solution. Setting the first factor equal to zero, we have 3/X +b =0 X = —b & x = —bS.

However, the original equation includes the term b &X, and we cannot take the sixth root of a negative number, so this is not
a solution. The only solution is x = al.

Let x be the number of people originally intended to take the trip. Then originally, the cost of the trip is ? After 5 people

cancel, there are now x — 5 people, each paying giﬂ +2. Thus 900 = (x — 5) (g + 2) <900 =900+ 2x — @ —10

4500 .
<0=2x-10 - ~ &0 = 2x2 — 10x — 4500 = (2x — 100) (x + 45). Thus either 2x — 100 = 0, so x = 50, or

X +45 = 0, x = —45. Since the number of people on the trip must be positive, originally 50 people intended to take the trip.
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. 120,000
Let n be the number of people in the group, so each person now pays

120,000
n

. If one person joins the group, then there would

120,000
be n 4+ 1 members in the group, and each person would pay n

—6000. So (n+1) ( - 6000) = 120,000

n \ (120,000 n )
o [(W) (T - 6000)] n+1) = (M) 120,000 < (20 — n) (n + 1) = 20n < —n2 + 19n + 20 = 20n &

0=n2+4+n—-20=(n—4)(n+5). Thusn =4 orn = —5. Since n must be positive, there are now 4 friends in the group.

We want to solve for t when P = 500. Letting u = 4/t and substituting, we have 500 = 3t + 10/t + 140

—5 4+ /1105
500 = 3u? + 10U + 140 < 0 = 3u2 + 10u — 360 & U = —

-5+ /1105
3

. Since u = /t, we must have u > 0. So

J=u= ~ 9.414 &t =~ 88.62. So it will take 89 days for the fish population to reach 500.

Let d be the distance from the lens to the object. Then the distance from the lens to the image is d — 4. So substituting
- 1 1 1 .
F =48, x =d,and y = d — 4, and then solving for x, we have 8- 1 + T Now we multiply by the
LCD, 4.8d (d —4), togetd (d —4) =4.8(d —4) +4.8d & d? —4d = 9.6d —19.2 < 0 = d? —13.6d + 19.2 =
13.6 £10.4

d= — Sod = 1.6 ord = 12. Since d — 4 must also be positive, the object is 12 cm from the lens.

Let x be the height of the pile in feet. Then the diameter is 3x and the radius is %x feet. Since the volume of the cone is

3x\ 2 3mx3 4000 4000
1000 i3, we have = (=) x = 1000 & = = 1000 & x® = — @ x = J—— ~ 7.52 feet.
3\ 2 4 3w 3w

. Letr be the radius of the tank, in feet. The volume of the spherical tank is %‘rrrB and is also 750 x 0.1337 = 100.275. So

37r3 =100.275 < r = 23.938 & r = 2.88 feet.

Let r be the radius of the larger sphere, in mm. Equating the volumes, we have %nr3 = %ﬂ' (23 +33 +43) o

r3=234+33 444 < r3=99or = ¥99 ~ 4.63. Therefore, the radius of the larger sphere is about 4.63 mm.

We have that the volume is 180 ft3, so x (x — 4) (x + 9) = 180 <> x3 + 5x2 — 36x = 180 <> x3 + 5x2 — 36x — 180 = 0
&x2(x+5)—36(x+5 =0 (x+5) (x2—36) =0 (X +5) (X +6) (x —6) = 0= x = 6 is the only positive
solution. So the box is 2 feet by 6 feet by 15 feet.

Let x be the length, in miles, of the abandoned road to be used. Then the length of the abandoned road not used

is 40 — x, and the length of the new road is /102 4 (40 — x)2 miles, by the Pythagorean Theorem. Since the

cost of the road is cost per mile x number of miles, we have 100,000x + 200,000m = 6,800,000

& 2v/x2 — 80x + 1700 = 68 — x. Squaring both sides, we get 4x2 — 320x + 6800 = 4624 — 136x + X2 <

3x2 —184x +2176 =0 = x = 184*@ = 184488 o x = 136 or x = 16. Since 451 is longer than the existing

road, 16 miles of the abandoned road should be used. A completely new road would have length /102 + 402 (let x = 0)
and would cost /1700 x 200,000 =~ 8.3 million dollars. So no, it would not be cheaper.
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Let x be the distance, in feet, that he goes on the boardwalk before veering off onto the sand.
The distance along the boardwalk from where he started to the point on the boardwalk closest

to the umbrella is +/7502 — 2102 = 720 ft. Thus the distance that he walks on the sand is

/(720 = x)2 + 2102 = /518,400 — 1440X + X2 + 44,100 = /x2 — 1440x + 562,500.

Distance Rate Time
Along boardwalk X 4 %
2 _ 1440x + 562,500
Across sand X2~ 1440x + 562,500 | 2 VX 2X +

Since 4 minutes 45 seconds = 285 seconds, we equate the time it takes to walk along the boardwalk and across the sand

) 2 — 1440x + 562,500 .
to the total time to get 285 = % + VX 2X + & 1140 — x = 24/x2 — 1440x + 562,500. Squaring both

sides, we get (1140 — x)2 = 4 (x2 — 1440x + 562,500) © 1,299,600 — 2280 + x2 = 4x2 — 5760x + 2,250,000

& 0 = 3x2 — 3480x + 950,400 = 3 (x2 —1160x + 316,800) = 3(x—720)(x —440). Sox —720 =0
< x = 720, and X — 440 = 0 & x = 440. Checking x = 720, the distance across the sand is
210 feet. So % + 2—%0 = 180 + 105 = 285 seconds. Checking x = 440, the distance across the sand is

\/(720 — 440)2 + 2102 = 350 feet. So # + 3—20 = 110 + 175 = 285 seconds. Since both solutions are less than or equal
to 720 feet, we have two solutions: he walks 440 feet down the boardwalk and then heads towards his umbrella, or he walks
720 feet down the boardwalk and then heads toward his umbrella.

Let x be the length of the hypotenuse of the triangle, in feet. Then one of the other
sides has length x — 7 feet, and since the perimeter is 392 feet, the remaining side
must have length 392 — x — (x — 7) = 399 — 2x. From the Pythagorean Theorem,
we get (x — 7)2 + (399 — 2x)2 = x2 < 4x2 — 1610x + 159250 = 0. Using the
Quadratic Formula, we get

x — 16810+ 16122@)4(4)(159250) = 161°i8V 44100 _ 161055210, and so x = 227.5 or x = 175. But if x = 227.5, then the

side of length x — 7 combined with the hypotenuse already exceeds the perimeter of 392 feet, and so we must have x = 175.
Thus the other sides have length 175 — 7 = 168 and 399 — 2 (175) = 49. The lot has sides of length 49 feet, 168 feet, and
175 feet.

. Let h be the height of the screens in inches. The width of the smaller screen is h + 7 inches, and the width of the bigger

screen is 1.8h inches. The diagonal measure of the smaller screen is y/h2 4+ (h + 7)2, and the diagonal measure of the
larger screen is \/h2 + (1.8h)2 = v/4.24h? ~ 2.06h. Thus \/h2 + (h + 7)2 + 3 = 2.06h < /h2 + (h + 7)2 = 2.06h — 3.
Squaring both sides gives h? + h2 ++ 14h + 49 = 4.24h? — 12.36h + 9 < 0 = 2.24h% — 26.36h — 40. Applying

26,36,/ (—26.36)°—4(2.24)(—40) 56 364 /10532405 . 26.36 & 32.45
22.28) = 4.48 ~ 4.48

the Quadratic Formula, we obtain h =

__ 26.36 +32.45

h ~ ~ 13.13. Thus, the screens are approximately 13.1 inches high.

4.48
Since the total time is 3 s, we have 3 = vd + a4 Letting w = +/d, wehave 3 = 3+ w2 & - w? +1w—-3=0
, 7 T 1090 ' 2+ 1050 1090 7
—545 +591.054 .
& 2w +5450 — 6540 =0 w = ————""" Since w > 0, we have +/d = w ~ 11.51, so d = 132.56. The well

4
is 132.6 ft deep.
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Method 1: Letu = /X, so u? = x. Thus x — /X —2 = O becomesu? —u—2=0< U —2) (U+1)=0.Sou =2
oru=—11fu=2then /X =2= x =4. Ifu = -1, then /X = —1 = x = 1. So the possible solutions are 4 and
1. Checking x = 4wehave4 —/4—2=4—-2—-2=0. Checkingx =1wehavel —/1—-2=1—-1-2£0. The
only solution is 4.

Method 2: X — /X —2=0x —2= /X = X2 —4x +4=xx2 —5x+4=0& (x —4) (x —1) = 0. So the
possible solutions are 4 and 1. Checking will result in the same solution.

1 12 1
Method 1: Letu = ——, sou? = 5. Thus 5 + 0
x—3 (x —3) (x=3% x-=3

. _ —104/102-4(12)()) _ —10+£452 _ —1042J/13 _ —5+/13 _ —5-/13
the Quadratic Formula, we have u = 21D = =7 = 1 = et Ifu= ===,

+ 1 = 0 becomes 12u2 + 10u 4+ 1 = 0. Using

_5_ 12(-5++13
5 m@x—S— 12 =5+v13 _ ( ):—5+\/E.Sox:—2+\/ﬁ.

then =3 =1 T 513 —51/13 2
5413 1 -5+ 413 _a_ 12  -5-,/13 _ 12<_5_m) — _5_
Ifu==% ,thenX_B_ 5 o X 3_—5+Jﬁ s = - = -5-./13. So
X =—2—+/13.
The solutions are —2 =+ +/13.
12

1
ethod 2: Multiplying by the , (X —3)%, we get (x —3) +—+ =0-x=-3) ¢
Method 2: Multiplying by the LCD, (x — 3)2 (x —3)2 0 4 0-(x—23)2

(x—3)2 x-3
12410(Xx —=3) + (X —3)2 =012+ 10x — 30 + X% — 6x + 9 = 0 & x2 4 4x — 9 = 0. Using the Quadratic
Formula, we have u = =4 422_4(1)(_9 = _4i2‘/5_2 = _‘&222@ = —2 + /13. The solutions are —2 + +/13.

SOLVING INEQUALITIES

1 (@) Ifx <5thenx -3 <5-3=x-3<2.
(b) Ifx <5,then3.-x <3.5=3x < 15.
() Ifx >2,then —3-x < -3.-2= —3x < —6.
(d) If x < —2,then —x > 2.
. . .o X+1
2. To solve the nonlinear inequality < 0we
X =2 Interval (—00,-1) | (=1,2) | 2, 00)
first observe that the numbers —1 and 2 are zeros Signofx +1 — + +
of the numerator and denominator. These Signof x —2 ~ ~ +
numbers divide the real line into the three Signof (X +1)/(x —2) + — +

intervals (—oo, —1), (=1, 2), and (2, 00).

The endpoint —1 satisfies the inequality, because

1 . . . . 241,
+ 5 = 0 < 0, but 2 fails to satisfy the inequality because 2—+2 is not

defined.
Thus, referring to the table, we see that the solution of the inequality is [—1, 2).

3. (a)
(b)
4. (a)
(b)

No. For example, if x = =2, thenx (x + 1) = =2(=1) =2 > 0.
No. For example, if x = 2,then x (x + 1) =2 (3) = 6.

To solve 3x < 7, start by dividing both sides of the inequality by 3.
To solve 5x — 2 > 1, start by adding 2 to both sides of the inequality.
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5 6.
X —2+3xz% X 1—2x > 5x
—5|-17> $;no -5 11 > —25; yes
-1| -5>%;no -1 3> —5; yes
0 —2>0;no 0 1>0;yes
21 0=4no 2 -2 >%no
1 1> 3;yes 1 —1>5:n0
VB 47> 1 yes V5 | —3.47 > 11.18; no
3 72%;yes 3 —5>15;no
5| 13> 3;yes 5 —9 > 25: no
The elements 2, 1, /5, 3, and 5 satisfy the inequality. The elements —5, —1, and 0 satisfy the inequality.
7 8.
X 1<2x—-4<7 X —2<3—-x<2
-511<-14<7;no -5 —-2<8<2;no
-1 1<—-6<7;n0 -1 —2<4<2;no
0 1<—-4<7;n0 0 —-2<3<2,no
21 1<-8<7no 2 —2< % <2no
2| 1<-4<T7no 2 —2 <3 <2;no
1 1<-2<7;n0 1 —2<2<2;no
V5] 1<047<7;n0 V5 | =2 <0.76 < 2; yes
3 1<2<7;yes 3 —2<0<2;yes
5 1<6<7;yes 5 —2< -2 <2;yes
The elements 3 and 5 satisfy the inequality. The elements +/5, 3, and 5 satisfy the inequality.
9. 10.
X % < % X X2 +2 <4
-5 —% < 3iyes =5 | 27 <4;no
-1 -1< 3;yes -1 | 3<4vyes
0 % is undefined; no 0 2 < 4;yes
2 3<3ino 2 | 2 <4 yes
3 <o 2 | % <4 ves
1 1< 3;ino 1 3 < 4;yes
/5 0.45 < %; yes V51 7<4no
3 %5%;yes 3 11 <4;no
5 t<Ziyes 5 | 27 <4;no
The elements —5, —1, 4/5, 3, and 5 satisfy the inequality. The elements —1, 0, 4, 2, and 1 satisfy the inequality.
11. 5x < 6o x < %. Interval: (—oo, g] 12.2x > 8 © x > 4. Interval: [4, c0)

Graph:
Graph: e 4

Y
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13.2x -5>3o2x>8ox >4 14.3x+11 <53 < —-b6oXx <=2
Interval: (4, oo) Interval: (—oo, —2)
Graph: > Graph:
4 -2
15.2-3%>8o3& <2-8ex < -2 16.1 <5-2xo2x <5-1eox <2
Interval: (—oo, —2) Interval: (—oo, 2)
Graph: Graph:
iy 2
17.2x+1<0e2x < -leXx <—3 18.0<5-2x&2X <5&X < 3
Interval: (—oo, —%) Interval: (—oo, %)
Graph: T Graph: s
2 2
19. 14+4x <5-2xXobx<d4dex < % 205-3x<2-9%X &6x<-3Xx< —%
Interval: (—oo, %] Interval: (—oo, —%]
Graph: S Graph: 1
3 2
2L Ix-2s20ix>8ex> 88 22. %2 — 1x > } + x (multiply both sides by 6) <
Interval:(%s,oo) 4—3x21+6x<:>329x@%2x
Interval: (—oo, %]
Graph: 6 >

Graph: |

3

2.4-3X<—(148)©4-3xx<-1-8xob5x<-5 242(7x-3)<12X+16=14x-6<12x+ 16 &

[$)] [¢e]

ox< -1 2X<2sx<11
Interval: (—oo, —1] Interval: (—oo, 11]
Graph: Graph:
-1 11
25.2<x+5<4e-3<x<-1 26.5<3x—-4<149<3x<183<x<6
Interval: [-3, —1) Interval: [3, 6]
Graph: Graph:
-3 —1 3 6
27. 6<3x-7<8c1<3x<1561<x<5 28.-8<5x—4<5o-4<5x<9o -2 <x<
.1 49
Interval: [§5] Interval: [—g, g]
Graph: Graph:



29. 2<8-2&<-1o-10<-2x<-9&5>x=>3

(:)%gx <5

Interval: [%, 5)

SECTION 1.7  Solving Inequalities

30.-3<H+7<io-W<x<-Lo
—Qax<-28

. 10 13
Interval: [—?, —?]

113

Graph: 9 e Graph: 10 3
2 3 6
2 _ 2x-3 1 4-3 1
31 3 > X12 > 3 <8 > 2x — 3 > 2 (multiply each 32. -3 < 5 X < 7 < (multiply each expression by 20)
expression by 12) 11 > 2x > 5 4 > x > 3 —10=4(@-3%)<5-10<16-12x <5<
13 1 .. 11
Interval:(%,%] —265—12x5—11<:>?2xzﬁ(:>ﬁ§xg?
<[4l 13
Interval: o B
Graph: 5 M
2 2 Graph: M >
2 6
33. (x +2) (x — 3) < 0. The expression on the left of the inequality changes sign where x = —2 and where x = 3. Thus we
must check the intervals in the following table.
From the table, the solution set is
Interval (=00,=2) | (=2,3) | (3,00) x| =2 < x < 3}. Interval: (=2, 3).
Signof x + 2 - + +
Signofx —3 - - + Graph: 5 3
Sign of (x +2) (x —3) + — +

34. (x —5) (x +4) > 0. The expression on the left of the inequality changes sign when x = 5 and x = —4. Thus we must

check the intervals in the following table.

From the table, the solution set is

Interval (=00, —4) | (=4,5) | (5,00) (XX < —4or5<x).
Signofx —5 — - + Interval: (—oo, —4] U [5, 00).
Signofx + 4 - + +
Sign of (x —5) (x + 4) + - + Graph: —4 5 >
35. x (2x + 7) > 0. The expression on the left of the inequality changes sign where x = 0 and where x = —%. Thus we must
check the intervals in the following table.
- - From the table, the solution set is
Interval (—oo, —5) (—5,0) (0, 00) {x X < _% or0 < x}.
Sign of x - — +
Signof 2x + 7 — + + Interval: (—oo, —%] U [0, 00).
Signof x 2x +7) + — +

Y

Graph:

LSTEN]
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36. x (2 — 3x) < 0. The expression on the left of the inequality changes sign when x = 0 and x = % Thus we must check the

intervals in the following table.

Interval (—00,0) (0, %) (3, oo)
Sign of x - + +
Sign of 2 — 3x + + —
Sign of x (2 — 3x) - + -

37.

x = —3. Thus we must check the intervals in the following table.

Interval (=00,=3) | (=3,6) | (6,00)
Signofx +3 - + +
Signof x — 6 - - +
Sign of (x 4+ 3) (x — 6) + - +

38.

X = —2. Thus we must check the intervals in the following table.

Interval (=00,=3) | (=3,-2) | (=2,0)
Signofx +3 - + +
Sign of x + 2 - - +
Sign of (x +3) (x + 2) + - +

From the table, the solution set is

{x|x500r%§x}.

Interval: (—oo, 0] U [% oo).

\ 4

Graph:

wI[N

x2—3x—18<0& (X +3) (X — 6) < 0. The expression on the left of the inequality changes sign where x = 6 and where

From the table, the solution set is
{x | =3 < x < 6}. Interval: [-3, 6].

Graph: . o

X2 +5X+6> 0 (X+3)(X+ 2) > 0. The expression on the left of the inequality changes sign when x = —3 and

From the table, the solution set is
{x|x<-=30or —2 <x}.
Interval: (—oo, —3) U (=2, 00).

Graph: —o——————o0——>
-3 2

39. 2% +x>1le2x24x—-1>0 (X + 1) (2x — 1) > 0. The expression on the left of the inequality changes sign where
x = —1 and where x = % Thus we must check the intervals in the following table.

Interval (=00, —1) (—1, %) (% oo)
Signofx +1 — + +
Signof2x —1 — - +
Signof (x +1) 2x — 1) + - +

From the table, the solution set is

{x|xg—lor%§x}.

Interval: (—oo, —1] U [% oo).

Y

Graph:

40. X2 < x+2ox2—x—2 <0& (X +1) (X —2) < 0. The expression on the left of the inequality changes sign when
x = —land x = 2. Thus we must check the intervals in the following table.

Interval (=00,-1) | (=1,2) | (2,00)
Signofx +1 - + +
Signofx —2 - - +
Signof (x + 1) (x — 2) + - +

From the table, the solution set is
{x]—-1<x <2} Interval: (-1, 2).

Graph:
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41.3x2 —3x < 2X% +4 o x2 -3 -4 <0 (X + 1) (x — 4) < 0. The expression on the left of the inequality changes sign

where x = —1 and where x = 4. Thus we must check the intervals in the following table.
From the table, the solution set is
Interval (=00, =1) | (=14 | (4,00 (x| =1 < x < 4}. Interval: (=1, 4).
Signofx +1 - + +
Signofx — 4 - - + Graph: M 4
Signof (x + 1) (x — 4) + - +

42.5x2 +3x > 3x2 +2 = 2x2 +3x —2 > 0 = (2x — 1) (x + 2) > 0. The expression on the left of the inequality changes
sign when x = % and x = —2. Thus we must check the intervals in the following table.

From the table, the solution set is

Interval —00,-2) | (-2, % i

nterva (=00, —2) ( ,2) (z,oo) {xlxg—Zor%gx}.
Signof2x — 1 - — +

Sign of x + 2 _ + + Interval: (—oo, —2] U [% oo).
Sign of 2x — 1) (X + 2) + - +

\ 4

Graph:

=

43. x2 > 3(X + 6) & X2 —3x —18 > 0 (X + 3) (x — 6) > 0. The expression on the left of the inequality changes sign
where x = 6 and where x = —3. Thus we must check the intervals in the following table.

From the table, the solution set is
Interval (=00,=3) | (=3,6) | (6,00) {X|x <—=30r6 < x}.
Signofx +3 - + + Interval: (—oo, —3) U (6, 00).
Signof x — 6 - - +
Sign of (x + 3) (x — 6) + - + Graph: —o ——————>

44. x2+2x >3 x2+2x-3> 0 (X + 3) (x — 1) > 0. The expression on the left of the inequality changes sign when
x = —3 and x = 1. Thus we must check the intervals in the following table.

From the table, the solution set is

Interval (=00,-3) | (=3,1) | (1,00) {x|x <—3o0rl <x}.

Signofx +3 - + + Interval: (—oo, —3) U (1, 00).
Signofx —1 - - +

Sign of (x +3) (x — 1) + - + Graph: —o ——————>

45. x2 <4 %2 —4 <0 (X +2) (x — 2) < 0. The expression on the left of the inequality changes sign where x = —2 and
where x = 2. Thus we must check the intervals in the following table.

From the table, the solution set is

Interval (=00, =2) | (=2,2) | (2,00) (X | =2 < x < 2}. Interval: (=2, 2).
Signof x +2 - + +

Signof x — 2 - - + Graph: ) 2

Sign of (x +2) (x — 2) + - +
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46. x2 > 9= x2 -9 > 0 (X +3) (x —3) > 0. The expression on the left of the inequality changes sign when x = —3 and
x = 3. Thus we must check the intervals in the following table.

From the table, the solution set is

Interval (=00,-3) | (=3,3) | (3,00) {x|x <—=30r3<x}.

Signofx +3 - + + Interval: (—oo, —3] U [3, 00).
Signofx —3 - - +

Sign of (x +3) (x —3) + - + Graph: 3 3 >

47. (x +2) (x — 1) (x — 3) < 0. The expression on the left of the inequality changes sign when x = —2, x = 1, and x = 3.
Thus we must check the intervals in the following table.

Interval (—00,—-2) | (-2,1) | (1,3) | (3,00)
Signof x + 2 - + + +
Signofx —1 - - + +
Signofx —3 - - - +
Signof x +2) (x — 1) (x —3) - + - +

From the table, the solution setis {x | x < —2 or 1 < x < 3}. Interval: (—oo, —2]U[1, 3]. Graph:
-2 1 3

48. (x —=5) (x —2) (x + 1) > 0. The expression on the left of the inequality changes sign when x =5, x = 2, and x = —1.
Thus we must check the intervals in the following table.

Interval (=00, =) | (-1,2) | (2,5) | (5,00)
Signofx —5 — — - +
Signof x —2 - - + +
Signofx +1 - + + +
Signof x =5 (x —2)(x + 1) - + - +
From the table, the solution setis {x | —1 < x < 2or5 < x}. Interval: (=1, 2) U(5, 0o). Graph: ﬂ—g—)

49. (X —4) (X + 2)% < 0. Note that (x 4 2)2 > 0 forall x # —2, s0 the expression on the left of the original inequality changes
sign only when x = 4. We check the intervals in the following table.

From the table, the solution set is

Interval (=00,=2) | (=2,4) | (4,0) {X | x # —2and x < 4}. We exclude the
Signofx — 4 - - + endpoint —2 since the original expression cannot
Sign of (x + 2)2 + + + be 0. Interval: (—oo, —2) U (=2, 4).
Sign of (x — 4) (X + 2)2 - - +

Graph:

—2 4
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50. (x +3)2 (x + 1) > 0. Note that (x + 3)2 > 0forall x # —3, so the expression on the left of the original inequality changes

sign only when x = —1. We check the intervals in the following table.
From the table, the solution set is {x | x > —1}.
Interval (=00, —3) | (=3,-1) | (=1,009) | (The endpoint —3 is already excluded.)
Sign of (x + 3)> + + + Interval: (=1, c0).
Signofx +1 - - +
Sign of (x +3)2 (x + 1) _ - + Graph: - o

51. (x — 2)2 (x —3)(x+1) < 0. Note that (x — 2)2 > 0 for all X, so the expression on the left of the original inequality

52.

53.

changes sign only when x = —1 and x = 3. We check the intervals in the following table.

Interval (=00,=1) | (=1,2) | 2,3) | (3,0)
Sign of (x — 2)? + + + +
Sign of x — 3 - - - +
Signofx +1 - + + +
Sign of (x —2)2 (x —3) (x + 1) + - - +

From the table, the solution setis {x | —1 < x < 3}. Interval: [—1, 3]. Graph:

X2 (x2 — 1) >0 x2 (x + 1) (x — 1) > 0. The expression on the left of the inequality changes sign when x = £1 and
x = 0. Thus we must check the intervals in the following table.

Interval (=00,-1) | (=1,0) | (0,1) | (1,00)
Sign of x2 + + + +
Signofx +1 - + + +
Signof x — 1 - - - +
Sign of x2 (x2 - 1) + - - +

From the table, the solution set is {x | x < —1, x =0, or 1 < x}. (The endpoint 0 is included since the original expression

is allowed to be 0.) Interval: (—oo, —1] U {0} U [1, co). Graph:

>
>

-1 0 1

x3—4x > 0 x (x2 — 4) > 0< X (X +2) (x —2) > 0. The expression on the left of the inequality changes sign where

x = 0, x = —2 and where x = 4. Thus we must check the intervals in the following table.

Interval (=00,-2) | (=2,0) | (0,2) | (2,00)
Sign of x - - + +
Signof x + 2 - + + +
Signof x — 2 - - - +
Sign of x (X 4+ 2) (x — 2) - + - +

From the table, the solution setis {x | =2 < x < 0or x > 2}. Interval: (-2, 0)U(2, 00). Graph: —o—o———0—
) 0 2
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54. 16x < x3 < 0 < x3 — 16X = X (x2 — 16) =X (X —4) (X + 4). The expression on the left of the inequality changes sign
when x = —4, x = 0, and x = 4. Thus we must check the intervals in the following table.

Interval (=00, —4) | (=4,0) | (0,4) | (4,00)
Signofx +4 - + + +
Sign of x - - + +
Signof x — 4 - - - +
Signof x (X +4) (x — 4) - + - +

From the table, the solution setis {x | —4 < x < 0 or4 < x}. Interval: [—4, 0]U[4, co). Graph:

\ 4

X+3
55. > + 1 > 0. The expression on the left of the inequality changes sign where x = —3 and where x = % Thus we must

check the intervals in the following table.

From the table, the solution set is

Interval -0, —3 -3,1 1
( ) ( 2) (2 ) {x |x <=3orx > %} Since the denominator
Signof x + 3 - + +
Signof 2x — 1 - _ + cannot equal 0, X # %
: 3 o 1
Sign of 2Xx+ 1 + — + Interval: (—oo, —3] U (2, oo)_

Graph:

-3 1

4 —x . . . .
56. v < 0. The expression on the left of the inequality changes sign when x = —4 and x = 4. Thus we must check the

intervals in the following table.

From the table, the solution set is

Interval (=00, —4) | (-4,4) | (4,00) (XX < —4orx > 4}.
Sign of 4 — x + + - Interval: (—oo, —4) U (4, 00).
Signof x + 4 — + +
- Graph! —o————————o—
Sign of - - —4 4
ign of ~ T4 +

4—x . . . . . .
57. 14 < 0. The expression on the left of the inequality changes sign where x = £4. Thus we must check the intervals in

the following table.

From the table, the solution set is

Interval (—00,—4) | (4,4) | (4,00 {X|x <—4orx > 4}.
Sign of 4 — x + + - Interval: (—oo, —4) U (4, 00).
Signof x + 4 - + +
4—x Graph: —o0—o—>
Sign of —— - - —4 4
g X+4 *
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x+1 x+1 x+1 2(x-3 3x -5 . . .
+ <0< + +2e0< + + ( ) <0< . The expression on the left of the inequality
x—3 Xx—3 x—3 x—3 x—3

changes sign when x = % and x = 3. Thus we must check the intervals in the following table.

B58. -2 <

From the table, the solution set is

5 5
Interval (_OO’ §) (3,3) (3, 00) {x | x < % or3<x < oo}.
Signof 3x —5 - + +
Sign of x — 3 — — + Interval: (—oo, %) U (3, 00).
3x—5
Sign of X + - +
Xx—3 Graph: T 2 3 >
3
2x+1 2x+1 2x+1 3(xx-=5 - 16
59. X+ <3& X+2_ 3<0& X2 L <0& X+ < 0. The expression on the left of the inequality
X—5 X—5 X—5 X—5 X—5

changes sign where x = 16 and where x = 5. Thus we must check the intervals in the following table.

From the table, the solution set is

Interval (=00,5) | (5,16) | (16, 00) {x | x <5o0rx > 16}. Since the denominator

Sign of —x + 16 + + - cannot equal O, we must have x # 5.

Signofx —5 - + + Interval: (—o0, 5) U [16, c0).

. —X 416

Sign of X —5 - + - Graph: >

5 16
3 3 3 3-
60. 31_2 >l 3t§ -1>0e Bti - 3_2 >0 3% > 0. The expression on the left of the inequality changes

sign when x = 0 and x = 3. Thus we must check the intervals in the following table.

Since the denominator cannot equal 0, we must

Interval (=00,0) | (0,3) | B, ) have x = 3. The solution set is {x | 0 < x < 3}.
Signof 3 — x + + - Interval: [0, 3).
Sign of 2x - + +
2x Graph:
Sign of —— — — 0 3
ign o 3—x +
4 4 4 . 4 —x? 2—X)(2 .
61.;<x<:>;—x<04:>;—¥<04:> X <0<:>( X)X( +X)<O. The expression on the left of the

inequality changes sign where x = 0, where x = —2, and where x = 2. Thus we must check the intervals in the following

table.
Interval (=00,=2) | (=2,0) | (0,2) | (2,00)
Sign of 2 + x - + + +
Sign of x - - + +
Sign of 2 — x + + + -
2— 2
Sign of —( X)X( +X) + - + -

From the table, the solution setis {x | =2 < x < 0or 2 < x}. Interval: (-2, 0)U(2, 00). Graph: —o—o———0—>
) 0 2
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3 1 —2x —3x? X243 :
AL VUL SUU W DU S e I D S M>O.Theexpressmnon

Xx+1 Xx+1 X+1 X+1 X+1 Xx+1
the left of the inequality changes sign whenx =0, x = —%, and x = —1. Thus we must check the intervals in the following
table.

Interval (—00, —1) (—1, —%) (—%, o) 0, 00)

Sign of —x + + + -

Sign of 2 + 3x - - + +

Signofx +1 - + + +

2— 2
S|gn of w + — + —

From the table, the solution set is {x |x <—lor —% <x < 0}. Interval: (—oo, —1) U (—%,O).

. —0 >
Graph: o 2 0
3
2 —2x —
63 14 2oy 2 _E< X(x+1) 2x —2(X+1)§ @x + X +2x — 2X 250@
X+17 X X+1 X X(X+1)  xx+1) x(x+1) X(X+1)
24x-2 2)(x—1
XX < w < 0. The expression on the left of the inequality changes sign where x = —2, where

X(x+1) — X(x+1)

x = —1, where x = 0, and where x = 1. Thus we must check the intervals in the following table.

Interval (—00,-2) | (-=2,-1) | (-1,0) | (0,1) | (1,00)
Signof x +2 - + + + +
Signofx —1 - - - - +
Sign of x - - - + +
Signofx +1 - — + + +
Sign of % + - + - +

Since x = —1 and x = 0 yield undefined expressions, we cannot include them in the solution. From the table, the solution

setis{x | =2 < x < —=1or0 < x < 1}. Interval: [-2, —1) U (0, 1]. Graph:
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3 40 3 A e X A=) x(x=D) ©3x—4x+4—x2+x>0@

x—1 x - x—1 x - XxX(x—1) x(x-1) xx-=-1)~— X(x—=1) -
—x2 —

4 —X -0 2-x)2+x)

Xo—D) > e — x-1D > 0. The expression on the left of the inequality changes sign when x = 2, x = —2,

x = 0, and x = 1. Thus we must check the intervals in the following table.

Interval (—00,—=2) | (=2,0) | (0,1) | (1,2) | (2,00)
Sign of 2 — x + + + + -
Sign of 2 + x - + + + +
Sign of x - - + + +
Signofx —1 - - - + +

. 2—X)2+x
Sign of %(_1)) - + — + -

Since x = 0 and x = 1 give undefined expressions, we cannot include them in the solution. From the table, the solution set

is{x| —-2<x<0orl<x <2} Interval: [-2,0) U (1, 2]. Graph: —e———o0—o0—e—

-2 0o 1 2
6 6 6 6 6x 6(x—1) x(x-1)

65. —=>1 —=—=1>0 — — >0
x—1 x = (:)x—l X - @x(x—l) x(x—=1 x(x-=1) "~ <
6x — 2 2 _

X —6X +6 —X° + X P X +x+62 (—Xx+3) X +2) > 0. The
X (X —1) X (X —1) X(x—=1)

expression on the left of the inequality changes sign where x = 3, where x = —2, where x = 0, and where x = 1. Thus we

must check the intervals in the following table.

Interval (—00,—-2) | (-=2,0) | (0,1) | (1,3) | (3,00)
Signof —x +3 + + + + -
Signof x +2 - + + + +
Sign of x - - + + +
Signofx — 1 — — — + +

. —X+3)(x+2
Sign of (x(x—)—(l)) - + - + -

From the table, the solution setis {x | =2 < x <0or1 < x < 3}. The points x = 0 and x = 1 are excluded from the

solution set because they make the denominator zero. Interval: [—2, 0) U (1, 3]. Graph: o—o
-2
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x 5 X(x+1) 2.5 4@ x+1) x2 4% —10—8x —8
4ol 2 _4s0 - . 0 0
x+1 T2 TxF1 "% 20+ 27D 20+ o0 20+ 1) zve

X
66. ~
22

x2 —7x — 18 xX—9) (X +2)
261D 20  2x10)

> 0. The expression on the left of the inequality changes sign when x = 9, x = —2,

and x = —1. Thus we must check the intervals in the following table.

Interval (=00,-2) | (=2,=1) | (=1,9) | (9,00)
Signofx — 9 - - - +
Signof x +2 - + + +
Signofx +1 - - + +

. x=-9x+2
Sign of — 2~~~ - -

ign of — xT D + +

From the table, the solution setis {x | —2 < x < —10r9 < x}. The point x = —1 is excluded from the solution set because

-1
it makes the expression undefined. Interval: [-2, —1) U [9, c0). Graph: —eo————————+—>

-2 9
67 X+2 - x—l@x+2_x—1 - x+2)(x-2) (x-DH(x+3) 0o
X+3 x-2 X+3 x-2 xX+3)x—-2) xX—-2)(x+3
2 2
X —4—x“—2x+3 —2x—1 . . .
<0& ————— < 0. The expression on the left of the inequalit
X+3) (x—2) *X+3) (X —2) P quality
changes sign where x = —%, where x = —3, and where x = 2. Thus we must check the intervals in the following table.
Interval (—00, —3) (—3, —%) (—%, 2) 2, 00)
Signof —2x — 1 + + - -
Signofx +3 - + + +
Signofx —2 — - — +
—2x —1
Signof ————— + - + -
NIy -2

From the table, the solution set is {x |-3<x<-3or2< x}. Interval: (—3, —%) U (2, 00).

, —O———0———————O——p
Graph: 5 ) 5

2
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68 1 4 1 0o X+2 Xx+1 - @x+2+x+1< o 2x+3 <0 The
"X+1 x+2 -~ X+Dx+2) X+ x+2) ~ X+ (x+2) ~ X+ x+2) ~
expression on the left of the inequality changes sign when x = —%, x = —1, and x = —2. Thus we must check the intervals
in the following table.

Interval (—00, —2) (—2, —%) (—%, —1) (=1, 00)
Sign of 2x + 3 — — + +
Signofx +1 - - - +
Signof x + 2 - + + +
. 2X +3
Sign of —— - + - +
N FDx+2
From the table, the solution set is {x | x < —2o0r — % <X < —1}. The points x = —2 and x = —1 are

excluded from the solution because the expression is undefined at those values. Interval: (—oo, —2) U [—% —1).

, =—0
Graph: - 7% ~
-1 2
69. % > 0. Note that (x — 2)2 > 0 for all x. The expression on the left of the original inequality changes sign
X p—
when x = —2 and x = 1. We check the intervals in the following table.
Interval (—00,-2) | (-2,1) | 1,2) | (2,0)
Signofx —1 - - + +
Signof x +2 - + + +
Sign of (x — 2)2 + + + +
(x = 2)°

From the table, and recalling that the point x = 2 is excluded from the solution because the expression is
undefined at those values, the solution set is {x | x < —2 or x > 1and x # 2}. Interval: (—oo, —2] U [1,2) U (2, 00).

Graph: ———¢—o0—>»
-2 1 2
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70

71.

72.

(2x — 1) (x — 3)?

CHAPTER 1 Equations and Graphs

2 < 0. Note that (x — 3)2 > 0 for all x = 3. The expression on the left of the inequality changes sign

when x = % and x = 4. We check the intervals in the following table.

Interval (—00, %) (% 3) 3.4 | (4,00
Signof2x —1 - + + +
Sign of (x — 3)2 + + + +
Signof x — 4 - - - +
Sign of W + - - +

From the table, the solution set is {x | X # 3and % <X < 4}. We exclude the endpoint 3 because the original expression

cannot be 0. Interval: (2,3) U (3, 4). Graph: T T 4

[S)

x> x2ext—x2 > 0o x? (x2 - 1) > 0 x2(x —1) (x +1) > 0. The expression on the left of the inequality

changes sign where x = 0, where x = 1, and where x = —1. Thus we must check the intervals in the following table.

Interval (—o0,-1) | (-1,0) | (0,1) | (1,00)
Sign of x2 + + + +
Signofx —1 — - - +
Signof x +1 - + + +
Sign of x2 (x — 1) (X + 1) + - - +

From the table, the solution setis {x | x < —1or1 < x}. Interval: (—oco, —1) U (1, 00). Graph; —o————0—>
-1 1

X°>x2exd—x2> 0 x2 (x3 - 1) >0 x2(x—1) (x2 +Xx+ 1) > 0. The expression on the left of the inequality

-1+ -4 @) -1+ /73

2(D) - 2
Since these are not real solutions. The expression x2 + x + 1 does not change signs, so we must check the intervals in the
following table.

changes sign when x = 0 and x = 1. But the solution of x24+Xx+1=0arex =

Interval (=00,0) | (0,1) | (1,00)
Sign of x2 + + +
Signof x — 1 - - +
Signof x2 +x +1 + + +
Signofxz(x—l)(x2+x+1) - - +

From the table, the solution setis {x | 1 < x}. Interval: (1, co). Graph:

Y



73.

74.

75.

76.

7.

78.
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For v/16 — 9x2 to be defined as a real number we must have 16 — 9x2 > 0 < (4 — 3X) (4 + 3x) > 0. The expression in the

inequality changes sign at x = % and x = —%.

Interval (—oo, —%) (—%, %) (‘—3‘ oo)
Sign of 4 — 3x + + -
Sign of 4 + 3x - + +
Sign of (4 — 3x) (4 + 3x) — + -

Thus —3 < x <

i

For v/3x2 — 5x + 2 to be defined as a real number, we must have 3x2 —5x +2 > 0 & (3x —2) (x — 1) > 0. The
expression on the left of the inequality changes sign whenx = % and x = 1. Thus we must check the intervals in the
following table.

Interval (—oo, %) (% 1) (1, 00)
Sign of 3x — 2 - + +
Signofx —1 — - +
Sign of (3x —2) (x — 1) + - +

Thusxg%orlgx.

1/2
For (m) to be defined as a real number we must have X2 —5x —14 > 0 < (X = 7) (X +2) > 0. The

expression in the inequality changes signat x = 7 and x = —2.
Interval (=00,=2) | (=2,7) | (7,00)
Signofx —7 - - +
Sign of x 42 - + +
Signof (x = 7) (X + 2) + - +

Thus x < —2o0r 7 < X, and the solution set is (—oo, —2) U (7, 00).

1-—x . 1
For 4 7T to be defined as a real number we must have 7

z > 0. The expression on the left of the inequality changes

sign when x = 1 and x = —2. Thus we must check the intervals in the following table.

Interval (—00,-2) | (-2,1) | (1, 0)
Signof 1 —x + + -
Sign of 2 + x — + +
1-—x
Sign of —— - -
9 24X +
Thus —2 < x < 1. Note that x = —2 has been excluded from the solution set because the expression is undefined at that

value.

b

a—c<X<2a—c
b ~ b

1
a(bx—c)zbc(wherea,b,c>0)<:>bx—cz%@bxz%+C@xz—(%+c)=§+%@xz§+

We havea < bx +¢ < 2a,whereab,c >0 a—-c<bx <2a—-c&
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79.

80.

81.

82.

83.

85.

86.

87.

h

CHAPTER 1 Equations and Graphs

Inserting the relationship C = %(F —32),wehave20 < C <3020 < g (F-32)<30e=36<F-32<5Ms
68 < F < 86.

Inserting the relationship F = 2C +32, we have 50 < F < 9550 < 2C+32< 9518 < 2C <6310 < C < 35.

Let x be the average number of miles driven per day. Each day the cost of Plan A is 30 + 0.10x, and the cost of Plan B is
50. Plan B saves money when 50 < 30 + 0.10x < 20 < 0.1x < 200 < x. So Plan B saves money when you average more
than 200 miles a day.

Let m be the number of minutes of long-distance calls placed per month. Then under Plan A, the cost will be

25 + 0.05m, and under Plan B, the cost will be 5 + 0.12m. To determine when Plan B is advantageous, we must solve
254 0.05m > 54 0.12m < 20 > 0.07m < 285.7 > m. So Plan B is advantageous if a person places fewer than
286 minutes of long-distance calls during a month.

We need to solve 6400 < 0.35m + 2200 < 7100 for m. So 6400 < 0.35m + 2200 < 7100 < 4200 < 0.35m < 4900 <
12,000 < m < 14,000. She plans on driving between 12,000 and 14,000 miles.

5 where T is the temperature in °C, and h is the height in meters.

(b) Solving the expression in part (a) for h, we geth = 100(20 — T). So0 < h <5000 < 0 < 100(20 — T) < 5000 <
0<20—-T <50 -20< -T <3020 > T > —30. Thus the range of temperature is from 20° C down to
—30° C.

(a) Let x be the number of $3 increases. Then the number of seats sold is 120 — x. So P = 200 + 3x
33X =P-200=x = % (P —200). Substituting for x we have that the number of seats sold is
120 —x =120 — 1 (P — 200) = - %P + 580.
(b) 90 < —2P + 380 < 115 270 < 360 — P +200 < 345 < 270 < —P +560 < 345 & —290 < —P < 215 &

290 > P > 215. Putting this into standard order, we have 215 < P < 290. So the ticket prices are between $215 and
$290.

If the customer buys x pounds of coffee at $6.50 per pound, then his cost ¢ will be 6.50x. Thus x = 6_05 Since the
scale’s accuracy is +0.03 Ib, and the scale shows 3 Ib, we have 3 — 0.03 < x < 3+ 0.03 < 2.97 < 6—C5 <303

(6.50)2.97 < ¢ < (6.50)3.03 < 19.305 < ¢ < 19.695. Since the customer paid $19.50, he could have been over- or
undercharged by as much as 19.5 cents.

4,000,000

0.0004 < 2 < 0.01. Sinced? > Oandd # 0, we can multiply each expression by d? to obtain

0.0004d? < 4,000,000 < 0.01d2. Solving each pair, we have 0.0004d? < 4,000,000 <> d? < 10,000,000,000
= d < 100,000 (recall that d represents distance, so it is always nonnegative). Solving 4,000,000 < 0.01d? <
400,000,000 < d2 = 20,000 < d. Putting these together, we have 20,000 < d < 100,000.
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600,000
x2 4300

denominator and not worry that we might be multiplying both sides by a negative number or by zero.) 1200 < x2 + 300

< 500 < 600,000 < 500 (x2 + 300) (Note that x2 + 300 > 300 > 0, so we can multiply both sides by the

0<x2-9000 < (x — 30) (x + 30). The expression in the inequality changes sign at x = 30 and x = —30. However,
since x represents distance, we must have x > 0.

Interval (0,30) | (30, 00)
Sign of x — 30 - +
Sign of x + 30 + +
Sign of (x — 30) (x + 30) - +

So x > 30 and you must stand at least 30 meters from the center of the fire.

128 + 16t — 16t2 > 32 & —16t2 + 16t + 96 > 0 <> —16 (t2 —t— 6) > 0 —16(t — 3) (t + 2) > 0. The expression on

the left of the inequality changes signat x = —2,att = 3, and att = —2. However, t > 0, so the only endpointist = 3.

Interval 0,3) | (3,00)
Sign of —16 — -
Signoft —3 - +
Signoft+2 + +
Signof =16 (t — 3) (t + 2) + -

So0<t<3

Solve 30 < 10 + 0.9v — 0.01v2 for 10 < v < 75. We have 30 < 10 + 0.9v — 0.0102 < 0.0102 = 0.9 +20 < 0 =
(0.1o — 4) (0.1o — 5) < 0. The possible endpointsare 0.1v —4=0<0.1o =4 v =40and0.1o —5=0<0.1o =5
<o =50.

Interval (10, 40) | (40,50) | (50, 75)
Signof 0.1v — 4 - + +
Signof 0.1o — 5 — — +
Sign of (0.1v — 4) (0.1v — 5) + - +

Thus he must drive between 40 and 50 mi/h.

2
240 > v + 12)—0 =3 2—101)2 +0-20<0& (2—101) — 3) (v 4+ 80) < 0. The expression in the inequality changes sign at

v = 60 and o = —80. However, since v represents the speed, we must have » > 0.

Interval (0,60) | (60, c0)
Sign of 250 — 3 - +
Sign of v + 80 + +
Sign of (2—101) _ 3) +80) | - +

So Kerry must drive between 0 and 60 mi/h.
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96.

97.

CHAPTER 1 Equations and Graphs

Solve 2400 < 20x — (2000 +8x + 0.0025X2) & 2400 < 20x — 2000 — 8x — 0.0025x2 & 0.0025x% — 12x + 4400 < 0

< (0.0025x — 1) (x — 4400) < 0. The expression on the left of the inequality changes sign whenx = 400 and x = 4400.
Since the manufacturer can only sell positive units, we check the intervals in the following table.

Interval (0,400) | (400,4400) | (4400, )
Sign of 0.0025x — 1 - + +
Sign of x — 4400 - - +
Sign of (0.0025x — 1) (x — 4400) + - +

So the manufacturer must sell between 400 and 4400 units to enjoy a profit of at least $2400.
Let x be the length of the garden and w its width. Using the fact that the perimeter is 120 ft, we must have 2x + 2w = 120
& w = 60 — x. Now since the area must be at least 800 ftZ, we have 800 < x (60 — X) <> 800 < 60x — X2 <

x2 — 60X + 800 < 0 < (x — 20) (x — 40) < 0. The expression in the inequality changes sign at x = 20 and x = 40.
However, since x represents length, we must have x > 0.

Interval (0,20) | (20,40) | (40, 0)
Signof x — 20 - + +
Sign of x — 40 — - +
Sign of (x — 20) (x — 40) + - +

The length of the garden should be between 20 and 40 feet.

Casel:a<b <0 Wehavea-a>a-b,sincea <0,andb-a>b-b,sinceb <0. Soa? > a-b > b, that is
a<b<0= a?> b2 Continuing, we havea -a < a-b?, sincea < 0and b?-a < b2 - b, since b2 > 0. So

a3 <ab? <b3. Thusa <b <0=a3>Db3 Soa<bh<0=a"> b", ifniseven anda" < b, if n is odd.
Case2:0<a<b Wehavea-a <a-b,sincea>0,andb-a <b-b,sinceb > 0. Soa2 <a-b <b? Thus0 <
a <b= a2 <b? Likewise,a?-a <a?-bandb-a%2 <b-b? thusa® <b3. S00 <a < b= a" < b", for all positive
integers n.

Case3:a <0 <b Ifnisodd, thena™ < b", because a" is negative and b" is positive. If n is even, then we could have
eithera” < b" ora" > b". For example, —1 < 2 and (—1)2 < 22, but —3 < 2 and (—3)2 > 22.

The rule we want to apply here is“a <b = ac <bcifc > 0anda < b = ac > bcifc < 0”. Thus we cannot simply

multiply by x, since we don’t yet know if x is positive or negative, so in solving 1 < o we must consider two cases.

Case 1: x > 0  Multiplying both sides by x, we have x < 3. Together with our initial condition, we have 0 < x < 3.
Case 2: x <0 Multiplying both sides by x, we have x > 3. But x < 0and x > 3 have no elements in common, so this
gives no additional solution.

Hence, the only solutions are 0 < x < 3.

a <b,sobyRulel,a+c <b+c. Using Rule 1 again, b + ¢ < b 4 d, and so by transitivity, a + ¢ < b + d.

% < % so by Rule 3, d% < d% S % < ¢. Adding a to both sides, we have % +a < ¢+ a. Rewriting the left-hand
side as % + % = %ﬁ_d) and dividing both sides by b + d gives % < LL;.

_c(b+d) 0a+c c

d Ybrd “q

- cb
Similarly,a + ¢ < T +cC
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1.8 SOLVING ABSOLUTE VALUE EQUATIONS AND INEQUALITIES

1. The equation |x| = 3 has the two solutions —3 and 3.

O© 00 N o O

11.

12.

13.

14.

15.

16.

17.

18.
19.

20.

21.

22.

23.

. (@) The solution of the inequality |x| < 3 is the interval [-3, 3].

(b) The solution of the inequality |x| > 3 is a union of two intervals (—oo, —3] U [3, c0).

. (a) The set of all points on the real line whose distance from zero is less than 3 can be described by the absolute value

inequality |x| < 3.
(b) The set of all points on the real line whose distance from zero is greater than 3 can be described by the absolute value
inequality |x| > 3.

. (@) |2x — 1] = 5 is equivalent to the two equations 2x — 1 =5and 2x — 1 = —5.

(b) [3x + 2| < 8isequivalentto -8 < 3x —2 < 8.

. |5X] =20 & 5x = £20 © x = 4.

=3x| =106 —3x = +10 & x = +30.
.5X|+3=285|x| =25 |x| =5 < x = +5.

L iXl-7T=2e1x|=9& x| =18 & x = £18.

. IXx —=3] =2isequivalenttox —3 =42 x =3+2<x=1orx =5.
10.

[2x — 3| = 7 isequivalenttoeither2x —3 =7 2x=10Xx =5;02x —3 = -7 2X = -4 < x = —2. The two

solutions are x = 5and x = —2.

X +4| =0.5isequivalenttox +4 =405 x=-4+05<x =—-450rx = —35.

[x 4+ 4] = —3. Since the absolute value is always nonnegative, there is no solution.

|2x — 3| = 1l isequivalenttoeither2x —3 =1l 2x =14 o x =7,0r2x —3 = -11 ©2x = -8 & x = —4. The

two solutions are x = 7 and x = —4.

|2 — x| = 11 is equivalent to either 2 — x =11 & x = —9; or 2 — x = —11 < x = 13. The two solutions are x = —9 and
x = 13.

4—13x+6] =1 —|3x + 6] = —3 & |3x + 6] = 3, which is equivalent to either 3x + 6 =3 < 3x = -3 o x = —1;
or3x +6 = -3 3x = —9 < x = —3. The two solutions are x = —1 and x = —3.

|5 —2x| + 6 = 14 & |5 — 2x| = 8 which is equivalent to either 5 —2x =8 & —2x =3 o X = —%; or5—-2x = -8«

—2Xx=-13sXx = %.The two solutions are x =—% and x = 1—23
31X +5/+6=15<3|x + 5 =9 < |x + 5] = 3, which is equivalent to eitherx + 5 =3 x = -2;orx+5=-3 &

X = —8. The two solutions are x = —2 and x = —8.

20 + |2x — 4] = 15 & |2x — 4] = —5. Since the absolute value is always nonnegative, there is no solution.
8+5'%x—%’ :33@5‘%x—%’ :25@‘%x—%‘ = 5, which isequivalenttoeither%x—%:5(:»%x = 365@
x=Forix-2=-5oix=-2 ox=-2. Thetwosolutionsare x = —2 and x = .
‘%x+2‘—%=4@‘%x+2‘ =%Which isequivalenttoeither%x+2=%@%x=%@x=%;or%x+2=—%@
%x = —% S X = —6—65. The two solutions are X = % and x = —6—65.

[x — 1] = |3x + 2|, which is equivalent to either x —1 =3x + 2 & —2x = 3 & X :—%;orx—l:—(3x+2)@
X—=1=-3XX-24x=-1ox= —711. The two solutions are x = —% and x = —%.

X + 3| = |2x + 1| isequivalentto either x +3 =2x+1o X = -2 x =2;0rx+3=—(2x+1) ©x+3=-2x—-1

& 3x = —4 & X = —4. The two solutions are x = 2 and x = —4.
x| <5 —5 < x < 5. Interval: [-5, 5].
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26.
27.
28.
29.
30.
31.

32.

33.

35.

36.

37.
38.
39.
40.

41.

42.

45.

46.

47.

CHAPTER 1 Equations and Graphs

[2X| < 20 & —20 < 2x < 20 & —10 < x < 10. Interval: [-10, 10].

2x| > 7isequivalentto 2x > 7> X > £;0r2x < —7 & x < —4. Interval: (—oo, —%) U (7,00).

% [Xx] > 1< x| > 2isequivalentto x > 2 or x < —2. Interval: (—oo, —2] U [2, 00).

|x —4] < 10is equivalentto —10 < x — 4 < 10 & —6 < x < 14. Interval: [—6, 14].

[x — 3] > 9isequivalenttox —3 < =9 X < —6;0rx —3 > 9 x > 12. Interval: (—oo, —6) U (12, 00).

X +1] > lisequivalenttox +1 >1ox >0;0orx +1 < -1 < x < —2. Interval: (—oo, —2] U [0, c0).

X +4| < Oisequivalentto [x + 4| =0 < x + 4 = 0 & x = —4. The only solution is x = —4.

[2x + 1| > 3isequivalentto2x +1 < -3 2x < 4o Xx < -2;0r2x+1 >3 2x > 2 < x > 1. Interval:
(=00, =2] U [1, 00).

3x — 2| > 7isequivalentto3x —2 < - 73X < -box < —%; or3x —2> 73X > 9 x > 3. Interval:
(—oo, —%) U (3, 00).

2Xx —3] <04 —-04<2x—-3<04=26<2x <34<13 <x <17 Interval: [1.3,1.7].
4 8

IBX =2 <6 —6 <5x—2 <6 —4 <5x <8 —F <x < & Intenval: (¢, §).

X—2

—2
<2227 0 6<x—2<6o—4<x <8 Interval: (=4, 8).

Xx+1

24@‘%(x+1)‘ >4 3x+1] > 4 < |x +1] > 8 which is equivalent to either x +1 > 8 & x > 7; or

Xx+1< -8 x < -9 Interval: (—oo, —9] U [7, c0).

[x + 6] < 0.001 & —0.001 < x + 6 < 0.001 & —6.001 < x < —5.999. Interval: (—6.001, —5.999).
Xx—al<doe-d<x—a<doa—d<x <a+d. Interval: (@ —d,a+d).

4Ix+2| -3 <B4 x+2<lbo|x+2|<de -4 <x+2 <4 —6 <X <2 Interval: (-6, 2).

3—|2x+4| < 1o —|2x + 4] < —2 & |2x + 4] > 2 which is equivalent to either 2x +4 > 2 ©2x > -2 < x > —1;0r
2X4+4< 22X < -6 x < =3. Interval: (—oo, —3] U [—1, 00).

3
<X <3

Nl—

8—|2Xx—1>6o —|2Xx—1]> 2 2x—-1 <2 -2<2X-1<2-1<2X <3 -
Interval: [—% %]

TIX+2/+5>47x+2]> -1l |x+2| > —%. Since the absolute value is always nonnegative, the inequality is
true for all real numbers. In interval notation, we have (—oco, c0).

5 4 1

1
1 1 5 1 ik i ; ; 1.5 . 5
. 7’4x+§‘ > G‘:"4X+§‘ > 3, which is equivalent to either 4x + 3 > 3 ©4x > 3 & X > §,0r4x+§ <-3&

X < =2 X < —%. Interval: (—oo, —%) U (%oo)

2|3+ 3[+3s51e2|ix+3 s M8 [fx 43 s Mo 2 Ix+3sUe 2T hxsAe-Bsx<42

Interval: [-54, 42].
1 < |x] <4. Ifx >0, thenthisisequivalentto 1 < x < 4. Ifx <0, then thisisequivalenttol < —x <4< —-1>x > —4
< —4 <x < —1. Interval: [-4, —1] U [1, 4].

<x < 171 Since x = 5 is excluded, the solution is

Nl

0 < |x —5| < 4. Forx #5, this is equivalentto -3 < x -5 < 1
9 11
[3:5)u (s %]

15

m>2<:>1>2|x+7|(x;£—7)<:>|x+7|<%<:>—% <x+7<te-8 <x<-Bandx -7

.(_15 13
Interval: (—7, - ) U (— ,—7).
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1 . .
P < 5& ¢ < |2x - 3|, since [2x —3| > 0, provided 2x — 3 # 0 & x # 3. Now for x # 3, we have

t < |2x—3lisequivalenttoeither £ < 2x -3 ¥ < x ol <xox-3<-tex<cPox<i

Interval: (—oo, %] U [%, oo).

x| <3 50. x| > 2 B51.Ix—-7]>5 B2.|x —=2| <4
x| <2 5. x| >1 55. x| > 3 56. x| < 4
(a) Let x be the thickness of the laminate. Then |x — 0.020] < 0.003.

(b) [x —0.020] < 0.003 & —0.003 < x —0.020 < 0.003 < 0.017 < x < 0.023.

h —68.2 h —68.2
2.9
between 62.4 in and 74.0 in.

‘ <2 -2< <2< -58<h—-68.2<58«624 <h < 74.0. Thus 95% of the adult males are

|x — 1| is the distance between x and 1; |x — 3] is the distance between x and 3. So |x — 1] < |x — 3| represents those
points closer to 1 than to 3, and the solution is X < 2, since 2 is the point halfway between 1 and 3. If a < b, then the

. ) a4+
solutionto |[x —a| < |x —blisx <

1.9 SOLVING EQUATIONS AND INEQUALITIES GRAPHICALLY

. The solutions of the equation x2 — 2x — 3 = 0 are the x-intercepts of the graph of y = x2 — 2x — 3.

. The solutions of the inequality x2 — 2x — 3 > 0 are the x-coordinates of the points on the graph of y = x2 — 2x — 3 that lie

above the x-axis.

. (3) From the graph, it appears that the graph of y = x4 — 3x3 — x2 4 3x has x-intercepts —1, 0, 1, and 3, so the solutions

to the equation x4 —3x3 —x2+3x =0arex = —-1,x=0,x=1,and x = 3.
(b) From the graph, we see that where —1 < x < 0or1 < x < 3, the graph lies below the x-axis. Thus, the inequality
x4 —3x3 —x2 + 3x < Ois satisfied for {x | =1 < x <0orl < x <3} =[-1,0] U1, 3].

. (@) The graphs of y = 5x — x2 and y = 4 intersect at x = 1 and at X = 4, so the equation 5x — x2 = 4 has solutions x = 1

and x = 4.
(b) The graph of y = 5x — x2 lies strictly above the graph of y = 4 when 1 < x < 4, so the inequality 5x — x2 > 4 is
satisfied for those values of x, that is, for {x | 1 < x < 4} = (1, 4).

. Algebraically: x —4 =5x + 12 & —16 = 4x & x = —4. 6. Algebraically: %x —-3=64+2X=-9= %x S X = —6.

Graphically: We graph the two equations y; = x — 4 and

Graphically: We graph the two equations y; = %x —3and
y2 = 5x + 12 in the viewing rectangle [—6, 4] by

y2 = 6 + 2x in the viewing rectangle [—10, 5] by

[-10,2]. Zooming in, we see that the solution is x = —4. [—10, 5]. Zooming in, we see that the solution is x = —6.
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7.

11.
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Algebraically: ; + % =7 2x (; + %) =2x(7)

S4+l=1Uxox =1

. . 2 1
Graphically: We graph the two equations y; = X + ™
and yo = 7 in the viewing rectangle [—2, 2] by [-2, 8].
Zooming in, we see that the solution is x ~ 0.36.

4

. Algebraically: x2 —32 =0 x2 =32 =

X = £/32 = +4./2.

Graphically: We graph the equation y; = x2 — 32 and
determine where this curve intersects the x-axis. We use
the viewing rectangle [—10, 10] by [-5, 5]. Zooming in,
we see that solutions are x ~ 5.66 and x ~ —5.66.

~

,
N

Algebraically: x2 + 9 = 0 < x2 = —9, which has no real
solution.
Graphically: We graph the equation y = x2 + 9 and see

that this curve does not intersect the x-axis. We use the
viewing rectangle [-5, 5] by [-5, 30].

30

6 5

8. Algebraically: _4 6 =S

X+2 2x 2x+4

4 6 5

2X@)-x+2)6)=xOBG)=8x—-6x—-12=5
—12=3x o -4 =x.
Graphically: We graph the two equations

4
= T 2+ 4
rectangle [-5, 5] by [—10, 10]. Zooming in, we see that
there is only one solution at x = —4.

N

and yp, = in the viewing

10. Algebraically: x3 +16 =0 = x3 = —16 & x = —27/2.

Graphically: We graph the equation y = x3 + 16 and

determine where this curve intersects the x-axis. We use
the viewing rectangle [—5, 5] by [—5, 5]. Zooming in, we

see that the solution is x ~ —2.52.

Algebraically: X2 +3=2x & x2 —2x+3=0&

(D J(=2? -4 2+/78

X= 2(1) 2(1)

Because the discriminant is negative, there is no real
solution.

Graphically: We graph the two equations y; = x2 + 3 and
y> = 2x in the viewing rectangle [—4, 6] by [—6, 12], and
see that the two curves do not intersect.




13. Algebraically: 16x* = 625 < x* = 82 =

15.

X =43 =£25.

Graphically: We graph the two equations y; = 16x# and
y2 = 625 in the viewing rectangle [—5, 5] by [610, 640].
Zooming in, we see that solutions are x = £2.5.

640 T

630 T

620 T

4 2 0 2 4

Algebraically: (x —5)* —80 =0 (x —5)* =80 =
X —5 =480 =425 < x =5+ 235,
Graphically: We graph the equation y; = (x — 5)4 — 80

and determine where this curve intersects the x-axis. We
use the viewing rectangle [—1, 9] by [—5, 5]. Zooming in,

we see that solutions are X ~ 2.01 and x ~ 7.99.
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14. Algebraically: 2x> — 243 = 0 & 2x° = 243 & x5 = 23

SO X = 5/2;33:%\5/%.

Graphically: We graph the equation y = 2x° — 243 and

determine where this curve intersects the x-axis. We use
the viewing rectangle [-5, 10] by [-5, 5].

Zooming in, we see that the solution is x ~ 2.61.

16. Algebraically: 6 (x + 2)° = 64 < (X +2)° = %‘l = 332

ox+2=J2 =2 lex=-2+3J8L

Graphically: We graph the two equations y; = 6 (X + 2)°
and y, = 64 in the viewing rectangle [—5, 5] by [50, 70].
Zooming in, we see that the solution is x ~ —0.39.

01T

17. We graph y = x2 — 7x + 12 in the viewing rectangle [0, 6] 18. We graph y = x2 — 0.75x + 0.125 in the viewing

by [—0.1, 0.1]. The solutions appear to be exactly x = 3
and x = 4. [Infactx2 — 7x + 12 = (x — 3) (x — 4).]

rectangle [—2, 2] by [-0.1, 0.1]. The solutions are
x = 0.25and x = 0.50.
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19. We graph y = x3 — 6x2 + 11x — 6 in the viewing 20. Since 16x3 + 16x2 = X + 1 < 16x3 +16x2 —x —1 =0,
rectangle [—1, 4] by [—0.1, 0.1]. The solutions are we graph y = 16x3 + 16x2 — x — 1 in the viewing
x = 1.00, x = 2.00,and x = 3.00. rectangle [—2, 2] by [—0.1, 0.1]. The solutions are:

x = —1.00, x = —0.25, and x = 0.25.

T o-
T il

21. We first graph y = x — 4/x + 1 in the viewing rectangle [-1, 5] by [-0.1, 0.1] and
find that the solution is near 1.6. Zooming in, we see that solutions is x ~ 1.62.

-0.7

0.1

-0.1
2 1+ K=V1+x2 &

1 0.01
1+ /X —+/1+x2 =0.Since /X is only defined
for x > 0, we start with the viewing rectangle 0.00 N
[—1, 5] by [—1, 1]. In this rectangle, there 1 1 2 4 5 ' 2.' 2 2.'34
appears to be an exact solution at x = 0 and
another solution between x = 2 and x = 2.5. We -1 -0.01

then use the viewing rectangle [2.3, 2.35] by
[—0.01, 0.01], and isolate the second solution as

X ~ 2.314. Thus the solutions are x = 0 and
X ~ 2.31.

23. We graph y = x}/3 — x in the viewing rectangle [—3, 3] by [—1, 1]. The solutions
arex = —1,x =0, and x = 1, as can be verified by substitution.

-1
24. Since x1/2 is defined only for x > 0, we start by

1 0.01
graphing y = x/2 4+ x1/3 — x in the viewing
rectangle [—1, 5] by [—1, 1] .We see a solution at . .
x = 0 and another one between x = 3 and 1 1 2 3 5 0.00 " 335 340
x = 3.5. We then use the viewing rectangle
[3.3,3.4] by [-0.01, 0.01], and isolate the second 1 -0.01

solution as x ~ 3.31. Thus, the solutions are
x =0and x ~ 3.31.
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We graph y = +/2x + 1+ 1 and y = x in the viewing rectangle [—3, 6] by [0, 6]
and see that the only solution to the equation +/2x + 1+ 1 = x is X = 4, which can
be verified by substitution.

We graphy = /3 —x +2and y = 1 — x in the viewing rectangle [—7, 4] by
[—2, 8] and see that the only solution to the equation /3 —x +2 =1 —Xx is
X &~ —3.56, which can be verified by substitution.

We graph y = 2x# + 4x2 + 1 in the viewing rectangle [—2, 2] by [—5, 40] and see

that the equation 2x% + 4x2 + 1 = 0 has no solution.

We graph y = x8 — 2x3 — 3 in the viewing rectangle [—2, 2] by [—5, 15] and see
that the equation x8 — 2x3 — 3 = 0 has solutions x = —1 and x ~ 1.44, which can
be verified by substitution.

x3 — 2x2 — x — 1 =0, so we start by graphing
the function y = x3 — 2x2 — x — 1 in the viewing
rectangle [—10, 10] by [—100, 100]. There
appear to be two solutions, one near x = 0 and 10 : 5 : 5 : 10
another one between x = 2 and x = 3. We then / ]\

100

use the viewing rectangle [-1, 5] by [-1, 1] and

zoom in on the only solution, x & 2.55.

x4 — 8x2 + 2 = 0. We start by graphing the
function y = x4 — 8x2 + 2inthe viewing
rectangle [—10, 10] by [—10, 10]. There appear
to be four solutions between x = —3 and x = 3.
We then use the viewing rectangle [—5, 5] by
[—1, 1], and zoom to find the four solutions -

X~ —2.78, x ~ —0.51, x ~ 0.51, and x ~ 2.78.

135
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BLXxXx-1)(x+2) =tx o

10

X (x — 1) (x + 2) — £x = 0. We start by graphing

the functiony =x (x = 1) (x +2) — %x in the
viewing rectangle [—5, 5] by [—10, 10]. There
appear to be three solutions. We then use the
viewing rectangle [—2.5, 2.5] by [-1, 1] and
zoom into the solutions at x &~ —2.05, x = 0.00,
and x ~ 1.05.

-10

32. x* = 16 — x3. We start by graphing the functions y; = x* and y, = 16 — x3 in the viewing rectangle [—10, 10] by
[—5, 40]. There appears to be two solutions, one near x = —2 and another one near x = 2. We then use the viewing
rectangle [-2.4, —2.2] by [27, 29], and zoom in to find the solution at x ~ —2.31. We then use the viewing rectangle
[1.7,1.8] by [9.5, 10.5], and zoom in to find the solution at x ~ 1.79.

0 29 10.4
N 102
- 10.0
1 9.8
| : b o7 96 ! |
10 5 5 10 24 23 22 170 175 180

33. We graph y = x2 and y = 3x + 10 in the viewing rectangle [—4, 7] by [5, 30].
The solution to the inequality is [—2, 5].

34. Since 0.5x2 4 0.875x < 0.25 < 0.5x2 + 0.875x — 0.25 < 0, we graph

y = 0.5x2 4 0.875x — 0.25 in the viewing rectangle [—3, 1] by [=5, 5]. Thus the
solution to the inequality is [—2, 0.25].

35. Since x3 4 11x < 6x2 + 6 < x3 — 6x2 + 11x — 6 < 0, we graph

4
y = x3 — 6x2 + 11x — 6 in the viewing rectangle [0, 5] by [—5, 5]. The solution )
set is (—oo, 1.0] U [2.0, 3.0].

0

2 2 4

-4
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36. Since 16x3 +24x%2 > —9x — 1 &
: : 4 0.01
16x° + 24x< 4+ 9x + 1 > 0, we graph
2
y = 16x3 + 24x2 + 9x + 1 in the viewing AN A o 000
rectangle [—3, 1] by [—5, 5]. From this rectangle, -3 -2 1 ) 1 -1|_0 ' -0|.5 ' '
we see that x = —1 is an x-intercept, but it is i
. . -4
unclear what is occurring between x = —0.5 and -0.01

x = 0. We then use the viewing rectangle [—1, 0] by [—0.01, 0.01]. It shows y = 0 at x = —0.25. Thus in interval notation,
the solution is (—1, —0.25) U (—0.25, o).

37. Since x1/3 < x &x13 —x < 0,wegraphy = x1/3 —x  38.Since vV0.5x2 +1 < 2|x| & +/0.5x2 + 1 — 2|x| < 0, we
in the viewing rectangle [—3, 3] by [—1, 1]. From this, we graphy = /05x2+1—2 x| in the viewing rectangle
find that the solution set is (—1, 0) U (1, c0). [—1, 1] by [-1, 1]. We locate the x-intercepts at

X &~ 40.535. Thus in interval notation, the solution is

approximately (—oo, —0.535] U [0.535, c0).

39. Since (x+1)2 < (x =12 (x+1)2 = (x —=1)2 <0,  40.Since (x + 1)2 < x3 & (x +1)2 — x3 < 0, we graph

we graph y = (x + 1)2 — (x — 1)2 in the viewing y = (x + 1)2 — x3 in the viewing rectangle [—4, 4] by
rectangle [—2, 2] by [-5, 5]. The solution set is (—oo, 0). [—1, 1]. The x-intercept is close to x = 2. Using a trace
function, we obtain x /~ 2.148. Thus the solution is
4 [2.148, c0).
2

41. We graph the equations y = 3x2 — 3x and y = 2x2 + 4 in the viewing rectangle
[—2, 6] by [—5, 50]. We see that the two curves intersect at x = —1 and at X = 4, 40 T
and that the first curve is lower than the second for —1 < x < 4. Thus, we see that T
. . . 20 T
the inequality 3x2 — 3x < 2x2 + 4 has the solution set (—1, 4). E 1
-2 2 4 6
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42.

45.

46.

CHAPTER 1 Equations and Graphs

We graph the equations y = 5x2 + 3x and y = 3x2 + 2 in the viewing rectangle
[—3, 2] by [-5, 20]. We see that the two curves intersect at x = —2 and at x = %
which can be verified by substitution. The first curve is larger than the second for

x < —2and for x > 1, so the solution set of the inequality 5x2 + 3x > 3x? + 2 is

(—o0, =2]U [%, oo).

. We graph the equation y = (x — 2)2 (x —3) (X + 1) in the viewing rectangle

[—2, 4] by [—15, 5] and see that the inequality (x — 2)2 x—3)(x+1) <Ohas
the solution set [—1, 3].

. We graph the equation y = x?2 (x2 - 1) in the viewing rectangle [—2, 2] by

[—1, 1] and see that the inequality x2 (x2 - 1) > 0 has the solution set
(=00, —1] U {0} UL, o0).

To solve 5 — 3x = 8x — 20 by drawing the graph of a single equation, we isolate
all terms on the left-hand side: 5 — 3x = 8x — 20
5—3x—8x+20=8x—-20—-8x+20 < —11x +25=00r 11x — 25 =0.
We graph y = 11x — 25, and see that the solution is x &~ 2.27, as in Example 2.

Graphing y = x3 — 6x2 + 9x and y = /X in the viewing rectangle [—0.01, 0.02]
by [—0.05, 0.2], we see that x = 0 and x = 0.01 are solutions of the equation
x3 —6x2 4 9x = JX.

1 * 1 3
-1
0.2
01
— —t——
-0.01/1 0.01 0.02
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47. (a) We graph the equation (c) We graph the equations y = 15,000 and
y = 10x + 0.5x2 — 0.001x3 — 5000 in the viewing y = 10x + 0.5x% — 0.001x3 — 5000 in the viewing
rectangle [0, 600] by [—30000, 20000]. rectangle [250, 450] by [11000, 17000]. We use a zoom

or trace function on a graphing calculator, and find that

20000 the company’s profits are greater than $15,000 for

279 < x < 400.

200 400 \600

-20000 16000 /\
14000 '/

(b) From the graph it appears that 12000 T
0 < 10x + 0.05x2 — 0.001x3 — 5000 for 00 400
100 < x < 500, and so 101 cooktops must be produced
to begin to make a profit.

48. (a) (b) Using a zoom or trace function, we find that y > 10 for x > 66.7. We
1571
T could estimate this since if x < 100, then (52%)2 < 0.00036. So for
10
s X < 100 we have \/1.5x + (5355)° ~ vI5. Solving v/I.5x > 10 we
0 ! ' } ' ] get1.5> 100 or x > % = 66.7 mi.
0 50 100 ’

49. Answers will vary.

50. Calculators perform operations in the following order: exponents are applied before division and division is applied before
1
X X
addition. Therefore, Y_1=x"1/3 is interpreted as y = 3 =73 which is the equation of a line. Likewise, Y_2=X/x+4 is

interpreted as y = ; +4 =144 =5. Instead, enter the following: Y_1=x"(1/3), Y_2=x/(x+4).

1.10  MODELING VARIATION

1. If the quantities x and y are related by the equation y = 3x then we say that y is directly proportional to x, and the constant
of proportionality is 3.
. . 3 . .
2. If the quantities x and y are related by the equation y = " then we say that y is inversely proportional to x, and the constant
of proportionality is 3.

3. If the quantities x, y, and z are related by the equation z = 3; then we say that z is directly proportional to x and inversely

proportional to y.

4. Because z is jointly proportional to x and y, we must have z = kxy. Substituting the given values, we get
10=k#4)(5) =20k ok = % Thus, X, y, and z are related by the equation z = %xy.

5. (a) Inthe equation y = 3x, y is directly proportional to x.
(b) Inthe equation y = 3x + 1, y is not proportional to x.

. 3 . .
6. (@) Inthe equationy = PEE y is not proportional to x.

(b) Inthe equationy = g y is inversely proportional to x.
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7. T = kx, where k is constant. 8. P = kw, where k is constant.
k
9.0v= 7 where Kk is constant. 10. w = kmn, where k is constant.
ks . k .
11. y = —, where k is constant. 12. P = —, where k is constant.
t T
. kx?2 .

13. z =k, /Yy, where k is constant. 14. A = = where K is constant.
15. V = klwh, where k is constant. 16. S = kr262, where k is constant.
kP2t2 _ .

17. R = e where Kk is constant. 18. A = k. /Xy, where k is constant.
19. Since y is directly proportional to X, y = kx. Since y =42 when x = 6, wehave 42 =k (6) &k =7. Soy = 7x.

20.

21.

22.

23.

24.
25.

26.
27.

28.

29.

30.

31.

32.

33.

. . k . k 24
w is inversely proportional to t, so w = T Since w = 3whent =8, we have 3 = 3 ok=24,50w = T

k k 21
A varies inversely asr, so A = T Since A=7whenr =3, wehave7_§4:>k_21 SoA=— -

P is directly proportional to T, so P = kT. Since P = 20 when T = 300, we have 20 = k (300) < k = is SoP = %T.

[y

. - . . . kx .
Since A is directly proportional to x and inversely proportional to t, A = e Since A=42whenx = 7andt = 3, we

k g) < k = 18. Therefore, A = 1?

have 42 =
S = kpq. Since S = 180 when p =4 and q = 5, we have 180 = k (4) (5) & 180 =20k < k =9. So S = 9pq.

. . . k. k
Since W is inversely proportional to the square of r, W = 7 Since W = 10 whenr = 6, we have 10 = (— <k = 360.

6)2
SoW:@.
r2
23
t—k—y Sincet = 25whenx =2,y =3, and r = 12, Wehave25_kL() ek =50. Sot—50—y

Since C is jointly proportional to I, w, and h, we have C = klwh. Since C =128 whenl = w = h = 2, we have
128 =k (2) (2) (2) © 128 = 8k < k = 16. Therefore, C = 16lwh.

2
H = kIZw?. Since H =36 when | = 2and w = %, we have 36 = k ()2 (§)” <36 = gk <>k = 8L So H = 81122,

k k k 27.5
R=—.SinceR=25whenx =121,25= — = — <k =275. Thus, R = —.
VX ’ VIR N VX
2) (2
M =kaTbc. Since M =128whena=dandb=c=2,wehave128=ka(;( ) 4k =<k =32.S0 M _BZ%bC
3

X
@ z=k—=

y2

3 27 3
(b) If we replace x with 3x and y with 2y, thenz = k@ = — kX— , 50 z changes by a factor of 2.
ey? 4\ y? 4
2

X
@ z=k—

y4

3x)? 9 [ x 9
(b) If we replace x with 3x and y with 2y, thenz = k( )4 I k—; ). so z changes by a factor of 1z.
2y y4

(@) z =kx3y®

(b) If we replace x with 3x and y with 2y, then z = k (3x)3 (2y)® = 864kx3y®, so z changes by a factor of 864.



35.

36.

37.

38.

39.

40.

41.

42.

44.
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k

.(a)Z:XZ—ys

k 1

k
b) If we replace x with 3x and y with 2y, thenz = = — ,
(b) p y y @022y)°  12x2y3

so z changes by a factor of 7—12

(a) The force F needed is F = kx.

(b) Since F =30 N when x = 9 cm and the spring’s natural length is 5 cm, we have 30 =k (9 — 5) © k =7.5.
(c) From part (b), we have F = 7.5x. Substituting x =11 —5 =6 into F = 7.5x gives F = 7.5(6) = 45 N.
(@ C =kpm

(b) Since C = 60,000 when p = 120 and m = 4000, we get 60,000 = k (120) (4000) < k = %. SoC =
(c) Substituting p = 92 and m = 5000, we get C = % (92) (5000) = $57,500.

pm.

=

(@) P =ks3.
(b) Since P = 96 when s = 20, we get 96 = k - 203 < k = 0.012. So P = 0.012s3.
(c) Substituting x = 30, we get P = 0.012 - 303 = 324 watts.

(a) The power P is directly proportional to the cube of the speed s, so P = ks3.
(b) Because P = 80 when s = 10, we have 80 = k (10)3 ok= T%%o = 22—5 =0.08.
(c) Substituting k = 2—25 and s = 15, we have P = % (15)3 = 270 hp.

D = ks2. Since D = 150 when s = 40, we have 150 = k (40)2, so k = 0.09375. Thus, D = 0.09375s2. If D = 200, then
200 = 0.09375s2 < 52 ~ 2133.3, 50 5 & 46 mi/h (for safety reasons we round down).

L — ks2A. Since L = 1700 when s = 50 and A = 500, we have 1700 = k (502) (500) & k = 0.00136. Thus

L = 0.00136s2A. When A = 600 and s = 40 we get the lift is L = 0.00136 (402) (600) = 1305.6 Ib.

F = kAs2. Since F = 220 when A = 40 and s = 5. Solving for k we have 220 = k (40) (5)2 < 220 = 1000k &
k = 0.22. Now when A = 28 and F = 175 we get 175 = 0.220 (28) s2 <> 28.4090 = 52 s0 s = 4/28.4090 = 5.33 mi/h.

(@) T2 =kd3
. 3
(b) Substituting T = 365 and d = 93 x 108, we get 3652 = k - (93 x 106) ok =1.66x 10719

3 . .
() T2 =166 x 10719 (279 x 10%)” = 3.60 x 10° = T = 6.00 x 10*. Hence the period of Neptune is 6.00x10*
days~ 164 years.

kT
. P=—.
@ P=5
_— k (400) _
(b) Substituting P =33.2, T =400, and V = 100, we get 33.2 = 100 <k =8.3. Thus k = 8.3 and the equation is
8.3T
P=—.
\Y
- 8.3(500) .
(c) Substituting T =500 and V = 80, we have P = 80 - 51.875 kPa. Hence the pressure of the sample of gas is
about 51.9 kPa.
2
@ F = k—w:’

(b) For the first car we have wq = 1600 and s; = 60 and for the second car we have w2 = 2500. Since the forces are equal

1600602  2500-s5  16- 602 .
=k 2 & = 52,50 5, = 48 mi/h.
r r 25

we have k
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45.

46.

47.

48.

49.

50.

51.

52.
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. . . k
(a) The loudness L is inversely proportional to the square of the distance d, so L = FER

I k
(b) Substitutingd = 10 and L = 70, we have 70 = 10 < k = 7000.

k 1/k
(c) Substituting 2d for d, we have L = W =1 (d_2) so the loudness is changed by a factor of %.
k k
(d) Substituting %d ford, we have L = — = 4 (d_2) so the loudness is changed by a factor of 4.
1
5d

(a) The power P is jointly proportional to the area A and the cube of the velocity v, s0 P = k Av3.

(b) Substituting 2v for » and %A for A, we have P =k (% A) (20)3 = 4k Av3, so the power is changed by a factor of 4.

3
(c) Substituting %u for v and 3A for A, we have P = k (3A) (%v) = 3 Ako3, so the power is changed by a factor of %.

kL
(@ R= Fil
. k(1.2) 7 —
(b) Since R =140 when L = 1.2 and d = 0.005, we get 140 = 0.005)2 & K = 5155 = 0.002916.
(c) Substituting L = 3 and d = 0.008, we have R = 2200 (0.0?(>)8)2 = 43;5 ~ 137 Q.
k@3L) 3kL

(d) If we substitute 2d for d and 3L for L, then R = so the resistance is changed by a factor of %.

@d)2 ~ 4d?2’
Let S be the final size of the cabbage, in pounds, let N be the amount of nutrients it receives, in ounces, and let c be the

N
number of other cabbages around it. Then S = k?. When N = 20 and ¢ = 12, we have S = 30, so substituting, we have

N
30= k% < k=18 Thus S = 18—. When N = 10and ¢ = 5, the final size is S = 18 (%) = 36 Ib.

Es  k6000* 4
(a) For the sun, Eg = k6000% and for earth Eg = k3004, Thus == = ——— = (%) = 20% = 160,000. So the sun
Ee k3004
produces 160,000 times the radiation energy per unit area than the Earth.
(b) The surface area of the sun is 47 (435,000)2 and the surface area of the Earth is 4 (3,960)2. So the sun has
4m (435,000 (435,000

47t (3,960)2 3,960

2
) times the surface area of the Earth. Thus the total radiation emitted by the sun is

435,000

3,960
Let V be the value of a building lot on Galiano Island, A the area of the lot, and g the quantity of the water produced. Since
V is jointly proportional to the area and water quantity, we have V. = kAq. When A = 200 - 300 = 60,000 and q = 10, we
have V = $48, 000, so 48,000 = k (60,000) (10) < k = 0.08. Thus V = 0.08 Aq. Now when A = 400 - 400 = 160,000
and q = 4, the value is V = 0.08 (160,000) (4) = $51,200.

(@) Let T and | be the period and the length of the pendulum, respectively. Then T = k1.

s 1o T2 o @212 T?
B T=k/IT=T2=Kl =I|= @ If the period is doubled, the new length is oz = 4? = 4l. So we would
quadruple the length | to double the period T.
Let H be the heat experienced by a hiker at a campfire, let A be the amount of wood, and let d be the distance from

2
160,000 x ( ) = 1,930,670,340 times the total radiation emitted by the Earth.

A A
campfire. So H = kd—3. When the hiker is 20 feet from the fire, the heat experienced is H = k2—03, and when the amount

2 A 2A
of wood is doubled, the heat experienced is H = kd_3' So km = kd_3 &d3 =16,000 & d = 202 ~ 25.2 feet.



53.

55.

56.

57.
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(a) Since f is inversely proportional to L, we have f = T where k is a positive constant.

k k
(b) If we replace L by 2L we have = % = 1t sothe frequency of the vibration is cut in half.

. (a) Sincer is jointly proportional to x and P — x, we have r = kx (P — x), where k is a positive constant.

(b) When 10 people are infected the rate is r = k10 (5000 — 10) = 49,900k. When 1000 people are infected the rate is
r = k- 1000 - (5000 — 1000) = 4,000,000k. So the rate is much higher when 1000 people are infected. Comparing
1000 people infected 4,000,000k
10 people infected - 49,900k
is about 80 times as large as when 10 people are infected.
(c) When the entire population is infected the rate is r = k (5000) (5000 — 5000) = 0. This makes sense since there are no
more people who can be infected.

these rates, we find that

~ 80. So the infection rate when 1000 people are infected

2.5 x 1026

5 ~ 347 x 10~14,
(2.4 x 1019)

L
Using B = kd—2 with k = 0.080, L = 2.5 x 1025, and d = 2.4 x 1019, we have B = 0.080

The star’s apparent brightness is about 3.47 x 10~14 W/m?2.
. L L L i " .
First, we solve B = kd_2 ford: d2 = kE =d= ‘/kE because d is positive. Substituting k = 0.080, L = 5.8 x 1039, and

, 5.8 x 10% : .
B =82x10"16 wefindd = 0.0SOm ~ 2.38 x 1022, 50 the star is approximately 2.38 x 1022 m from earth.
Z X

Examples include radioactive decay and exponential growth in biology.

CHAPTER 1 REVIEW

1

@ Y (b) The distance from P to Q is

d(P,Q) = /(-5 -2 + 12— 0)2
_ /I TIH = /193

.. (=542 1240 3
The midpoint —)=(-=.6).
(c) The midpoin |s( R ) ( > )

(e) The radius of this circle was found in part (b). It is

ol > r =d (P, Q) = +/193. So an equation is
2
12-0 —2)2 —_0)2 = Y 2 _
(d) Thelinehasslopemzﬂ=_.172_,and has x=2+(y -0 —(v193) © (X —2)* +y4 =193
equationy —0= -2 (x —2) oy = —¥x + & o b
& 12X + Ty — 24 = 0.
y
0 )
2 X




144 CHAPTER 1 Equations and Graphs

2. (a) )

(d) The line has slope m =

0

1141
2-7

—10

= — =2, and

-5

itsequationisy +11=2(x — 2) &
y+1l1=2x-4y=2x—15.

y
1

3. (a)

Pe4

)

(d) The line has slope m =

4

0

2 — (—14)
—6—4

16 8

-0 5

and equationy — 2 = —% xX+6)e

y—2 8, _ 48

8

y

38

5

K

(b) The distance from P to Q is

d(P,Q) =/@ =12+ (-11+ 1?

(c) The midpoint is (2%7, —i- 1) = (g _5).

2 2’
(e) The radius of this circle was found in part (b). It is
r =d (P, Q) = 5./5. So an equation is

X—72+(y+1)2= (5¢§)2 o

(X =7)% 4+ (y + 1)? = 125.

y

(b) The distance from P to Q is

d(P,Q) = /(=6 — 42 +[2— (—14)2
= /100 + 256 = /356 = 2./89

—6+4 2+ (—14)
2 2

(c) The midpoint is ( ) = (-1, —6).

(e) The radius of this circle was found in part (b). It is
r =d (P, Q) = 24/89. So an equation is

[~ (612 + (v~ 27 = (2v89)

(X + 6)2 + (y — 2)%2 = 356.

|
N




4. (a)

Qe

(d) The line has slope m =

2 .P x
~2—(~6)
5—(=3)

has equation y — (—2) = 3 (x — 5) &

1

1 5 9

y

2

9

2 X
P

—_4_1
_8_2,and

CHAPTER1  Review

(b) The distance from P to Q is

d(P,Q) = /[5— (~3 +[-2 — (~6)I2
_ JAITT0 = VB0 = 4.

54 (—3) —2+ (—6)
2 2

(c) The midpoint is ( ) =1, -4).

(e) The radius of this circle was found in part (b). Itis
r =d (P, Q) = 4+/5. So an equation is

=52+ [y~ (-2 = (45) &

(x —5)2 + (y +2)%2 = 80.

y

G

6.{(x,y)|x >4ory > 2}

7.d(A,C) = \/(4—(—1))2+(4—(—3))2 = \/(4+1)2+(4+3)2 = /74 and

d(B,C) = /(5= (—1)2 + (3= (=3))2 = /(5 + 1) + (3+3)2 = +/72. Therefore, B is closer to C.

145

2
8. The circle with center at (2, —5) and radius +/2 has equation (x — 2)2 + (y + 5)2 = (ﬁ) S(X=22+(y+52=2.

9. The center is C = (-5, —1), and the point P

(0,0) is on the circle. The radius of the circle is

r=d(P,C) = \/(o —(=5)2+ (00— (—1))2:\/ (0+5)2 + (0 + 1)2 = +/26. Thus, the equation of the circle is

(X +5)2 4 (y + 1)% = 26.

2—1 3+8

10. The midpoint of segment P Q is ( >

111
2’2

r=3%-dpP,Q = l\/(z— (=1))2+(3-8)2 = %\/(2+1)2+(3—8)2 &1 = 1./34. Thus the equation is

(=3)"+(-%)

), and the radius is % of the distance from P to Q, or
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(b) The circle has center (—1, 3) and

11. (a) x2+y2+2x—6y+9=0@(x2+2x)+(y2—6y)=—9<:>
radius 1.

(x2+2x+1)+(y2—6y+9):—9+1+9<:>

(X 4+ 1)2 4 (y — 3)2 = 1, an equation of a circle.

©

12. (@) 22 +2y2 —2x +8y = & X2 —x +y? +4y =t & (b) The circle has center (% —2)

(XZ—X+%)+(y2+4Y+4)=%+%+4@ andradius#.

y

1\2 22 _ 9 tion of a circl
x—3) +(y+2)? = 3, an equation of a circle.

/| _\1 N X
/ N\
/[ \
[ \
\ z
\ /
N\ /
N P

=—72+436< (X —6)2 4 y2 = —36.

13. (@) X2 +y2 + 72 = 12X & (x2 _ 12x) Y2 =-Te (x2 —12x +36) +y2
Since the left side of this equation must be greater than or equal to zero, this equation has no graph.

(b) This is the equation of the point
(3,5).

14. (@) x2+y2 —6x — 10y + 34 =0 > x2 — 6X + y2 — 10y = —34 &
<x2—6x+9)+<y2—10y+25):—34+9+25<:>
y

(x —3)2 4 (y — 5)2 = 0, an equation of a point.
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15. y =2 — 3x 16.2x —y+1=0y=2x+1
y y
X |y X y
-218 -2 | -3
0f2 0
2 1
X 1 X
X_Y_ X Yy_ _
17.2 7_1<:>y 18.4+5—0<:>5X+4y_0
y y
X y X y
-2 | -14 —4 5
o -7 0
2 0 2 4| -5
/z X 1 X
19. y = 16 — x2 20.8x 4+ y2 =0 < y2 = —8x
y y
X |y X |y
3| 7 -8 | 48
-1 15 -2 | 44
16 0| 0 1
15 1 x
2
3| 7 / ; \
2L x = fy 2.y =—J1-x2
y Y
X |y X y
0|0 -1 0 !
2 4 1 0 -1 1
3|9 ! x 0
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23.y=9—x?2
(a) x-axis symmetry: replacing y by —y gives —y =9 — x2, which is not the same as the original equation, so the graph is
not symmetric about the x-axis.
y-axis symmetry: replacing x by —x givesy =9 — (—x)2 =9 — x2, which is the same as the original equation, so the
graph is symmetric about the y-axis.
Origin symmetry: replacing x by —x and y by —y gives —y = 9 — (—=x)2 < y = —9 + x2, which is not the same as
the original equation, so the graph is not symmetric about the origin.
(b) To find x-intercepts, we set y = 0 and solve for x: 0 = 9 — x2 < x2 = 9 < x = =£3, s0 the x-intercepts are —3 and 3.
To find y-intercepts, we set x = 0 and solve fory: y =9 — 02 =9, so the y-intercept is 9.
24, 6x + y% =36
() x-axis symmetry: replacing y by —y gives 6x + (—y)? = 36 < 6x + y? = 36, which is the same as the original
equation, so the graph is symmetric about the x-axis.
y-axis symmetry: replacing x by —x gives 6 (—x) + y2 = 36 < —6x + y2 = 36, which is not the same as the original
equation, so the graph is not symmetric about the y-axis.
Origin symmetry: replacing x by —x and y by —y gives 6 (—x) + (—y)2 =36 & —6x + y2 = 36, which is not the
same as the original equation, so the graph is not symmetric about the origin.
(b) To find x-intercepts, we set y = 0 and solve for x: 6x + 02 = 36 < x = 6, s0 the X-intercept is 6.
To find y-intercepts, we set x = 0 and solve for y: 6 (0) + y2 = 36 < y = +6, s0 the y-intercepts are —6 and 6.
25 x2 4+ (y—172=1
(a) x-axis symmetry: replacing y by —y gives x2 + [(—y) - 1]2 =lex+y+ 1)2 = 1, so the graph is not symmetric
about the x-axis.
y-axis symmetry: replacing x by —x gives (—x)2 + (- 1)2 =lox2+ (y— 1)2 = 1, so the graph is symmetric
about the y-axis.
Origin symmetry: replacing x by —x and y by —y gives (—x)2 + [(=y) — 1] = 1 & x2 + (y + 1)? = 1, so the graph
is not symmetric about the origin.
(b) To find x-intercepts, we set y = 0 and solve for x: x2 + (0 — 1)2 = 1 < x2 = 0, so the x-intercept is 0.
To find y-intercepts, we set x = 0 and solve for y: 02 + y— 1)2 =ley-1=+1<y=0o0r2,sothe y-intercepts
are 0 and 2.
26. x4 =16+y
() x-axis symmetry: replacing y by —y gives x* = 16 + (—y) < x* = 16 — y, so the graph is not symmetric about the

X-axis.

y-axis symmetry: replacing x by —x gives (—x)* = 16 +y < x* = 16+ y, so the graph is symmetric about the y-axis.
Origin symmetry: replacing x by —x and y by —y gives (—x)* = 16 + (—y) < x* = 16 — y, s0 the graph is not
symmetric about the origin.

(b) To find x-intercepts, we set y = 0 and solve for x: x* = 16 4+ 0 & x* = 16 & x = 42, so the x-intercepts are —2 and

2.
To find y-intercepts, we set x = 0 and solve for y: 0* = 16 + y < y = —16, so the y-intercept is —16.

27. 9x2 — 16y2 = 144

@)

x-axis symmetry: replacing y by —y gives 9x2 — 16 (—y)? = 144 < 9x2 — 16y2 = 144, so the graph is symmetric
about the x-axis.

y-axis symmetry: replacing x by —x gives 9 (—x)% — 16y2 = 144 < 9x2 — 16y2 = 144, s0 the graph is symmetric
about the y-axis.

Origin symmetry: replacing x by —x and y by —y gives 9 (—x)% — 16 (—y)? = 144 < 9x2 — 16y? = 144, s0 the
graph is symmetric about the origin.
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To find x-intercepts, we set y = 0 and solve for x: 9x2 — 16 (0)2 = 144 < 9x? = 144 < x = =4, so the x-intercepts
are —4 and 4.
To find y-intercepts, we set x = 0 and solve for y: 9 (0)2 — 16y? = 144 < 16y2 = —144, so there is no y-intercept.

4
28. y=—
y=3

@)

(b)

x-axis symmetry: replacing y by —y gives —y = g which is different from the original equation, so the graph is not
symmetric about the x-axis.

y-axis symmetry: replacing x by —x givesy = —ix which is different from the original equation, so the graph is not
symmetric about the y-axis.

Origin symmetry: replacing x by —x and y by —y gives —y = —ix oy = ; so the graph is symmetric about the
origin.

To find x-intercepts, we set y = 0 and solve for x: 0 = ; has no solution, so there is no x-intercept.

To find y-intercepts, we set x = 0 and solve for y. But we cannot substitute x = 0, so there is no y-intercept.

29. X2 4 4xy +y2 =1

@)

(b)

x-axis symmetry: replacing y by —y gives x2 4 4x (—y) + (—y)? = 1, which is different from the original equation, so
the graph is not symmetric about the x-axis.

y-axis symmetry: replacing x by —x gives (—x)Z + 4 (—x) y 4+ y2 = 1, which is different from the original equation,
so the graph is not symmetric about the y-axis.

Origin symmetry: replacing x by —x and y by —y gives (—=x)? +4 (=x) (=y) + (=y)? = 1 = x%2 + 4xy + y?> = 1,50
the graph is symmetric about the origin.

To find x-intercepts, we set y = 0 and solve for x: X2 + 4x ) + 02=1ox2=1ox==+1,s0the X-intercepts are
—land1.

To find y-intercepts, we set x = 0 and solve for y: 02 + 4 Oy + y2 =l y2 =1 &y = +£1, so the y-intercepts are
—land1.

30. x3+xy2=5

@

(b)

x-axis symmetry: replacing y by —y gives x3 + x (—=y)2 = 5 & x3 + xy2 = 5, s0 the graph is symmetric about the
X-axis.

y-axis symmetry: replacing x by —x gives (—x)3 + (—x) y2 = 5, which is different from the original equation, so the
graph is not symmetric about the y-axis.

Origin symmetry: replacing x by —x and y by —y gives (—x)3 + (—Xx) (—y)2 = 5, which is different from the original
equation, so the graph is not symmetric about the origin.

To find x-intercepts, we set y = 0 and solve for x: x3 + x (0)2 =5 < x3 = 5 < x = /5, so the x-intercept is /5.
To find y-intercepts, we set x = 0 and solve for y: 03 + Oy2 = 5 has no solution, so there is no y-intercept.
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31. (a) We graph y = x2 — 6x in the viewing rectangle
[—10, 10] by [-10, 10].

(b) From the graph, we see that the x-intercepts are 0
and 6 and the y-intercept is 0.

33. (a) We graph y = x3 — 4x2 — 5x in the viewing
rectangle [—4, 8] by [—30, 20].

(b) From the graph, we see that the x-intercepts are —1,
0, and 5 and the y-intercept is 0.

35. (a) The line that has slope 2 and y-intercept 6 has the slope-intercept equation  (c) v

y =2Xx +6.

(b) An equation of the line in general formis2x —y + 6 = 0.

32. (a) We graph y = /5 — x in the viewing rectangle

(b) From the graph, we see that the x-intercept is 5 and
the y-intercept is approximately 2.24.

X2 x2
34. (a) We graph T +y2 :1<:>y2 :1—7 =
x2
y=d=4,/1- T in the viewing rectangle [—3, 3] by

[-2,2].

(b) From the graph, we see that the x-intercepts are —2
and 2 and the y-intercepts are —1 and 1.




36. (&) The line that has slope —% and passes through the point (6, —3) has (©
equationy—(—s)=—%(x—6)@y+3=—%(x—6)@y=—%x.

() —3x+3=y+3ex-6=-2y—6ex+2y=0.

37. (a) The line that passes through the points (—1, —6) and (2, —4) has slope (©

A D 2 e = 2 —(— — 252
m= -0 _3,soy (6)=5x-(-D]eoy+6=5x+3
oy=2x-1

b)) y=54x-—L o3y=2x-16=2x -3y —16 =0.

38. (a) The line that has x-intercept 4 and y-intercept 12 passes through the points (c)
12-0 L
(4,0) and (0, 12), som = o=z " —3 and the equation is

y—-0=-3x—4) oy=-3x+12.
b)y=-3%+123x+y—-12=0.

39. (a) The vertical line that passes through the point (3, —2) has equation x =3.  (c)
(b)x=3<=x-3=0.
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40. (a) The horizontal line with y-intercept 5 has equation y = 5. (©

(b)y=5<y-5=0.

41. (a) 2x -5y =105y =2x—-10y = %x — 2, so the given line has slope (c)
m= % Thus, an equation of the line passing through (1, 1) parallel to this
Iineisy—l:%(x—l)@y:%x+%.

b)) y=2x+Eo5y=2x+3e2x-5y+3=0.

42. (a) The line containing (2, 4) and (4, —4) has slope (©
m= _44 _24 = _78 = —4, and the line passing through the origin with

this slope has equation y = —4x.

(b)y=—-4xs4x+y=0.

43. (a) Theliney = %x — 10 has slope % so a line perpendicular to this one has ()
slope —712 = —2. In particular, the line passing through the origin

perpendicular to the given line has equation y = —2x.

b)y=-2x=2x+y=0.

v

=V

=V



44.

45.

46.

47.

48.

49.
X2 424X +144 =0 (x+12)2 =0 x+12=0ox = —12.
51.

52.
53.

55.

56.

57.

58.
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(a)x—3y+16=04:>3y=x+164:>y=%x—k%ﬁ,sothegivenlinehas (© v

slope % The line passing through (1, 7) perpendicular to the given line has

1
equationy—?:—m(x—1)(:)y—7=—3(x—1)«:)y=—3x+10.

(b)y=-3x+10=3x+y—-10=0.

1 \ -
The line with equation y = —%x — 1 has slope —%. The line with equation9y +3x +3 =09y = -3x -3 <

y = —2x —  also has slope —3, so the lines are parallel.

The line with equation 5 — 8y = 3 <> 8y = 5x —3 &y = 3x — § has slope 3. The line with equation 10y + 16x = 1 <

10y = —16x + 1<y = —8x + 5 has slope —§ = —5—}8, so the lines are perpendicular.
(a) The slope represents a stretch of 0.3 inches for each one-pound increase in weight. The s-intercept represents the length
of the unstretched spring.
(b) Whenw =5,s =0.3(5)+2.5=15+2.5=4.0inches.
(a) We use the information to find two points, (0, 60000) and (3, 70500). Then the slope is
m— 70,500 — 60,000 _ 10,500
3-0 3
(b) The slope represents an annual salary increase of $3500, and the S-intercept represents her initial salary.
(c) Whent = 12, her salary will be S = 3500 (12) + 60,000 = 42,000 + 60,000 = $102,000.
X2 - 4+14=0xX-7)(x—-2)=0x=T70rx =2

= 3,500. So S = 3,500t + 60,000.

2?2 +x=1e2x?+x-1=02x-1)(x+1) =0. Soeither2x —1=0=2x =1lox = 1;00x+1=0s
X =-—1.

X2 4+5x—2=0@Bx—-1)(x+2)=0x=3Fo0rx=-2
0=4x3—25x=x(4x2—25)=x(2x—5)(2x—|—5)=0. Soeither x = 0; 0r2x —5 =0 2x =5 & X = 3; or

2X+5=0e2x=-5x=-3.

.x3—2x2—5X+1O:0<:>x2(x—2)—5(x—2):O<:>(x—2)(x2—5):0<:>x:20rx:i\/§.

2 +4x—1=0=>

y — —bhy/b?—dac _ —WE/ @AY 4+ T6FID 4T 4427 2(_2iﬁ) _ =2+ 7
= 2a = 2(=3) = 6 =—=% — 6 — =5 =3 -

bt/ —rae —(=3)%,/(=3)2=4(1)(9 YT /=57 .
X2 _3x4+9=0=x = =& 222 dac _ ~(73) (2(1)) DO _ 3+ 29 36 _ 3= 5 21 \which are not real numbers.

There is no real solution.
1 + 2
X Xx—1

y — —bty/bZdac _ (O (6’ —4BN) _ 643617 _ 624 _ 6226 _ 2(3+6) _3+/6
=—7% = 73) =% =8 T 6 =% =73

=3 X-1D)4+2x) =3)X)x—-1) ox—-1+2x =3x2 -3x <0 =32 —6x +1=

X 1
X—2 x+2 x2—a
< x = 2or x = —5. However, since x = 2 makes the expression undefined, we reject this solution. Hence the only
solution is X = —5.

SXX+2)+(X—2) =8 x24+2X+Xx—2=8X2+3x—10=0 (X —2) (X +5) =0
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67.

68.

69.
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x4—8x2—9=0@(x2—9)(x2+1)=O<:>(x—3)(x+3)(x2+1)=O:>x—3=0<:>x=3,0rx+3=0<:>

X = —3, however X2 + 1 = 0 has no real solution. The solutions are x = =+3.

X —4X =32 Letu=X. Thenu? —4u =32 u2 —4u—-32 =0« (u—8)(u+4) =0Soeitheru —8 =0 or

U+4=0.1fu—-8=0,thenu=8< X =8 x =64 Ifu+4=0,thenu = —4 & /X = —4, which has no real

solution. So the only solution is x = 64.

xV2 _ox1/2 4 x3/2 = 0 = x71/2 (l—2x —|—x2) =0 x V21 -x)2 =0. Since x~1/2 —1//X is never 0, the

only solution comes from (1 — x)2 =0el-x=0=x=1.

(1+@2—2(1+ﬁ)—15=0. Letu = 1+ /X, then the equation becomesu? —2u —15=0< (U—5) (U+3) =0

ou—-5=00ru+3=0.fu—-5=0,thenu=51+.x=5c . /X=4ox=16.1fu+3=0,thenu=-3 &
1+ /X = =3 & /X = —4, which has no real solution. So the only solution is x = 16.

X —T7=4dox—T=2t4x=7+t4,s0x=11orx =3.

. . 5+9
. |2x—5|=9|sequwalentt02x—5=i—9<:>2x=54_—94:>x=T.Sox=—20rx=7.

@ 2-3i)+1+4i))=Q2+1)+(-3+4)i=3+i
(b) 2+i)(3—2i)=6—4i +3i —2i12=6—i+2=8—i

() 3—6i)— (6—4i)=3—6i —6+4i = (3—6)+ (—6+4)i =—3—2i
(b) 4i (2—%i)=8i—2i2=8i—|—2=2—|—8i

442 442 2+i B8+8i+2% B8+8i—2 6+8i

6 8:
a = . = = = = 2 =
@ 55 =727 277 -2 411 5 —5ts!
O (1-v-I)(1+v/-I)=(1-)A+i)=1+i-i-i?=1+1=2
8+3i 8+3i 4—3i 32-12i—9i2 32-12i+9 41-12i .
(a) = . = = = :ﬂ_g|
4431 4430 4-3i 16 — 9i2 16 4+9 25 RS

(b) /=10 - /=40 = i+/10 - 2i4/10 = 20i2 = —20
x24+16=0x2 = —16 & x = +4i

X2 = —12 & X = £/—12 = +2/3i

—b+vh?—4ac  —6+62—4(1)(10) —64+/36—40
N - 2

? _ _ _ .
Xc+6x+10=0x = 3 20 =-3i
—(-3) £ /(=32 -4 @ 3+JF 3 7
2— = = = = — -
2X X+2=0x 20 ) 4i 4|

x4—256=0<:>(x2—16) (x2+16)=0(:>x=i40rx=j:4i

x3—2x2+4x—8=0<:>(x—2)(x2+4)@x=20rx=i—2i
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76.
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78.

79.

81.
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Let r be the rate the woman runs in mi/h. Then she cycles atr + 8 mi/h.

Rate | Time | Distance

4

Cycle | r+8 | —— 4

y + r+8

Run r E 25

r
4 25
Since the total time of the workout is 1 hour, we have 18 + - = 1. Multiplying by 2r (r + 8), we

get 4(2r) +25(2)(r+8) = 2r(r+8) < 8r +5r + 40 = 2r2 4 16r < 0 = 2r2 4+ 3r — 40 =

—34,/(3)2—4(2)(—40 _34./97T350 34329
r = ¢ )2(2)( (40 - =3+ 49+32° Si 329 Since r > 0, we reject the negative value. She runs at

r= _3+T V329 ~, 378 mi/h.

2
Substituting 75 for d, we have 75 = x + 2—0 & 1500 = 20x + x2 < x2 4 20x — 1500 = 0 & (x — 30) (x 4 50) = 0. So

x = 30 or x = —50. The speed of the car was 30 mi/h.

Let x be the length of one side in cm. Then 28 — x is the length of the other side. Using the Pythagorean Theorem, we
have X2 + (28 — X)2 = 202 < x2 + 784 — 56x + x2 = 400 <> 2x2 — 56X + 384 :O<:>2(X2—28X+192) =0o
2(x —12)(x —16) = 0. So x = 12 or x = 16. If x = 12, then the other side is 28 — 12 = 16. Similarly, if x = 16, then
the other side is 12. The sides are 12 cm and 16 cm.

. . 80 . -
Let | be length of each garden plot. The width of each plot is then T and the total amount of fencing material is

80 480
4(I)+6(|—) = 88. Thus4l+|— =88<:>4I2+480=88I(:>4I2—88I+480=0<:>4(I2—22I+120) =0

4(I—10)(I—12)_0 Sol =10o0rl = 12. If | = 10 ft, then the width of each plot is 82 19 = 8 ft. If1 = 12 ft, then the

width of each plot is 12 = 6.67 ft. Both solutions are possible.

X—2>-113x>-9<x > -3 80.12—x27x<:>1228x<:)%zx.
Interval: (=3, 00).
( ) Interval: (—oo,%]
Graph: >
Graph: 5
2
3-x<2xX-T710<33xe P <x 82.-1<2X+5<3o-6<2X<-2c-3<x<-1

Interval: (-3, —1].
Interval: [%,oo) ( 1

Graph:

Y
|
|

Graph: 10
3

. x244x —12 > 0 (x — 2) (x + 6) > 0. The expression on the left of the inequality changes sign where x = 2 and where

X = —6. Thus we must check the intervals in the following table.
Interval: (—oo, —6) U (2, 00) .

Interval (=00, —6) | (=6,2) | (2,00)

Signofx —2 - — + Graph: —706—;—>
Signofx + 6 - + +

Sign of (x — 2) (X + 6) + - +
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84. x2 <1ox2—1<0e (x—1)(x +1) < 0. The expression on the left of the inequality changes sign when x = —1 and
x = 1. Thus we must check the intervals in the following table.

Interval: [—1, 1]
Interval (=00, -1) | (-1,1) | (1,00)
Signof x — 1 - - + Graph: — "
Signofx +1 - + +
Signof (x —1) (x + 1) + - +
2x +5 2x+5 2x +5 1 4
85. X+ <l X+o _ 1<0& X+o X+ <0&e X+ < 0. The expression on the left of the inequality
X+1 X+1 X+1 X+1 1

changes sign where x = —1 and where x = —4. Thus we must check the intervals in the following table.

We exclude x = —1, since the expression is not

Interval (=00, —4) | (=4,-1) | (=1,00) defined at this value. Thus the solution is
Signof x + 4 - + 4 [-4, -1).
Signofx +1 - - +
9 Graph:
. X+ 4 —4 -1
Sign of —— + - +
X+1

86. 2x2 > x +3 & 2x2 —x —3 > 0 & (2x — 3) (x + 1) > 0. The expression on the left of the inequality changes sign when
—land % Thus we must check the intervals in the following table.

Interval: (—oo, —1] U [% oo)

Interval (=00, —1) (—1, %) (% oo)
Sign of 2x — 3 - — . >
ign of 2x + Graph: - s
Signofx +1 — + + 2
Signof 2x —=3) (x + 1) + - +
87 x4 <0 x4 < 0. The expression on the left of the inequality changes sign where x = —2, where x = 2
"x2_-4 — xX—2)(x+2) ~ ' p q y g g = ) =4
and where x = 4. Thus we must check the intervals in the following table.
Interval (=00,=2) | (=2,2) | (2,4) | (4,00)
Signofx —4 — - - +
Signof x — 2 — — + +
Signof x +2 - + + +
X —4
Signof —————— - + - +
g X—=2)(Xx+2)

Since the expression is not defined when x = £2,we exclude these values and the solution is (—oo, —2) U (2, 4].

Graph: —o
-2
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5 5 5 5
- <0 <0le—— <0 < 0. The
X3 —x2—4x +4 X2(x—1)—4(x—1) (x—1)(x2—4) xX=DKx-2)(x+2)
expression on the left of the inequality changes sign when —2, 1,and 2. Thus we must check the intervals in the following

table.

Interval (=00,-2) | (-2,1) | (1,2) | (2,00)
Signofx —1 — — + +
Signof x — 2 — — — +
Signof x + 2 — + + +
5
Sign of — -
9 X=DXxX—=2)(x+2) + +

Interval: (—oo0, —2) U (1, 2)

Graph; —0————0—o0—»

-2 1 2
X =5 <3 -3<x-5<3s2<x<8 90.|x—4] <002 -0.02<x-4<002=
Interval: [2, 8] 3.98 < x < 4.02
Interval: (3.98, 4.02)
Graph:
8 Graph:
3.98 4.02
[2x + 1| > lisequivalentto2x +1 >1or2x+1<—-1.Case1:2x+1>1<2x >0 x >0. Case 2: 2x +1 < -1

S 2X < =2 < x < =1, Interval: (—oo, —1] U [0, o0). Graph: >
1

[x — 1] is the distance between x and 1 on the number line, and |x — 3] is the distance between x and 3. We want those
points that are closer to 1 than to 3. Since 2 is midway between 1 and 3, we get x € (—o0, 2) as the solution. Graph:

(@) For /24 — x — 3x2 to define a real number, we must have 24 — x — X2 >0 (8— 3x) (3 + x) > 0. The expression
on the left of the inequality changes sign where8 —3x =0 —3x = -8 & x = %; or where x = —3. Thus we must
check the intervals in the following table.

. 8
Interval: [—3, g].

Interval (=00, —3) (_3’ %) (% oo) Graph:

Sign of 8 — 3x + + -

Sign of 3 + x - + + -3 8
Sign of (8 — 3x) (3 +X) - + _ ’
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(b) For — to define a real number we must have x — x4 >0 x (1 - x3) >0 x(1-x) (1 +x 4+ x2) > 0.

1
Vx = x
The expression on the left of the inequality changes sign where x = 0; or where x = 1; or where 1 + X + X2 = 0 =

x = —1Ev %il_)d'(l)(l) = 1iv21—4 which is imaginary. We check the intervals in the following table.

Interval: (0, 1).

Interval (=00,0) | (0,1) | (1,00) Graph:

Sign of x - + +

Signof 1 — x + + - 0 1
Sign of 1+ x + x? + + +

Signofx(l—x)(l+x+x2) - + -

6 9 6 9 6 9
94. We have 8 < %nr3§12<:>— << oI—<r<IZ Thusre |:,3/—, 3/—:|.
T T T s T T

95. From the graph, we see that the graphs of y = x2 — 4x and y = X + 6 intersect at x = —1 and x = 6, so these are the
solutions of the equation x2 — 4x = x + 6.

96. From the graph, we see that the graph of y = x2 — 4x crosses the x-axis at x = 0 and X = 4, so these are the solutions of
the equation x2 — 4x = 0.

97. From the graph, we see that the graph of y = x2 — 4x lies below the graphof y = x 4+ 6 for —1 < x < 6, so the inequality
x2 — 4x < X + 6 is satisfied on the interval [—1, 6].

98. From the graph, we see that the graph of y = x2 — 4x lies above the graph of y = x + 6 for —co < X < land 6 < X < oo,
so the inequality x2 — 4x > x + 6 is satisfied on the intervals (—co, —1] and [6, 00).

99. From the graph, we see that the graph of y = x2 — 4x lies above the x-axis for x < 0 and for x > 4, s0 the inequality
x2 — 4x > 0 is satisfied on the intervals (—oo, 0] and [4, co).

100. From the graph, we see that the graph of y = x2 — 4x lies below the x-axis for 0 < x < 4, so the inequality X2 — 4x > 0 is
satisfied on the interval [0, 4].

101. x2 — 4x = 2X + 7. We graph the equations y; = x2 — 4x 102. v/X + 4 = x2 — 5. We graph the equations y; = v/X + 4

and y, = 2x + 7 in the viewing rectangle [-10, 10] by and y» = x2 — 5 in the viewing rectangle [—4, 5] by
[—5, 25]. Using a zoom or trace function, we get the [0, 10]. Using a zoom or trace function, we get the
solutions x = —land x =7. solutions x &~ —2.50 and x = 2.76.
0
1

-10 5 10 4 2 0 2 4
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103. x* — 9x2 = x — 9. We graph the equations y; = x* — 9x2 104. [|x + 3| — 5| = 2. We graph the equations

105.

107.

and y, = x — 9 in the viewing rectangle [-5, 5] by
[—25, 10]. Using a zoom or trace function, we get the
solutions x &~ —2.72, x &~ —1.15, x = 1.00, and x ~ 2.87.

10

4x — 3 > x2. We graph the equations y; = 4x — 3 and
y2 = x2 in the viewing rectangle [—5, 5] by [0, 15]. Using
a zoom or trace function, we find the points of intersection

areatx = 1 and x = 3. Since we want 4x — 3 > x2, the
solution is the interval [1, 3].

15
10

8]

x* — 4x2 < 3x — 1. We graph the equations

y1 = x* —4x? and y, = $x — 1 in the viewing rectangle
[-5, 5] by [-5, 5]. We find the points of intersection are
atx ~ —1.85, x & —0.60, x &~ 0.45, and x = 2.00. Since
we want x* — 4x? < $x — 1, the solution is

(—1.85, —0.60) U (0.45, 2.00).

y1 = |Ix + 3| — 5] and y» = 2 in the viewing rectangle
[—20, 20] by [0, 10]. Using Zoom and/or Trace, we get the
solutions x = —10, x = —6,x =0, and x = 4.

10T

106. x3 — 4x2 — 5x > 2. We graph the equations

y1 = x3 — 4x2 — 5x and y, = 2 in the viewing rectangle
[—10, 10] by [-5, 5]. We find that the point of intersection

is at x &~ 5.07. Since we want x3 — 4x2 — 5x > 2, the
solution is the interval (5.07, c0).

10 -5 1 10

108. ‘xz — 16‘ — 10 > 0. We graph the equation

y = ‘xz — 16‘ — 10 in the viewing rectangle [—10, 10] by

[—10, 10]. Using a zoom or trace function, we find that the
X-intercepts are x &~ £5.10 and x &~ £2.45. Since we

want ‘xz — 16‘ — 10 > 0, the solution is approximately

(=00, —5.10] U [—2.45, 2.45] U [5.10, 00).

10
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109. Here the center is at (0,0), and the circle passes through the point (-5, 12), so the radius is
r = \/ (=5—0)2 + (12— 0)2 = /25 + 144 = /169 = 13. The equation of the circle is X% + y2 = 132 &
x2 + y2 = 169. The line shown is the tangent that passes through the point (=5, 12), so it is perpendicular to the line

. - 12-0 12 . .
through the points (0, 0) and (-5, 12). This line has slope m1 = T 0= "3 The slope of the line we seek is
1 1 5
My, = —— = ———— = —_ Thus, an equation of the tangent lineisy — 12 = = (X + 5 —12=2x+2
2 m; 125 12 q g y pX+5 ey DX+ e

y = %x+% < 5x — 12y + 169 =0.
110. Because the circle is tangent to the x-axis at the point (5, 0) and tangent to the y-axis at the point (0, 5), the center is at

(5,5) and the radius is 5. Thus an equation is (x — 5)2 + (y — 5)2 = 52 < (x — 5)2 + (y — 5)2 = 25. The slope of

. . . . 5-1 4 4 . . .
the line passing through the points (8, 1) and (5,5) ism = Es-3- 7% so an equation of the line we seek is

y—1l=-2(x-8 &4x+3y—-35=0.
111. Since M varies directly as z we have M = kz. Substituting M = 120 when z = 15, we find 120 = k (15) < k = 8.
Therefore, M = 8z.

. . . k L . k
112. Since z is inversely proportional to y, we have z = y Substituting z = 12 when y = 16, we find 12 = 6 sk =192

Therefore z = ﬁ
y
k
ﬁ.
k
(b) Substituting | = 1000 when d = 8, we get 1000 = W < k = 64,000.

113. (a) The intensity | varies inversely as the square of the distance d, so | =

64,000 64,000

(c) From parts (a) and (b), we have | = 2 Substituting d = 20, we get | = 2072 = 160 candles.
114. Let f be the frequency of the string and | be the length of the string. Since the frequency is inversely proportional to the
k k 2
length, we have f = T Substituting | = 12 when k = 440, we find 440 = 0 < k = 5280. Therefore f = g For
5280 . .
f = 660, we must have 660 = —— < | = % = 8. So the string needs to be shortened to 8 inches.

|
115. Let v be the terminal velocity of the parachutist in mi/h and w be his weight in pounds. Since the terminal velocity is

directly proportional to the square root of the weight, we have v = k. /w. Substituting v = 9 when w = 160, we solve

9
for k. This gives 9 = k4/160 & k = —— ~ 0.712. Thus v = 0.712,/w. When w = 240, the terminal velocity is

+/160
v = 0.7124/240 = 11 mi/h.

116. Let r be the maximum range of the baseball and v be the velocity of the baseball. Since the maximum range is directly
proportional to the square of the velocity, we have r = lp2. Substituting » = 60 and r = 242, we find 242 = k (60)2 <
k &~ 0.0672. If v = 70, then we have a maximum range of r = 0.0672 (70)2 = 329.4 feet.
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1 (a) y

There are several ways to determine the coordinates of S. The diagonals of a
square have equal length and are perpendicular. The diagonal PR is horizontal

R and has length is 6 units, so the diagonal QS is vertical and also has length 6.
Thus, the coordinates of S are (3, 6).

2. (8 y

(b) The length of PQ is \/ (0 —3)2 + (3 —0)2 = V18 = 3/2. So the area of

PQRS is (3&)2 —18.

(b) The x-intercept occurswheny = 0,500 = x2 —4 < x2 =4 = x = +2. The
y-intercept occurs when x = 0,50y = —4.

(c) x-axis symmetry: (—y) = x2 —4 < y = —x2 + 4, which is not the same as the
original equation, so the graph is not symmetric with respect to the x-axis.

3. (a) ¥y

y-axis symmetry: y = (—x)2 —4doy= x2 — 4, which is the same as the
original equation, so the graph is symmetric with respect to the y-axis.

Origin symmetry: (—y) = (—x)2 — 4 < —y = x2 — 4, which is not the same
as the original equation, so the graph is not symmetric with respect to the origin.

(b) The distance between P and Q is

% d(P,Q) =/(-3-5%+(1—6)2 = BIT 25 = /B9,
oo (=345 146) 7
(c)Themldpomtls( L )_(1,7).
.. 1-86 -5 5
¥ (d) The slope of the line is S 5-3- 3§

(e) The perpendicular bisector of P Q contains the midpoint, (l, %) and it slope is

the negative reciprocal of %. Thus the slope is _Vls = —%. Hence the equation
isy—-s=-8x-Deoy=-8+&+5=-8x+3L Thatis,
y=—8&x+ 3%

(f) The center of the circle is the midpoint, (1, % , and the length of the radius is %«/@ . Thus the equation of the circle

whose diameter is P Q is (x — 1) + (y - %)2 = (%\/@)2 o x-1)2+ (y - %)2 -8
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4. (a) x2 4 y2 = 25 = 52 has center (0,0) (b) (x —2)2 + (y + 1)2 = 9 = 3% has

and radius 5. center (2, —1) and radius 3.

y y

e

5 (@ x=4- y2. To test for symmetry about the x-axis, we replace y with —y:

X =4 — (—y)2 & x = 4 — y2, s0 the graph is symmetric about the x-axis.
To test for symmetry about the y-axis, we replace x with —x:

—X=4- y2 is different from the original equation, so the graph is not
symmetric about the y-axis.

For symmetry about the origin, we replace x with —x and y with —y:

—X =4 — (=y)? & —x = 4 — y2, which is different from the original
equation, so the graph is not symmetric about the origin.

To find x-intercepts, we set y = 0 and solve for x: x =4 — 02 = 4, so the
x-intercept is 4.

To find y-intercepts, we set x = 0 and solve for y:: 0 =4 — y2 < y2 =4
&y = 2, s0 the y-intercepts are —2 and 2.

(b) y = |x — 2]|. To test for symmetry about the x-axis, we replace y with —y:

—y = |x — 2| is different from the original equation, so the graph is not
symmetric about the x-axis.

To test for symmetry about the y-axis, we replace x with —x:

y = |—x — 2| = |x + 2| is different from the original equation, so the
graph is not symmetric about the y-axis.

To test for symmetry about the origin, we replace x with —x and y with
—y: =y = |—X = 2| &y = — |x + 2|, which is different from the original
equation, so the graph is not symmetric about the origin.

To find x-intercepts, we set y = 0 and solve for x: 0 = |x — 2| &

X —2=0& x = -2, so the x-intercept is 2.

To find y-intercepts, we set x = 0 and solve for y:

y =10 —2| = |-2| = 2, so the y-intercept is 2.

©x2+6x+y2—-2y+6=0&
X24ex+94+y2—2y+1l=4e
(X +3)2+(y—1)2 =4 =2°has
center (—3, 1) and radius 2.

y

()




10.

. (a) To find the x-intercept, we set y = 0 and solve for x: 3x —5(0) =15 (b) Y

. (&) When x = 100 we have T = 0.08 (100) — 4 =8 — 4 = 4, so the (b) T

CHAPTERT  Test 163

< 3x = 15 & x =5, so the x-intercept is 5.
To find the y-intercept, we set x = 0 and solve for y: 3 (0) — 5y = 15
& —5y = 15 < y = —3, so the y-intercept is —3.

(©3x -5y =155y =3 -15cy=32x-3. 1

(d) From part (c), the slope is %

(e) The slope of any line perpendicular to the given line is the negative /

reciprocal of its slope, that is, —3—}5 =-3.

. (@ 3x+y—10=0<y = —3x+10, so the slope of the line we seek is —3. Using the point-slope, y — (—6) = -3 (x — 3)

SYy+6=-3x+9=3x+y—-3=0.

(b) Using the intercept form we get % + % =le2X+3y=12<2x+3y —-12=0.

temperature at one meter is 4° C.

(c) The slope represents an increase of 0.08° C for each one-centimeter 5
increase in depth, the x-intercept is the depth at which the temperature
is 0° C, and the T -intercept is the temperature at ground level.

y 60 | 80 100 120 x

4+ /2421 -4+V16-8 -4+£8 -4£2/2 -2+2
22 4 4 4 2 '
©3-X-3=xo3-x=/X-30B-x)2%= (\/3TX)2<:>X2—6X+9 —3-x&
x2 —5x +6 = (x —2) (x — 3) = 0. Thus, x = 2 and x = 3 are potential solutions. Checking in the original equation,
we see that only x = 3 is valid.
(d) x/2 —3x1/4 42 = 0. Letu = x1/4, then we have u? —3u+2 =0 < (U —2) (u — 1) = 0. So either u —2 = 0 or
U—1=0.1fu-2=0thenu=2x/4=2ox=2=16.1fu-1=0thenu=1ox/*=1ox=1 S0
x =1orx =16.
(e x4—3x2+2=0<:>(x2—1) (x2—2)=0. Sox2—1=0ox==10rx2—2=0e x = ++/2. Thus the

. @) xX2—x—-12=0s(x—4)(x+3)=0.S0x =4orx = —3.

(b) 2x2 +4x+1=0=x =

solutionsare x = —1,x = 1, X = —+/2, and x = +/2.
(f) 3x—4-10=0=3x-4=0ex-4=Pox-4=+tPox=4+8 sox=4-L =20
x =4+ % =2 Thus the solutions are x = 4 and x = £.
@ B—2I)+ @4+3)=3+4+ (=2i +3) =7 +i
(b) (B—=2i) — (4+3i) = (3 —4) + (—2i —3i) = —1 —5i
© B3—2I)(4+31)=3-4+3.31 =2 -4—2i -3 =12+9i —8i —6i2=12+i —6(—1) = 18+1i
@3°2 _3-2 4-3 12-wi+6? 12-17i-6_ 6 17,

— = i
(e i%8 = (i2)24 = (¥ =1

4+3i  4+3i 4-3  16—-92  16+9 25 25
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M) (V2-v=2) (VB+v=2) =v2-8+ V22 - V(28 - (v=2) =4 +2i —4i = (-2) =6 - 2i

11. Using the Quadratic Formula, X2 44X +3 =0 X =

—4+£42-4(2)(3) —4+V-8 _ |
2(2) - 4 - 2"

12. Let w be the width of the parcel of land. Then w + 70 is the length of the parcel of land. Then w? + (w + 70)2 = 130? &
w2 + w2 + 140w + 4900 = 16,900 < 2w? + 140w — 12,000 = 0 < w2 + 70w — 6000 = 0 < (w — 50) (w + 120) = 0.
Sow =50 0or w = —120. Since w > 0, the width is w = 50 ft and the length is w + 70 = 120 ft.

13. (@ -4 <5-3x <17 -9 < —=3x <12 < 3 > x > —4. Expressing in standard form we have: —4 < x < 3.

Interval: [—4, 3). Graph:
—4 3

(b) x (x —1) (x + 2) > 0. The expression on the left of the inequality changes sign when x = 0, x =1, and x = —2. Thus
we must check the intervals in the following table.

Interval (=00,-2) | (—=2,0) | (0,1) | (1,00)
Sign of x - - + +
Signofx —1 — — - +
Sign of x 42 - + + +
Signof x (x = 1) (x — 2) - + - +
From the table, the solution set is {x | =2 < x <0or1 < x}. Interval: (—2,0) U (1, o0).

Graph: —o———o0——o0—>
-2 0 1

(©) Ix —4] <3isequivalentto -3 <x —4 <3< 1 <x < 7. Interval: (1, 7). Graph:

7
2x —3 2x —3 2x—3 x+1 X—4 . . .
(d) L <le rl 1<0& Yt X+l < 1 < 0. The expression on the left of the inequality
changes sign where x = —4 and where x = —1. Thus we must check the intervals in the following table.
Interval (=00, =1) | (-1,4) | (4,00)
Signofx — 4 - - +
Signofx +1 - + +
X—4
Sign of —— —
g X1 + +
Since x = —1 makes the expression in the inequality undefined, we exclude this value. Interval: (-1, 4].
Graph:
- 4

14.5 < % (F-32) <109<F —-32< 18«41 < F < 50. Thus the medicine is to be stored at a temperature between
41° Fand 50° F.
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15. For v/6x — x2 to be defined as a real number 6x — x2 > 0 < x (6 — x) > 0. The expression on the left of the inequality
changes sign when x = 0 and x = 6. Thus we must check the intervals in the following table.

Interval (—00,0) | (0,6) | (6,00)
Sign of x - + +
Sign of 6 — x + + -
Sign of x (6 — x) - + -

From the table, we see that v/6x — x2 is defined when 0 < x < 6.

16. (a) x3 —9x — 1 = 0. We graph the equation (b) x2 — 1 < |x 4 1|. We graph the equations
y = x3 — 9x — 1 in the viewing rectangle [5, 5] y1 = x2 —1and y, = |x + 1] in the viewing
by [—10, 10]. We find that the points of rectangle [—5, 5] by [—5, 10]. We find that the
intersection occur at x ~ —2.94, —0.11, 3.05. points of intersection occur at x = —1 and x = 2.

Since we want x2 — 1 < [X + 1|, the solution is
the interval [-1, 2].

h2
17. (@ M =kwT

Q) (62) wh?

(b) Substitutingw =4,h =6, L =12, and M = 4800, we have 4800 = k < k =400. Thus M = 4OOT'

3) (102
(¢) Now if L =10, w = 3,and h = 10, then M = 400% = 12,000. So the beam can support 12,000 pounds.

FOCUS ON MODELING Fitting Lines to Data

1 (a) y (b) Using a graphing calculator, we obtain the regression
liney = 1.8807x + 82.65.

180 (c) Using x = 58 in the equation y = 1.8807x + 82.65,
£ we get y = 1.8807 (58) + 82.65 ~ 191.7 cm.
= 160
.0
(]
as
140 -

40 50 X

Femur length (cm)
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2. (a) y (b) Using a graphing calculator, we obtain the regression
800+ liney = 16.4163x — 621.83.
e}
§ (c) Using x = 95 in the equation
§ 6001 y = 16.4163x — 621.83, we get
s y = 16.4163 (95) — 621.83 ~ 938 cans.
2
§ 400
Z
T : : : :
50 60 70 80 90 x
High temperature (°F)
3. (a) y (b) Using a graphing calculator, we obtain the regression
100+ line y = 6.451x — 0.1523.
80 R (c) Using x = 18 in the equation y = 6.451x — 0.1523,
£ we get y = 6.451 (18) — 0.1523 = 116 years.
i;) 60 .
) L)
f:” 40
20
o0 2 4 6 8 10 12 14 16 18 20 x
Diameter (in.)
4. (a) V4 (b) Letting x = 0 correspond to 1990, we obtain the
400 regression line y = 1.8446x + 352.2.
g 3901 (c) Using X = 21 in the equation y = 1.8446x + 352.2,
% 380 we get y = 1.8446 (21) + 352.2 =~ 390.9 ppm COp,
ks 3701 slightly lower than the measured value.
S
© 360/
350]
¢

1990 1995 2000 2005 2010 x
Year



5. (a)

6. (a)

7. (a)

8. (a)

Chirping rate (chirps/min)

Mosquito positive rate (%)

MRT score (%)

200

100+

Sea ice extent (million km?)

50

T T T

60 70 80

Temperature (°F)

T

90

10 20
Years since 1986

50+

20

0 60 80
Flow rate (%)

100 ¥

80

9 100
Noise level (dB)

1o *
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(b) Using a graphing calculator, we obtain the regression
line y = 4.857x — 220.97.

(c) Using x = 100° F in the equation
y = 4.857x — 220.97, we get y ~ 265 chirps per
minute.

(b) Using a graphing calculator, we obtain the regression
liney = —0.1275x + 7.929.

(c) Using x = 30 in the regression line equation, we get
y = —0.1275 (30) + 7.929 ~ 4.10 million km?.

(b) Using a graphing calculator, we obtain the regression
liney = —0.168x + 19.89.

(c) Using the regression line equation
y = —0.168x + 19.89, we get y ~ 8.13% when
X = 70%.

(b) Using a graphing calculator, we obtain
y = —3.9018x + 419.7.

(c) The correlation coefficient isr = —0.98, so linear
model is appropriate for x between 80 dB and
104 dB.

(d) Substituting x = 94 into the regression equation, we
gety = —3.9018 (94) + 419.7 ~ 53. So the
intelligibility is about 53%.
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9. (a) y (b) Using a graphing calculator, we obtain
807 y = 0.27083x — 462.9.
? (c) We substitute x = 2006 in the model
«2 704 y = 0.27083x — 462.9 to get y = 80.4, that is, a life
Q
o expectancy of 80.4 years.
[0}
.“E 604 (d) The life expectancy of a child born in the US in 2006
was 77.7 years, considerably less than our estimate
in part (b).
T : : : :
1920 1940 1960 1980 2000 ¥
Year
10. (a) (© y
Year | x | Height (m)
1972 | 0 5.64
1976 | 4 5.64
1980 | 8 5.78

1984 | 12 5.75
1988 | 16 5.90
1992 | 20 5.87

Winning pole valut height (m)

+
1996 24 5.92 0‘ ]b io 3‘0 X
2000 | 28 5.90 Years since 1972

2004 | 32 5.95 The regression line provides a good model.

2008 | 36 5.96 (d) The regression line predicts the winning pole vault

height in 2012 to be

(b) Using a graphing calculator, we obtain the regression y = 0.00929 (2012 — 1972) + 5.664 ~ 6.04 meters,

line y = 5.664 + 0.00929x.
11. Students should find a fairly strong correlation between shoe size and height.
12. Results will depend on student surveys in each class.



